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FOREWORD

The National Curriculum Framework (NCF) — 2005 initiated a new phase of
development of syllabi and textbooks for all stages of school education. Conscious effort
has been made to discourage rote learning and to diffuse sharp boundaries between
different subject areas. This is well in tune with the NPE-1986 and Learning Without
Burden —1993 that recommend child-centred system of education. The textbooks for
classes IX and XI were released in 2006 and for classes X and XII in 2007. Overall,

the books have been well received by students and teachers.

NCF-2005 notes that treating the prescribed textbooks as the sole basis of
examination is one of the key reasons why other resources and sites of learning are
ignored. It further reiterates that the methods used for teaching and evaluation will also
determine how effective these textbooks proves for making children’s life at school
a happy experience, rather than source of stress or boredom. It calls for reform in

examination system currently prevailing in the country.

The position papers of the National Focus Groups on Teaching of Science,
Teaching of Mathematics and Examination Reform envisage that the Physics
question papers, set in annual examinations conducted by the various Boards do
not really assess genuine understanding of the subjects. The quality of question papers
is often not up to the mark. They usually seek mere information based on rote
memorisation, and fail to test higher-order skills like reasoning and analysis, let alone
lateral thinking, creativity and judgment. Good unconventional questions, challenging
problems and experiment-based problems rarely find a place in question papers. In
order to address the issue, and also to provide additional learning material, the
Department of Education in Science and Mathematics (DESM) has made an attempt
to develop resource book of exemplar problems in different subjects at secondary
and higher secondary stages. Each resource book contains different types of questions
of varying difficulty level. Some questions would require the students to apply
simultaneous understanding of more than one chapters/units. These problems are not
meant to serve merely as question bank for examinations but are primarily meant to
improve the quality of teaching/learning process in schools. It is expected that these

problems would encourage teachers to design quality questions on their own. Students




and teachers should always keep in mind that examination and assessment should test
comprehension, information recall, analytical thinking and problem- solving ability, creativity
and speculative ability.

A team of experts and teachers with an understanding of the subject and a proper
role of examination worked hard to accomplish this task. The material was discussed, edited,
and finally included in this resource book.

NCERT would welcome suggestions from students, teachers and parents which would
help us to further improve the quality of material in subsequent editions.

‘L‘JMQ\O"’(

YasH PAL

Chairperson

National Steering Committee

New Delhi National Council of Educational
21 May 2008 Research and Training

(iv)




PREFACE

The Department of Education in Science and Mathematics (DESM), National
Council of Educational Research and Training (NCERT), initiated the development
of ‘Exemplar Problems’ in science and mathematics for secondary and higher
secondary stages after completing the preparation of textbooks based on National
Curriculum Framework — 2005.

The main objective of the book on ‘Exemplar Problems in Physics’ is to provide the
teachers and students a large number of quality problems with varying cognitive levels to
facilitate teaching-learning of concepts in physics that are presented through the textbook for
Class XI. It is envisaged that the problems included in this volume would help the teachers
to design tasks to assess effectiveness of their teaching and to know about the achievement
of their students besides facilitating preparation of balanced question papers for unit and terminal
tests. The feedback based on the analysis of students’ responses may help the teachers in
further improving the quality of classroom instructions. In addition, the problems given in this
book are also expected to help the teachers to perceive the basic characteristics of good
quality questions and motivate them to frame similar questions on their own. Students can
benefit themselves by attempting the exercises given in the book for self assessment and also
in mastering the basic techniques of problem solving. Some of the questions given in the
book are expected to challenge the understanding of the concepts of physics of the students
and their ability to apply them in novel situations.

The problems included in this book were prepared through a series of workshops organised
by the DESM for their development and refinement involving practicing teachers, subject
experts from universities and institutes of higher learning, and the members of the physics
group of the DESM whose names appear separately. We gratefully acknowledge their efforts
and thank them for their valuable contribution in our endeavour to provide good quality
instructional material for the school system.

I express my gratitude to Professor Krishna Kumar, Director and Professor G.Ravindra,
Joint Director, NCERT for their valuable motivation and guidiance from time to time. Special
thanks are also due to Dr. V.P.Srivastava, Reader in Physics, DESM for coordinating the
programme, taking pains in editing and refinement of problems and for making the manuscript
pressworthy.

We look forward to feedback from students, teachers and parents for further improvement
of the contents of this book.

HukuMm SINGH
Professor and Head

DESM, NCERT
New Delhi
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CHILDREN’S BILL OF RIGHTS

A child is every person under the age of 18 years. Parents have the primary

responsibility for the upbringing and development of the child. The State
shall respect and ensure the rights of the child.

e | have the Right to express my views freely which should be taken
seriously, and everyone has the Responsibility to listen to others.

(Article 12,13)
e Ihave the Right to good health care, and everyone has the Responsibility to
help others get basic health care and clean water. (Article 24)

e I have the Right to a good education, and everyone has the Responsibility
to encourage all children to go to school. (Article 28,29,23)

e | have the Right to be loved and protected from harm and abuse, and
everyone has the Responsibility to love and care for others.  (Article 19)

e Ihave the Right to be included whatever my abilities, and everyone has the
Responsibility to respect others for their differences. (Article 23)

e I have the Right to be proud of my heritage and beliefs, and everyone has

the Responsibility to respect the culture and belief of others.

(Article 29,30)
e | have the Right to a safe and comfortable home, and everyone has the
Responsibility to make sure all children have homes. (Article 27)

e I have the Right to make mistakes, and everyone has the Responsibility to
accept we can learn from our mistakes. (Article 28)

e [ have the Right to be well fed, and everyone has the Responsibility to
prevent people from starving. (Article 24)

e | have the Right to a clean environment, and everyone has the
Responsibility not to pollute it. (Article 29)

e [ have the Right to live without violence (verbal, physical, emotional), and
everyone has the Responsibility not to be violent to others. (Article 28,37)

e [ have the Right to be protected from economic and sexual exploitation,
and everyone has the Responsibility to ensure that no child is forced to
work and is given a free and secure environment. (Article 32,34)

i

These rights and responsibilities are enshrined in the United Nations Convention on the
Rights of the Child, 1989. It contains all the rights which children and young people have

all over the world. The Government of India signed this documentin 1992.

AN
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8. o Wl sul wrefid sA2 F el d €35 R aldld e g
A, B oHRRL 52U 5 WA welid sael wel [@gdenr [Ade
sgeld el

oL [, A dles @l (o0 2l B), es7 &S50 S 2 sl —Q in

g [RadculRd 8. wui, Q > g > 0. uslt 1.1340 eale Hawor ald sal w2

Ysd . adl g [Qgdeur vuadl Hle wuq @e (y) ollo ouy d Hdl

wia 9.

Al wWen Hsd sl d B e AL wAdd (AAd eid) 9. WRL 5 Aud

Ralirauus & »in Asld AHd W@l B oA y a2 [Agdenr- y:(dde

2 wuld 8,

(2) Adld uddl w2 y R dwld (Agdaial kL.

(b) Aeud sl B y W [Agdeux Wl

(€) Aald usdl W2l B el d ¥dd e y Ll ddL kL.

SI/mksA s Uglavll R Huq-dl 215 2 GuaRl ugl © %«
cgs (AlRHl2-u-A5w) gl 58 8. 2 ugl v gelorrdl [HuH 2L 3ol
A0 9 :

Qq .

F = —2 r
r
o, R r AL (= 102 m) Wua 8. F 484l (=107 N) 24 [@gdou

dasgieRs YHe (es unit)Hl O,
wel, [Qgdoustl les ye =éx10‘gc 8. diRdadi Aval [3] wsiadl

gedlastanl Al dlfl wd 8.
gl ardlds Bud = 2.99792458 x 10° m/s 8 4 ¢ 4 A2yt
c =[3] x 10® /s 8.
@ euldl ¥ gdodl R R cgs ualmi
1 esu [Agdeuz = 1 (81)"2 Al
gl M, doll L 2 aud T el vedl [@gdeurl wRael dadl.
glldl 3 d M 2 L+l »tyals audi-l uedi 2 530 asia 8,



Qgam s [Qgada

(@ 1 esu Rgdoz = xC avil. 2dl x 3 URHERRRA Aval B, cald
5 oarl gl Al yaerd uReud wa 8.

1 10 Nm?

47 & - x2 C?

i, x = é x 1072, 2l wa

2
1 _ [3]2 % 109N_n21
47 €, C

2

L (2.99792458)> ><109Ii:—“2l (s520).

ar €,
1.30 €50l [ABdMR —g €1 dal ol [Agdeul xsellndl 2d »id? q
R avia B, sl 1.14 4 ealon Yoot diel welig w2 _/'/BT"
Wall m el S ol RgdeR ¢ 4 6 Rgdeudd Asdl "9 d d -4
Wi ol Al RAAUAR x (x <<d) sAAURL A B, gl 1.14
gdldl 3 [gdouz ¢ u wadall 8. Al wadsia

1/2
87 md’>
NN

HYdL

q
1.31 R Bzl 25 [(Bor Gur —Q ¥edl sa [Agdeiz A d
Rddd s2e 8. m enl Mg -l wlaw Qgdeur +¢ 4 [Fo-u
Seg uz Yol Yl REoedl e dvs udaaml wd 9.
(@) eqldl ¥ 52 AW dAd Qdd 52 D,
(b) Al uddsi Jadl.
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Rad-[agalalamn, 21
PO RERY

opglasen usll (MCQ 1)
QA4 wHl A5 ¥ [Aseu AL ©

s 4 pF o FURe uRuadi eulen 3ol 3d
B (2uslt 2.1). cieddl AidRs a4 0.5 Q B,
dl FURel @2l uR [Agdeu HEd ... S
@ 0

(b) 4 uC

(¢) 16 pC

d) 8 pC

A [Qgddanl ws . [RgdeuRd sad R
Rufauiell 3sd s2aHl 20d 8, dl [Qgdeur-l [@ed

(a) 1A WA SRR 3 [Agdaal uxA B,

(b) a4dl sieL ¥ [Agdeur [Rgasaa-dl Ruwl ali 2 8.
(©) 42 s & [Agdeuz [gada-dl Rwui ol 2 8.
(d) 82 st ¥ (agdon [Agdas-d (sl ald 52 8.



1 @d—ﬁ%ﬂ[@lﬁﬂl’l WA
SR

2.3 usld 2240 vasani Rddd dedls aHRERMA ul saldl 8. s
RadouRa ueid Big Ael Big B 34l afa 53 9.

30V 40V 30V
I I I 1 1 | T I I 11 | I
I I I 1 1 | T T I 11 1 I
| I I 1 1 L T I T | 11 1 I
I I I 1 1 L T I 11 | I
I I I 1 1 L T I [ 1 I
I | I | | ||||| | 11 1 |
| I I 1 1 L N B T I 11 \ I
N S S 6 A Y S S
1 I 1 I I
| A® | @B | Al ® . s | A®| éB :
1 [ 1 I 11
| | I I I l||:| 1 11 : :
[ [ [ 1 1 LA T I [ I I
I I I 1 1 | T I I 11 | I
I I I I I O I T I [ | I
| I I 1 1 L T I T | 11 1 I
I I I 1 1 L T I 11 | I
I I I 1 1 L T I [ 1 I
I | I 1 1 LI T BT I 1 1 I
Voo L ! 1 I |
10V 20V 30V 40V 50V 10V 20V ‘50V 10V 20V 40V 50V
(i) (ii) (iii)
25l 2.2

(@) 2usl (Dl s s “gan el
(b) 2uslet Gl 53¢ s yrian edl.
(© sl (i), 2uslt (i) sl (@il 53¢ 514 e el
(d) 2usl (il s34 s sl (i)l ay ¢l uig A sl (G) Feq
g2l
24 s [@gdeulRd ags ool awdl wd Rad [QadRaleud 100V 8.
el Aeoll o QAL 2le B
S, : olourl vigatt s uwa Big wAd, Qgddad g 8.
S, : olourl vigat S ua [big wil, Rad-AgdRaleud 100V 8.
il s Qe wyd 8§
() S; U™ B, Uid S, VUA B,
(b) S; 1 S, i AU B,
(€) S; UM ©. S, uaL AU B dul [ S; A @A S, 4 s O,
(@S, A B. S, U AA B, ud oid [Quedl wdA O,
25 @l $A WAL Y Al dal [QgdeRida el Hiel vidd wiRAlaun
Yl @AM ..., gl
(@) °leusiR (b) AHda
(€) uRady (d) Adadla
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2.6 6 quddlzzs ARl sHHL Al ws AU We Fuex oAl
e B, sl 2.3 40 salon yoor s Rl Was d w1 qudalszs
7 // wais ki ol Al ndd g, duar guddlsgs
k, AAGLS £, . 2L 2UsARA %l AAIRS SAl52s 2HANiS
\ kot 1S d (= d,+d) €l dal Judalsgs Alal dls
A\ Rl asiy, dl b od 4 s )
2ugld 2.3
kydy + kod kydy + kod kiks (dy+d 2kik
@ 2athdy ity 1k (dy +dy) (@) 2k
dl +d2 k] +k2 (k]d] +k2d2) k] + k2
™
o ouiglaseu us (MCQ IN)

2.7

2.8

29

2.10

A usmi A5 AU W5 s2di Ay [@Asew wa QS ad O ¢

2leml wu Rgasa Qarl [@gd Rkeud ... 2 B,

(@) AHA  HASAHL

(b) e z W2 x L SIS ULl Hed |2

() YUE z W2 y -l 515 U@l Hed M2

(d) 208a z W2 SIS UBL x-y AUdA U

AHRAMQHA Y

(a) Rola Rgadolal Rl avuseldl o [@gdasiqu [@rdiul ay
As-+ws (o) i 9.

(b) awssl dlal uR Ams ay ofla eal.

(c) {2l [Rgdenr addl quadl (@i s ay olu e

(d) Sl YA 2id? ¢l

AHRAlPUA Y uR 1S [Agdourd Al B 34l ol suadl e s usd
c

514

B
(@) - [E-dl a3l ewald s asy Q.
A

B
(b) - [E-dl 2a38 o owulfa s ase
A

(c) wu 6,

d) 2w Rawd der €S s,

220 RARMIAAL [Ad1¥

() Rgas A € 8,

(b) [Rgad g € 9,

(©) 2 [RdR-l »igx 5§ [Agdeuz <l €l

(@ % [@adeux 0 Bl o ysanl el o, dl [@Qedast
FMfdual ezl
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2.11

2.12

2.13

suRie-u

galRalau 2

sl 2.4 Wi eulde wRuanl, Wikl su K, o v sa K, vl 9.
AR e K vieedl s2a1i 2Ud 8 2 K, 6id s2aHl 2Ud 9. (53 201l
8.) [C; 1 C, 4 2qsd [Qadoudl Q,' 2 Q,' daul dlew V| i

@l
V, dl.] K K,

\ ()
7 Y

—

{
Y

e C, 0= C, 0=

™

wsld 2.4
QUR,
(@) C,; Guz [Agdcuz dl Ad yt:l@dRd a3 3 =l Vv, = V, w.
(b) C; 6w [gasuz 2l Ad Yt:fdRa ad 3 2l Q' = Q, .
(© C; 6ur [Agdeur idl Ad yfadRd ad 5 %4l C,V, + C,V, = C;E

Y.

(d) C; 6w [Agdou: idl dd y:ldRd ad $ %4l Q' + Q,' = Q ww.
A 5SS aAlgsy RARHIA V # 0 2 ds{l stgiRel [l said 55 [@Qgden
Aedl, QR
() alssdl AWl vual d-l 2iex [@gdeur dlal S,
(b) wssHl suiy wal S8 [Rgdou €S ad «l3.
(€) 850 Agsdl AWl BuR o [Agdeur €lal s
(d) wssdl Al 2iex [Qgdou 2a dlal A,
sl 2.5 i ealed Yol S AMidR We FUfRed s oledl wd
g 8. o uRRAMIAL QAR 5.

A:s0 K 6l 9 A s dese ¥ FURedl @2l a2 dR
QHIRAHL d 9. L

B:sul K vl 8 2 2algs dsed a3 FURier-ll @2l azdd vidR
QuRAML wd 8.

qy [Aseu/lasedl wie s
(@) Al Q AHt 3G C sledly 8,
(b) B3l : V a4 ¢ uig C slecin 8,

() AHL : V A+ ¢ 2 ddl Q olecd 9.

(d) BHL : Q Adir % 24 ddl V sigaln .

2u5(d 2.5
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o dgs oawil usi (VSA)

2.14 R, ¥4 R, Bzl (R, > R,) 4Ruddl 6l Yalss dNousll wu-di €l o
ol A RAfBUA 9, dl Al ol sl 2L 2w GuR adR [AgdMR
g2l el -l [AgdeUR Brtdl el QUL 53l adi g 5 sl d Ul

2.15 9 sl ysd dasgia Gl Raladnan 3 la Rlaw-aon [@rdie
ds wasl (o) s2 7

216 9 S A Qgaeur adl o [[seadl (ds wvd) W@al a2
gl dsiad € a ?

217 4 M5 vasiaml Ralud QA Hend & Yddd S Wk 8 7

218  2usld 2.6 ui eulen 2R s uaa Redr g 2 A8 Big Radr

Q -t [Aeddotil 6 gel-ogel olt Ml v Al 53 B, ua ekl de

(Aeuat) 21 [Agdast wuaidl Rl 2 dozd 8. ol ¥ dodiky

ol ML B, dd Ass0 wA qu F2d ¥ V. 2 oA BRupul sl

sl avel s,

g5 ol usl (SA)

p IV
2.19

Al 5 5 o+l 2iex 519 [Agdenx -l dd s oin wuRAlHA Yy,

UG ol AHRAMBUA se 8 8.

220  HiReddl @l ad guddlszs © i vl Fued DC Gedd e 2l
8. gd o2 adl 5A A uel qudaAlsgs g2 A B wRudl 5 2N
sl SR, FURM Aodld B, [Agddal, Addld [@gdour i
Qad Rl audl, ved 3 »an WA ?

221 Wld sA 5 A SS wHaes, Qgdeuladl des 6 [QgdenRd awsl

425 Yl O dal v 516 Asl Al 1o el dl [Agdeu Al yeid

Rulu A RadouRd ustd 2§ sidd RARQUAAl a2 €id AsA.

222 R Bl Rat Gur a3 dd [Rgdeu +Q Rddd ada 8 a-dl xa u
Wal 515 Big [Agdor — 1l RaRGA 2wl RaQGed Fori Fwell
alld vid z-l (@AY a3 A d-dl 2udw eRl.

AU YL 9 dH B AT AsL O 5, A —g L Bardl Sesell wdy [EGrefud
(¥ GuR) AL »ud dl g udl ?

223 R Bl For Gur [Ggdenz Q it Fulid [Adzeq ¢fld Rodl 2ia Gur-
Rl 2wedl s

o 2l&d ol usl (LA)

224 A wedl Wl [AgdeuR addl dAAdl 7, Bl 2dd dendHl sk
we unRAlAd Awlse drdl.
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2.25

2.26

2.27

2.28

2.29

2.30

2.31

2.32

2.33

suRe-u

Raq-fagaRulam x11

+q 2l —g el HR1Adl 6 (Big, [Agdoul w53 (—%, 0, 0) dal (% 0, 0) 2L
U Hid 9. ol RAMMA g gl dal AHRAMUA yaed wHlse dadl
s AMAR We FUReR Al Quddlsesdl sd © 5 -l ata wARRRA
AL uddl diey (U) Wl & = aU qAR sedld 8, i, o = 2V
wuq o olly s Quddlszs add FUReR Uy = 78 V yHdl A 53¢ ©.
A qudalEzs vadh FUle W wsami 20 8. FUReA Gul il
i kL.

g5l Bladl R ®, ddl & aduusiz @2 oidal s FURie-l @2l aiq
§d d << R 8. 21l 50 xun Ay Ald W A 9. 315 waoll
dles dsdl 3 %+l Bl r << R 21 1S 7 << r 8. d- igadl we-il
S uR sl wdl 8. % dsdld e0 m €, dl dd Gur Gslaal (lift)
We o3l agdH diew el

(a) MO 580 S5 HIZAH], Y2l s Y sals [l.-éli’-:l;tt@tn (%e)] 24
& 4G sausd [[&g;tmn (—%e)] Wl oAl @, WAl 3 A 10715 4)
cousSHl ouzglasll BsiRusiz 22l 4ud 8, »y2in-l Rd-agdRa[G
ol e el Avumell Al geit 939 MeV e 2.

(b) 6L AW 2l B5 4B saldell oral WAL W2 BURAL Wl Yrtad-t 52,

sl Brodl R 2 oflonl Biasdl 2R €l dal 6L digeL d00udl, oin A

Y% [QedMiR dddl o 4Ad D, oidn sellorl AuSHL aledl el sl

d, dl 2 oAl qwdl Gu Adl Y [Agdeur add dedl ¢ ?

gl 2.7 wi ealdd uRuani, winmi su c,-6c K

K, 6t 2 s0 K, vedl 8. eds 3R

Gurdl [Agdeur edl ¢dl ? —_

Il

O CD—

Fil

. : E-9V _ ]
QR ol K vl 53 ua K, oif 53 (s34 Goc] Gad
2LAAL B.), dl ¢ €35 FURe Gurdl
Qgdeuz 3edl ¢ ? [C = 1pF] wugld 2.7

R Bl s dsdldl awél Guz FMafid Ad [@dld wdar Q [Agdeurs
dlf d-dl »a Gur RAlwu- ML

6l [AgdoURl g, U g, 24si (0, 0, d) 21 (0, 0, —d) 1 Hdd 8. %l
RAlaHA g Sl dal Bigaiid e 458l s

gl ([Agdoi —g 8 dal 6 [Agdeudd add »id 2d 9. A +g
Qgdonz dl 1ty O wr wvd 8. —¢ [BadaRiu dE +g [Rgaeur-l
RafGload Odl el »idR x-il (@84 213 cauldl. RAQGA (PE.)
[Bs x il 2udu Rl di od wudil S %, O Gur-l [Agideur viRel
AganHl 8.
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3.2

oiglasen usll (MCQ 1)
DAL umi 2s o [QAseu A O

s Rgduas WRA (Aganale I) adusr desdr RuRl 2 bl 3,
P dlgs dRML [Agdyale a8l 8 dx-dd j (wasadd)-l Ra Ay
Ad oleald B, 24 Qgaude T 2uculd E 8. 2 W2 ARadud
HAGEIR U2 ... )

(a) Gedr [Agdauas o (emf)
(b) s el wwdl w Adld [Agdouq dlf Gt aq [Agidéiol

(€) WSS Rl UA Vidril ddrll wisn-l [Qgdou 3 ¥ wisiel gl
[Qgdeun s5d dloy dd wia .
(d) 2won War [Qgdeurl

1
2l 3.1 H eled Heol Fu-l emf g,
Ul g, (5, > €)) 2 2didlRs aRAM A
esd rp wA r, G ddl A eledlail r

AULARML e 9.




33

34

35

3.6

nagagd

(@) ot oledlulig AR emf g, ¥ g ¥ gy il a2 el

BHE, €] < £ < €.

q

(b) Auded emf g, A g Sl U B

(©) Eoq SHUL £,q = &) T8y AT WA B

() ggq ¥ 2RSS AL 7| A 7y ol @ddat B,

Hlealmodl Gualdl 530 A R vl 2ud 9. 25 [Qendl waid

2§aRd S+l wdedll 100 Q@ s B, d de [Big (null point) 7, = 2.9 Al

U AN B, ddl ALSAS YHRAL YAt Sl WS sdAl wud 8.

L HI2 AAAHEl 56 Ad GuAlsll © ?

(@) drl 7; 4 vt ay Al 529 A

(b) A4 S oigelld 1000 Q $31 nA WAL 3 5L SN,

(©) dn S oledld 30 531 A wdlol 53 sl BSA.

(d) esosl Gualal s3 dd ay AsAyel sl i oLl 2l A,

400 Al doudqr wefAEledAl Gualel 3 FHAlL emf i AlFse

(approximately) &l 5V 24 10V 8. ddl 6 [@gdsiiidl dsusyds

AUMRIL sl A B, dl ...,

(@) WAzl GuaRl ddidl ozl dieds 8V gldl s

(b) WelRAaHleadl G-l dis 15V €1 43 4 R4 Adl Ad aisdl
At § el Bl a2l diRy Ju 10Vl udw ay &,

(€) IRl W¥M 50 cm L GURAHL WA AR Ju 10V €ldl s,

(d) WelaArleadl Gualal Hiel eudl xadl-dl AvuHel W2 Adl 1 9,
dieeo Hi2 8.

1em x - com AL dorlla 214de 217 10 cm d@ous HAAdL gl AL

2
AHAAAL ouogpil a2 A ol el 9. ABMAAL waAY ... 8l

@ %4 628l 1 cm x 2 cm iyl a2l Ald & U M

(b) %2 6123l 10 cm x 1 cm 6Ll 42 AId Sld AU HédH

(©) >R el 10 cm x % cm Gl AR A3 €14 AR HSTH

(d) 2@ ouogdiel Wda Ad A

dasgiq-dl A 2ulel aralRisdaipi 16 58 caa@sdl assHl yas «ssl
5280 7

(a) 85 [3geda

(b) $5d Gw{luda (Thermal)

(©) Bgedal A Gu{ludar oid

(d) Bgedal wA Gwiludol Ul s e AR,
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v
2u5d 3.2

3.9

3.10

oiglaseu wsll (MCQ II)
DA wsHL A5 AW s sl ay [@sew ww €Y w4F O

Ballsdl osandl Ry 2 ... 4 wlkilbior 8.

(2) Hals frdl Al A8

(b) [Qadeu: Ar@ed

© o ¢Slsdd ¥ [Agdonlid s8l ¥ Ao A FsA4 WA U B d
QA [AgdeuRd 58l 2R FsA 91 8 AR seadld el (ulRa
dl¥) d eusidd

@) o ¢slsdd 3 Fsat WA 46 [Agdeur AAS wAdl -l

uigld 3.2 Hi ealdd A URuY ML dl. &S i3d dd (variable)

AU R' M2 auud 8. R' A Ry ol vtvid Yl oledl asia 8. r 2 62l

HidRs a4 8. (7 << R << Ry).

(@) R oleclt vl AB L 9420l a2l dieds U @™ol 20 @ 9.

(b) R' cleciy el R il R adl (@gdudle aaenl »2an €y 8.
(©) Raduae T Adedslladiyds R' Gu 2R AW 8,

-

Sl

@ édai 1> r:’R
LS, HaAsl A YaAssi(iuga)dl wausdl p(T) L drumis,
Folrdl digust Ad Al uReell v walRd 8.

(a) [Rgdou awssi-l Aval A T wE ogals as 9.

(b) 61 5(1s AU ARAAL AHUOAL dluMld YR 2R €l a5 9.
(©) ueld-l dousa T (@84 & 13 .

(d) RegdouRld sa 2 T + [@ky .

aflzet [Biaedl Gudldl 53 s vislid wAAW R o WU ¢l 8l 2ud
® (NCERT wdsii augla 3.25 i), 6 [@enell>l wdlod 6 y€l-o€l
Ad 52 8. s Al R, = 10Q @i R, = 50 @ 8, ollg [Qeudl
R, = 1000Q 14 R, = 500 Q & &. YHQed 6lgdHl, 6 Ry =50 d
R,
R,
(@) oirl (el Hudul AR A eal.

(b) WUl AR R, 2l Ry« Hunl el s w2 el &2 8.

9. oln AR WA R = Ry, = 100 2@ 8.

(© A (el Her Heurit R, 2l Ry <l Gudlol 3l ol (arms)
[aduals &la (feeble) ot ¥+ ld 2lsuyds deralbiy sl s
ay Ha ol

(d) adlRet Bl vior wdle WHA O 2 ddl Al o2 el didl
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3.13

3.14

3.15

3.16

3.17

3.18

3.19

Wlex Brni Big D 3L dee Big 8 (2usl 3.3). R S
dond g D 2 e g © bugh 3.3) W s [W
(2) 2RAAL 2L A4S e HleR B olly s . I L
deafbiy 4 €. A ‘m__.@x_m C
(b) s {lex dir Gu Dl il ouy 516 [Giga D

gl AUS sAAUHL 20, dl ARl B d:s
walgs dg-l ual.

(©) 22 Hl2x dik Gu D+l
onafl ooy 515 [BigA %Sl Aus suaqmi »ud,

——
L]
et

dl B wigl iz HRsd Sled-iBidl 4 udlgdd
age 23l
(d) 22 R Al 8, dera Big ol oy wa 9.

2u4lq 3.3

xldgs sl usi (VSA)

Qg wRuasl [Agdeur 22 F5U AR 52 LR Aol Aael wy

® 7l W2 gl w e Al ?

(sl AuH4 (Relaxation time) T 21 @R, uded &2 E &l @dloidl edat 8,

BT A dludid T o Algwst dd cedld 9. ugd 8slsd W

gl Fun gavierk 8, 2R ole ¢flsd p Al i AL 38R

ds 21Xl ond O, w WS ? AR Aueadl.

cflert (Gl azealdi ugladl ciot g & 7 ollw 46 uglael R, <l

ARATML UL AdIRLAL HudAl %3 usdl ?

lelRrifeanl dld gse sal e wgHl wdl uglpidl Gudlol sa-l

SUEL oL B 7

gAML afFol W2, disll (Cu) 2adl AeqfHuy (Al) Al Al Guylol

AL 2Ud 9, -l w56 [QuRBIML A © 7

A M2 iesl 2 AL oirlddl W2 (i gl GUEdL s 209

6 ?

R, 21434 4Addl WAIW (transmission) 36le WS GUS

(Device) L uldR P ugisalql 2id 9, %l R <L 6l 941 a2l

A% V oA duigl WA ddl dals [ €, dl uidl 4y sl “E_(,' R
w4 d Sdl Jd weldl asu ©?

slt 3.4 H salew Yoo AB 2 W[R-Bredl dr 8. A
A R« Hed atiaiil »ud dl, dealélg (Balance point) J 56 {\‘h—@}
(Rl vl ?
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3.20

WelRFe: (2usla 3.5) a3 S5 wdlol sl 22Ul 2w 3, [Raad
(deflection) 215 % [BauMi &y & i

o

(@) Al A5 B Adl oflon D B ds w3 dd [Quad
qe ©.

-

20

A
_.EIA
X Y G

24l 3.5

3.21

3.22

3.23

3.24

3.25

B () 2wl %sld 93 B ds uwAdl [Quad af 0.

(@ B () dedAl E; L sdl (Bt 3 821) 83 X wd Asanl »ud
8 ud E 3dl Ad E wd qsifd & ?

(b) B (i)ui 6zl E <Al sdl 93 X uel ol ¢ ?

% emf E 2 2dRs a4 7 © dal [Qgdsina s clal »1a4 R 0l

A V. R <L 6l Sl a2l [AgdfRufu-l dsiadl 3812 Qg Rl

AW Bl
25 oAl usl (SA)

E35mil WAL AARH R Sl dal 7 2HaARHAL 25 u¥qeA B o @i R %2l
§idRs a8 HAadl o2l wd uuy SelHl oddl 8. uRuaHl dddl
uals T adlsai 20d 9, AR 6l 7 AR 2 % 6123] AL AMiIdRHL
FSAUHL U B, A MAclsUHL 202 5, U 10 owl adl sl dl
T T R TR T

AR WRel a4 Rp < R, v 2R ddsl Aeldl sl »id QR
uReudl »a4 Rg > R, O, uReudd olllds iedaad il

wlt 3.6 # eldd wRuani 4

[igasiid - siselln wd (a4

Rakidi Aal 9. Radsin E, - || A ||
* ) 12

|

El EZ

¢+

emf 6V 4 idRs 44 20;
[Qgasin E o emf 4V 24 2idls 1
AR 8Q B, A i B [Bigail a2l
[QgaRalaradl dstad Ml

A emf E Uig 2UdRS waRM 7y

2usld 3.6

E E

A, Sl Bal 6 [Aedsi cue

T e s | :
wuaA R AL geldl #ld O |
(pusl 3.7). wan [Agasiuq 6 A
Bl a2 [QadRafadd g AW

e Ry 3eq €lq s ?
2usld 3.7



3.26

3.27

3.28

3.29

3.30

3.31

was(agd

AHIA gl odal 6 algsil dollS AMA B, Ags A ¥ 1 mm
AU HAAdL 552 dlR 9. dlds B 3 2 mm 6lEl 4 v 1 mm
idRs @ quadl widl Aol 8. 2adl R, i Ry -l 2Lelidr
G

$5d AL A 62Tl HAAdL 516 WRua [QARL WA 3 edsel
A% A €35+l AL GHRIL (ML d #7081 AIRL) SAUHL 2
8, dl saldl 3 uae oedldl (AuRaldd 8 8) s, {Rel XII L
NCERT Ll Wlgyadsel emmal 3.7 uRua 2 L 532U

glel el wal (LA)

10V 244 2V <l 6 62l 2idlRs a4l 2453 10 Q 214 5 Q
8. dud AHdR Adl Ad A B %, 10V «l 6l wa D 2V
Al oledldl ue B4 WA AU (dugld 3.8). 2 AdeAAL VA1
iRy A HAWIRS Y 2L

s ARUHL 220 V AL dikr U AC €A% 5 sals Y W B,
14 AR 1 mm Biodl 24 10 m dousel disuel diell 53¢
0. €Ayl War quu 10 edauls yle 8. d-dl seardl eudt
iRl -Gl a3 oy WA 7 ol adfEol e o WRHIEL HRlAdL
L el seml 2ud dl g 1l ?[p,, = 1.7 x 108 Qm,
pa;= 2.7 x 108 Qm]

WelRiMFe: wdAl ¥, Vg = 10 V 8. R 4 Adart 4t
50 @ Avld 8. (gl 3.9). s [Aeudl ool diew E; (asiowml
8V) Wudl ML B, dl d ¥ 8 & delig asy el ul d R
geldl 10 Q 53 8 A W[RIFerAL vilan (L) euaml deralbig
qnd 9. oflon BRuMl (Rl diReAl a8 2 diRAl 251
doisS €ls dlew v L.

(a) 2usld 3.10 xi caldd uRua wr [@AR A Yo uas-dl wilms
waremidl Fgedordl vaal Yol (Guily ald tacel) Sasgi-u
gl seell Gl elwa 2l ?

(b) Sdsgid, Gw{ly Glod W2 e As RIZ «l el Gl weld 52
8. ug (@l Gl W sul AU~ duon (R¥a)d uisoll wsy ?
n = dasgiq-dl Ava/se = 1029/m3, uRua-dl dous = 10 cm,
2§LBed AA5N A = (Imm)?.
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sl 4

AaHin [Agd™IRL 2 Aoisc

4.1

4.2

oiglasey sl (MCQ I)
QAL wsHl A5 ¥ [Aseu WAL © -

RAsai Yotsludal B = Bokul 6 [RgdcuRa sell aiyel A4 wur [y
Rodi €l wial udA Alensiz (helical) ¥l 42 Al K3 8.

(@) d¥~il ARHIAAL z-825l UM €ll A,

(b) it [Agdeud udd glal A,

(©) A2l «Fadud se-ulisaddl Al Y 52 8.

d) RedeR 23 g deldr [i] +(3] =04 Add B,
m/y \m/;
opdi=iadAl M yud © 3 afella ddAsgi (Ao v) FusluAs B
Bt $3 8, ol
@B LV
® B | v
(©) d @Rd uddl [fumd wad s 8,
(d) d SAsgid wA wadlis Bigd wsdl wu-dl Rl € 8.



|

43 R Bl dastiRd aquusik qu x-y dudadl Adl Ad 48 8 3 dd 3w
Gl w2 €. ¢d x > 0 M2 quedl 2l oudl Al Ad Al sud
® 3 d ML yz AHAAHL W@ dl, e )

(a) 4osle ol Het ea @él %l

(b) dotsla AL sedldl el

(©) (0.02), z >> R W B+ Hex adl il
(d (0.02), z >> R WA B yeu oeeng <l

AT

4.4 As SAsZIAA YASHIRA aioll WAASAl e U xR ol wald
sl 2d B, Al 4 A w8 7
(@) dasgit el RawHi waBid sl
(b) SAsZA-AL WOl el wiasld adousiz sal.
() SAsZA Vi WA 45° AL VRl 6o Ml i ddl Sldsa (Ruda)
W3l ol s2dl.
(d) WAASSAL e ur dasgil U0 Al ald Al AvAL.
4.5 woHsAZ, 58S QgdeulRa sal
(@) Add uABid .
(b) <l Aetslagsin SR8 D’ QAL vaslani By all 8,
(©) -l ‘DML »u af B,
(d) ‘DHL 38U 842 B A ‘D’ ARl 2AASIAHL DU Al D,
4.6 sS4 AL M HRlAdl YAtRd aduusik qua ollel Yoisludal B wl

efEos dd ollsdd 8. qua dril AHdA dol e vaald 30° 4 el
sAAdl W2 59 W s

(@ MB b) 3MB

© ¥B @ uu

o ogldsey ysl (MCQ II)
DA wslHl 215 AW s sl ay [@Asew wa QS ad B :

4.7 ollgx HI3A R H-uuigl Sdsgid W2 oudRl-odRs 3R ........ :
(@ d 55 Ml © ddl U ARA -l
(b) w1 .
() ast €.
(d) 52 ol 7 WA b D,
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24

4.8

4.9

4.10

4.11

I %edl el HalgHlRa di (ARl %, % d-fl douda dot uui Ausludar
Bl 3d 6. dRML Wdl [Agdoul i3l dl 3 Ud 8 5 Yoasly oo
A5 sl s el 2w yAd B

(a) sl »iex [@gdcuA-l ald B gkl uowldd (2d) adl <l
51200 3 d Godd e sl w4l

(b) Bl 5120 diil eyl secls [Agdenxl AWl drs vl w8,
© % ik Bl a2 dsu ol 52 dl, o g 56 s ad el

(d) @ R Bl >3 dsn alld £ dl, doisld 6l gL Al 5 FuA iyl
R Hedmi 2d 8, dudl Gur A s ud -ell.

Y =

oL A UUsRA uHel quinil, [Qg Rwall dag 1 ad 6. s

-

A MURYA qu oolAnidl s duid WAR wH V. ML qud C
sdlal, dl

(@) pBedl=F 24,1
(b) $B-dl o e Cll waieollell 2adaA B,

© C Gur 4§ g Big €IS 9% 8, 2ul B x4 dl  dot edl.

(d) C - g5 [Blg R B e Wi (g o) 8.

pasiadl S5 uHad (el Zedls aq [Agd s Aeisludolil eRdl 9.
Wl AHEAAL S Bs WA doizl s SAs2A v Aol uHAAHL elud
A O A v Audael [(Ag Andaniadl diBA —v doEl eva w8,
2L 48l

(a) ol g8l w2 [Agd oold dl8 A uddl G~ ual.

(b) 6l 580l uR Yol ool ¢l uHL WAL Beu~t wdl,

(€) vinl 5Bl A el Glal AAd wual Al

(d) gl 3 (CM)l 2l 54 B gl <158l 2y 9,

s [RR 5 2HL [@gdeulRd 52 Add a0 dowEl ald ag umal.
@ E =0,
b)E = 0
) E = 0,
dE-=0

=~

=0

bkl

" =" =
Il

0
0
0

Bl



4.12
4.13

4.14

4.15

4.16

4.17

4.18

4.19

4.20

Alamin [A8deu 21 Aoisc

2ulags il sl (VSA)

AOsA2A Y[ © = eB/m 4 WA uRHe [T]1 8 o aswl
glldl 3 ¥ o A 51l el 53 A AL WHRA vl €l vias B.

AotSld 6l v U AHRA B % Wid (v) wscdld MHEL 34 U 2utRd
®, dl 9 es wsella FRa Fuul Yoisly ol o-og s 7 dl g
W ddadld (auoll) B § yel-oel M 3l wRaudl wdod e
%e-%E !

ALOSAZAHL % AR gL (rf) [Qggdaotl 209l sl eugll Wy,
dl aui 518 [@gdouRd sl alad asq s3.

I; 247 I, HagtilRet 6 aioll iRl vugld 4.1 40 ealod oo ollsda
O, s [ dtlRd diz x-v8 G & - oflel I, daslRd
AR 5 A p-vlad AHAR S 3w GU B, %A x = 0 A
z=dd} edldd 8. x-a Gur Wal drd dli Big 0, ur awlg
6oL S8l

g5 el usl (SA)

515 IR qu R Bl adarl @ wi dgala (5 cw)l
odel 9. d x-y, y-z Vel z-x AMAAIAL U AWRAHL 2L 9. is0ilon
A ANAAL 21 AgUR0AL Sdl Qb uR 8. Qbig Wi B <
et i [Rau L.

Pl [AgdolR e 2 e m 8 ddl [AgdeulRd 52 [@Agdas E i
Aoty aol Bl old 53 6. aulaRisilBd wRHerld ARL 24
[TT! uRHe qaadl AR AL 0. (Radl)

UL AL [AgdgaL Bl AotSluaal O dal s unan [yl (2l
AHAAl WHUgAAL Al AHdR B) A5 AU v = vﬂ? qoyl
glid Al 9, AHEAHL SASZIAA] S8l x-p UM AHIdR AHAAH]
A s A HA, dl A5l E 24 B wiist (olsasll) Aaudl
3 ool A dAsgiAA el ald s WA wd.

9 Aoislu ol el ol [Raud w2 8 7 Gy wr 2udal
dl; = dli ¥ (0, R, 0) W 0ddl dl, = dIj & was vl w2
A5 oAUl yas I 9,

»>. _Ig
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4.21

2V 20V 200V

2usld 4.2

4.22

24 4.3

26

4.23

4.24

4.25

sl 424 el Haor ded-AlBe: wRua-dl Gudlol s3A (@i
dic[Haasdl AL 53 s V. S 10 Q aAAY ¥AAdL dled-AlHe-l
Guadl 430 wal diefMersdl @Al 5l ® % 2V, 20V 21 200V =l 23
2§ 1 MA Hale M2 d HenH S8uadn (deflection) Geuri 53 wiril HI2
Guyloii ¢flia Ry, R, 2l Ry 2l

iglt 4.3 4l ealedl AR 25 A Ul WRA 35 AW diodl dR 204
W2 Hid B, oflal s 1 m dous i 2.5 g 0 HAAdL diR PQ € il
(BRe (Rawni 2w dag ad 8. dik PQ Gur 2 {1 ds Asal W
Ysd (adat) 8. diz PQ sedl Gl ydl Gur od ?

eleL ool usi (LA)

100 221 4Aad, s derlln 229, (coil) ABCD (XY AHdal) sl 4.440
galedl Horol el s o WA @esdd V. oAl axda Adlad
sl Mz oflw o BUR 500 g e GHAML dud 9. L dRouHi]
49 Al udlg YR wd B A 02 T a0 Aoislussl vieadl ds
(xz AMdanl) Adl Ad @ WAl 2d 8 3 s5d 1 cm dous wR1adl
CD oo % &AMl W, dl adiRld 32¢ e ‘m’ GARq wfu & el qa
530 Adar W s 7

s dodlRA Al oY, o [Ag ougll U 7 dousl 6L diR Hud 8.
wisollo A d doildl AUl a3 AAAL 6L AR HAD B, 835 dlR Al
gArll oiAdl 8 Ud, el uRoior 29l (1:2 il wRel) 2adl W 8.
NI el 2AAY R D 2 ADMADA 9L AN HAL V. ¥ qAA
dies Gedd V) WA ALdAAl 8. W qua AHL Yoisludal BAHL dsll
Adde A 45° AL S8 A O, qu GuR AU Sesiell AR Adl 2an
vdaald Aotfludal gl ad 25 (t) Ml

Al Yotsludial B = Bz Hi 6@5g A WBAAA 2t (0, 0, 0)
2§ (0, 0, 1.5R) -l uell sHA: Hsd SAML Ul B, e357U A
A Hd p = eBR 8. dopndl B U 5§ A Hsdl du-ll
Al Hisollod B8 AR ddl aduusi sail el ?



426 R dRAM HUAdl 12a dotlSl [Fufid Algs dizd dalstRd qu-l a3uHl
A Hwer dqmi Hid §
(i) a cuyRlAU AHHx Bl (ii) a eyl ARAU (iii) a suyial
(Fafid uzsleL. i ol dieey BeaH Vi AE a8, dl es [
ool oisly wsHAUL AL,

427  x-y MUl el Ivw GQMBIE uR €1 ddl R Biodiell waustiRd aduusik

qu [QaRl Wl dl & z-vtadl Rasd v Asad QA yao § ¢

L

5(@L)=| [B-dl

-L
(@) eldl 3 I(L)Mi L A 2isuvll quidl a8,
(b) dlou FFURAUA qurl Gudlal 53 sallel 3 F(oo) = o], %Hi T 3 dlRdisl

[Rieduatg 9.

(c) Gurl uRaus{l Al asuel (yel) s
(d) A 3 2ud adousk gud oled A wdle T H1Adl R oAzl

AR A ¢la, dl dil S(L) A (o) (@2 g s€l us ?

S,
428 usl 4.5 galo Hogor Sied-lfeasdl Gualol 53 H[@I Ul s s,
Preafl 2al s3 wsiy 8. 10Q A HAAd Sled-lHe: ¥ ¥
1 mA Wdlg M2 Hedd sRiad eald 8§ d-dl Gudlel 53 10 mA,
100 mA A< 1A Wl 23 dal waws Be oiAadl 9, di d-dl =2
Gualoil clfiet S, S, 2 Sy i yedl 2L °  1oma 100ma 1A
ugld 4.5

429 e3sHil wals I daddl €ld Al wid disl dik A, B, C, D 24
E A dagier Bostdl ouyll oirid d d 2uglt 4.6 1 eale
ool Ollsdd . e UAS SPAAL AAHdaHil B8R dRs

-

ad €.

(a) »& Gux udel Big O WA oisly Ww 32¢ ¢l 7 w4t
g5 iRl A4 R 2idd 2uddl 8.

(b) % 515 s diR (FHZ A)ML uls 6id sUHL 2d, dl O
WA Yoisludal ded s ?

(©) % 515 25 Al (FHF A)HL was-l B Gazladl ud,
dl wReus g aa ?

24(d 4.6
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ys2el 5

A6LSA A g

5.1

5.2

spglasen usl (MCQ 1)
AAA waHl As ¥ [Qsew wAL O

n AL s 2RISSHL AR Bl R 24 visdedl Bl a 9.
Auigl addl uawe I 8. A5 wHERe 26dd x-p dHdd ddd ad 2RSS
al U2 A B, dl asdl Astdld wsHe m ..

(@) AAR B A ARl uell z-Runi 8.

(b) 25l el RBwHi (m=mé) 9.

(©) At B, ARMR 2RAH- o1l [RdRML s &al €l ¥ Hlel vidl

M2 MR W,

(d) Brnadl, ol Rasi 8.

yelel Yoislugiad yeell-l 3w w2 v Big aduwa (G-gdl)q axdl
wlagla Wl as 200 addladl e yedldl tael 113040 el oqid
9. HouSHl Ryudsial (declination) @dledl gd 8. del,

(@) Rswdasiad Hed 11.3° W el 11.3° E«l a2 yRaldd wa 8.

(b) =yrtdd Rgulasial 0° 8.




|

(©) aoulasil e i yedlldl g a3 [Rluad ad wude Greenwhich Hiell
AR UYL 9.

(d) yedl Guz [Rguidsierd uu SRl B ¥ &ld AT

53 RAAL dwd sS sidl Aeisal
(a) €25 2Rl Yotsly AsHAL Y €l B,
(b) €35 dcal A YAdR oSl AsHLUBL Sl B, % ol AalRd

dllsalddl €l 9.

(©) SHSA vlad: Alsudedl € ©.
(d) ol % JUSA daf@d dNscudel €U .

54 6 el doll QA : () wudl Q2Ad AdR og - €1 ddl A vl o
WEl dsdlail Hrad wdidr We FURIeR A (i) L donsil aioll A1A-As
(L >> R, R 2 208e+l B 9.)
A E A 2ied Ad 6 @Al a2 2N A 6 YA asA .
(i) i AAAS] viex otsludnl AN AA oR Y daSH Sl
dd 9dl 2 wiesl wReull, A wld Hasd Fadld vigd (3 undd)
5309,
(2) BRU (1) Radlagasst el auBu-dl [Ruud vist 53 9.
(b) BRAL (ii) Aoisladiot el suBu-l (Ruud visd 52 6.
(©) Bl (i) c_|5Edl=O AL AHd D,
@ B () PH-dI=1,, vist 22 8.

55 515 URARS i 4K v 0.6 T+l ollel 2otsludoiil uvidl d
8 Am! %2¢ ufeudl Aodasdad (Fotflusa) eald B, s 2L Ay
16 K dtudil 02T it ouel Yoisludoil Avaidl 2id, dl 3odadde-d

.......... &3,
(@) ZAm ®) 2Am!
(c) 6 Am™! (d) 2.4 Am™!

o oigfdsey usl (MCQ II)

AAL uHL 25 A A5 sl ay [Aseq a0 S as ©
56 S ¥ Youslu gl dlglPudgl (lump)l Awel (ys) 9.

(@) S Higl uAR Ydl Bl a@x3vial 2iads Ad Add 6.

() S gl yaR udl B+l 3eels asiviail vudd ¢dl.

(©) S izl uAR Adl Hl &x3vuxil 2Adus d Add 9.

(d) S Higl vk udl H-l ol &xvuail Add 4 €1 us.
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5.7

58

5.9

5.10

5.11

5.12

5.13

Yotscd HIZ FAGEIR HOL Beal/Bedl

(a) uHIeqy (atomic) wdle

(b) WBdl-»uad Rigid

(©) 2l ydlu usla

d) Sasgin-l AwidRs R

s dioll AANSML e {2 €ls 1000 2tiel & 2 duiel 1 A [agduas

ad . del el eldL (core)i A clvis © %+l p, = 1000 & d-

A3 ddn T, Sl Y diudid 2R S,

(2) WAL iex &t H (@omol) oieetld «ell, uig &2 B wein <d
(pguefl) @l ol

(b) AAASl iex &2 H 2 B (ad16idl) oledldl el

(c) core Hi Yoscasl R Gaas = .

(d) core il eiscdl 108 1L ool ed i w9,

Ay sau a4y SAsgiRRs (&L A WoAdr2Rs el azddAl Huoyd

dgldde S1R8L...

(@) Rad [Qgdsat uvll [@gdeud w vid well 4 © 2 sl Asd
(@gdeul qud ©.

(b) Bl &aAvull id Wl aF 8, uiq digsl dirll vid endl asdl e,

©) B+l @x3utail SIS g uR id uil wsdl -l A sued QoL wsy
2.

(d) Gl wRokddl (permeability) Huddl gl algs sa€ldl Guylal B «ll
Aovllld wigarl [Qrdyig]l [@Qafdd s 4 4% o,

yeelldl Aoislugoin yedldl 3w w2 uvia By Aoisly addlad astl wlasla

[l elollas [@yagd- 516 [Big WA s (angle of dip)...

(a) €ual Y eal.

(b) dissu Bigyll w2 yu &S U

() 4 5 wa SIS us.

@) oilfd €l 8.

Aldgs wawll usil (VSA)

gasgi-l ¥ WA RUA 2 2oiSle AL Sldl Bl gl Yolscan
adl 2 L el 2 8 7

10 cm GolSl Wdol AoUsR 2UsR-AL L Aois M = 106 A/m 8, dl
arl Horaddad das I, 2l

N, (~5 x 107) (STP %) i Cu (~107) -l az gudodles AAlR[GIE
dslddel HUAS Hedwll sH ealldl,
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5.14

5.15

S.16

5.17

5.18

5.19

5.20

5.21

wHIlEas elesmel, oAy, UAHMRIH A SAoARH-l
AARBUIAA crurid w2 3dl Ad 2nmi A & d-dl 2l s,

YU 540520 geurl s edll WAl AUS2EHL el SS ouluL dotsHl
425 YsAHL 2d B : (1) d 55 drg AUl 5w ? (i) -l Aesla Asell
o 58 e ?

25 el usil (SA)

R Bl slousiz saa-dl awdl e ddl $w u déd m Fedl asua
Wilee BrAdl [Big ol Zoifladiat W2 ouGusl Masnedl ucudal
AL,

gl 5100 ealedl ool oL A ARl A6EL s o AHAAHL Q
d d dHel sl 3 glRl visollal WA a9, i datn el oledldl
AorSludonl ol dat S um usiedl Al ealad w4l s Aoisel
Gu-elal Ydl 2wl 5140 eulen B, dl oufldl 6 Yosil yal
58l s

R 5 sl vy Y wddl gl Rad [gd wd Rad Aoisa azd-dl
AAAL A5l qellal a2 we : () Rd [@Qgdas Edl [@ad
G5l p dal (i) detslad B HL desly B4l m<l aladdl [ s
E, B, p, m {2 Aclll AHe avil el oinl ollaiil AH- 8 dd asidl s
(W3lMs gl A HIRL)

Yotfly, ALSHGL m il oderil Al T (dousSA dol, Srguiel yuR udl
A waald) dAddl oL oisn dedl doudd del A A sl
suall el 8. Yosladal B oui, 1o Aoisl Sewdidl v adl a-dl
dolsa col e wddald ddi Bl vadsin T 8, dl g5 258 W
2L WsRAL €Al 2adsia T' Jedl i ?

() H "2 200941 [Hum 24 (i) B <l 3vudldl Adddidl Gualol s34
Al sl dRdl 3 Al 2otsdl i (a) Hl wuall N yasdl S 4a
d2g, 4R (b) B+l vl S aell N 44 ds o ol 4.

gla waell us (LA)

m = mk %edl R-4dl AsHo Hadl Big R-ydl W2 ABUAL qusludat
el [(Fas astell. oig suoll C uvadl Rl dl

() zo8 YR z=a> 04l z=R z-28

() x-z AHddAl WaH ARQHL, % S Qolbig R 8 dar R Blwu-u

ada-l s AUl (i) CIERITE

N
?

/§
?

S
2usld 5.1

N
N\
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5.22

5.23

5.24

5.25

(i) x-2gdl Bwi x = R dl x = g 24

(V) x=z AHAAAL WUAH AWMU, o S QLbig R 8, dal a Bl

ada-l s Agala (&) CIETES

Aoisly HAMSUAEL L ulRasll oL ® 7 515 H-uug, il dl 3™l
x el wealsd, qud ddl 2xan AR Aadl g RN g ¥ e, m, v, R
A py WAl ode S 2, m Sadsgilfs ea O, v Sasgilfs QoL 8.
R 6llgx Bl 8. 2 Ad Aadd »aqisdl ol s 2 gsu 8-
yerel Fuel W [7]~107 wd adl urvumsl sl

yedldl 2otfludial B e (3ol Hida (ARl 21 didd 2R doslugo-dl

My 2mcosd N

Riddo ues B = s orslugotdl  Aulilary  ues
r

sin@m . . e A~ -
- b =6 = 90° — oislu [Ayagul Hudi Hain ©, dl widl

B

H AT r

[Gigalldl 2at <58l 530 & ol
(i) |B| =4tad 9; (i) <lasier g 9; (i) s + 45° 8,

[a-gcllll 218 2 yedldl 28 a3 A uude S [@QARL WA 5 [Big P
S ul oislu [Ayagd Gu wwdd O, Rl 3 [Blg Q wA oldllds w4
doisla [Ayagdl dsellad B2 8. P wid Q wA Alasid - Ryuidsia
QULHL

L doudl auit iRl oitidd o dagtRd adadly oo il C
adausik (Bl R) 23 C, ARA (ouy @) 8. oAl 2a-u 2dl Ad

sl el 9 5 ddd W BHL Al AL WAl Sl A udA
sigfiel eladl 52 8. g ¥ed R+l uedl 2l



sl 6

[Qgiarittsla v2el

6.1

6.2

oigfdsey usl (MCQ 1)
DA wslHl A5 o [Asew A B -

x-y Audadl L ez ougaus] s AU Adl R4l 20dd 3 oul, wadd

Aoigludolt B=By (2 +3j+4)T, a3 il asiy & (ol B, waais 8),
dl ARAAil wAR ad dusly s

(a) 2 B,L> Wb (b) 3 B,L> Wb
(c) 4 B,L2 Wb @ 29 B,L? Wb

YL R HAAdL As emdual 8 vl A(0,0,0), B(L,0,0) C(L,L,0),
D(0,L,0) E(0,L,L) 4 F(0,0,L) 4Ad ©. i [c2ul Uaddd Aotsludial
B=B,(+k)T &, dl sitouse ABCDEA (»U% $HHi) soud Awsla
SUSA...

(a) B,L2 Wb (b) 2 B,L> Wb

(© 2 BJL? Wb (d 4 B,L2 Wb



W clldsfsuq yuzu wsl

6.3

Wi —> | —7
afral
Yous

2u5(d 6.2

24(d 6.3

6.6

34

sl 6.1 30 ealed Yool As sty AL Aoisa sl A wqasla

AR sAAAHL A B, %A ddl wa WA WS Ales diR Al dedl AR

Y Al S5 AN wA gRL AUS sAAUHL 2 d,

() M2l de wAgrd age .

(b) ARl S5 Udle agt wdl AR,

(©) vMewidl T = 2/ 2Uddsil HAddl A UsiRL (sinosoidal) AC
yale deal.

(d) iMeuidl Ay Al oledldl %dl A UsIRAL + €11 (non-sinosoidal )
del wels desl.

25l 6.2 Hi gl oAl G AN A A B 8 242 A4 B ds Al

suaml 20d B AR Bl wuslanl ealon ool Rl yas ad 8

ddl A «l ald el sudAdi B Hi addl nale 228l d 9. BHl addl yals

Aun adl Ml 9 dual A2l 52 & ud B A2 ¢ 8. % udl 28l

sl el aslA 3,

(@) Al uqedl RHl A0 wdle dedl 8al.

(b) A4l dddl ale clgdldl %dl &l

(©) A4l 5155 o wale addl AR €.

(d) Adi RQud adl Rl ¢ Yals dddl ¢4l

L UA WSl U 6.4 %Al ¥ B, WAL dsldd d B F, 2usld 6.3 el dju

A A adl G wad wdqasld el sudami wd B, Rk A BR

G 9 AR B i yadle dddl «dl. 2w BHl (= 0 u4A) dddl dale

[un adl Radl €l R 2 % &8l (1= 0 uxd) 2usld yyodl Rl

A il addl uas...

(@) ¥nadl [RwHl 2»un was

(b) aHadl RHl olgdldl %dl Wale

(©) [@un adl Rl szeldl ¥dl wale

(d) @un adl Rl »a0 yas

A e AA5N, [ dollS 2 AlssA Ai2ldl Avda N sRuadl Ao

AUAHYB L a8, 2ul...

(@) ] 21 A i QUL YU,

(b) I 42 ¢ A afl.

() [ 4B A A ©2,

(d) I 2 A 6l H2,



6.7

6.8

6.9

6.10

6.11

[Regainda da

sigfdsen usll (MCQ II)
AL WHL Vs wAAL A5 5di ay [Ase i €S as § ¢

s gl We a1 ad Wl B, dd s A &S Ak g,

(@) Al uas dxigl uAaR US WL S,

(b) dnl UMy WA seclldl dl Fousludani yiell S,

(€) drl e A olealdl L Aotslaasil 3l €ld, Ui Yesludion wuy
wd oledld L Sl

(d) axigl wars (d Al 2iuar 21A4L) uAlRk wdl €.

SIS olel dleer Ald WA A3 Sl [Agduds on Gedd 8. A
qqls 5128L..

(a) oA AL WA oledldl Bl Yesluganl Avd €.

(b) o0, uMu A olecldl wdl YorSluaadl . 53¢ S

(c) ol wun oisludani ald sd €.

(d) o0l il Yusladanl RER Sl 3 % Al A sedld €l ULl AWy
A A sleeld €l

djgan (1) sl (2)-l wua w2l Yscd M, 4 He

(a) oirl oo viselon-dl w5 aladi adl .

(b) QLo AR Adl Udlg YR AUHURA B,

(©) izl 515 s d-dl 2= nqasll duR sAdAdl Al B,

(d) dlaa (2)4 oo (1)l WUA 2l Usc My, %ed ¥ ¢l

Yolludonl Hda s ooy Blswadl [@atid (expands) Wy © s

il (e wasen Geotag el 2wH Yl SR8

(a) YoislugA wAN O,

(b) Aeisld Aol OPRACUAL AHAAHL ¥ B ddl o GlEAld AL L UL GEA,

(c) Aotsludiatril dot (SQAoUHL AAddn) Hes el % Her qod Jd e i

(d) doilzan (dRoUAL AHdAA)HL AN Yoisladal S,

¢ldgs waell usi (VSA)

veedlfoin 53 wsty ddl s S HAAAL s AR Yoisel uAWA AsAdl
Rl (2usla 6.4) A s0 vieedl Rald (veell wRua)uiel oy Rald (siv
yRua)dl aldaiHl 2ud, dl uRugdl wdle addl ? wuendl.

N N
AL ] i AL ] i
Yois Yois
viedl uRuy AR 6.4 ol wlRuy
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6.12  ¥i5 dird WA 2wl oi-ided Ad-ASs ae Al Ald e
8 U duigl Ul uAR A V. % ¢d R A2 Mdl
Ad vigami »ud 3 ol wdla w5l 835 55 wiiel a2 goul
Wl dl YAR Adl wadle a3 5 823 ? uwendl.

6.13 s AASS W o2l Al dMigl RER udls yAR Wy O, A

@ <o ¢d AAADML dlvigel 26l (iron core) elMd $AHL 214, dl Wdlg
audl & uedl ? uHAl

6.14 [Rde Radil Bz sl s @Sl Gur gl s Ra
(slelidni Bz s3a) 2l Ad 3qsami 2dl 8 3 el dd 3w

—<——F 1 AlANGeAl v u Aud wd (ugld 6.5). A s s0 A
s3AA AAANSGHIAL YA YAR sl 204, dl gl Fa Glsal
8. Al

: 6.15 [Rlda Bz stal nastlRd AAASs uR wg-dl s R (sdelid-u

T seefl) Al A el QA 3 el Bof v AAASH e

240d 6.5 U AU Ui, A AEAASHIE]L UAR Udl Uele 6lf ScUHL 1d,
dl Rowd 9 ual ?

6.16 1 cm idRs B quadl wgHdl ol (pipe) @ 20 wduxl
0.8 cm [l HuAdL AousiR UL Yoisd s Ude sAAUHL
pd UL dd <A vldal W2 ¥ uHA AL B d, ol o Ad wM
wig [BiRloidly il AousiR dlia a4y sdl 4y €l 8. A3l

é5 il Ul (SA)

e =
®

- b

®

>

6.17 55 AU [RARHL ddddd Yeisludst B=B,cos(ot)k a3
650 [0 il sl V. L YoisluAANL x-y UHAAML R wAAY e
a Bl dag o widl dd e 8 3 el dd 3w GQowmbig
sl 6.6 W Auld A, (g0 28l 6.6.) dl Big (a, 0, 0) WA t =71 /20,

t=n/o 2wl t=31/20 W [Agduaed Hew 24 (Bl L

S . ~ . ~ ~ . ~ ~
6.18  Yoislugoiil Me s olwduol C (close loop) (ARl (dugl 6.7)
il W2 QU A AU ddl Sl dd Y e sAA dAl Yo
A . -

¢ =B-dA; +B,-dA, +... <l Heedl quiiel AR ug Yusly sasu

e

ld 6.7 RoddHl wid O, A ¢d Bal 6 Y S A S, wrie sl 2d
5 %l 4R qu C €, dl ddril glRl HOdd §Usd Had wed o
oB D p oF 8 7 dMIL waleld AudA s3.
RE g L)v ©B6.19 sl 6.8 1 calda olsanll W2 a0y Y YAl dR PQ
/Z Higll addl ddlg L B UudAl Yl dot eigiedl Rasil dotsluaa
3 oB oB B, d ¥id? Wl & AHdR s diR A dR U WAl AUl
w3[ 6.8 52l dR PQ ¥ olrildd vRll 6 9.
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Qaanslu 1a

6.20 usld 6.9l AAASMEl AR Adl U W (Mg [Ag W)l
AW eldd B, sul U¥A back emf (u) o™ ¢l ? A 7 =3 s WL
back emf (¢) €, dl £ = 7s, 15s i+ 40s 2 back emf SllHl.

g 2A

2

%9 1A -

& C

0 5 35 40
1A
on 1
B 230 6.9

6.21 6 dunl A st B isollonell Fedls idd wudd 6. %l o A Hidl
2 A Ydlg HAR AL 2, dl v B il war ag desly sas
102 Wb ©. (B uigl wals addl «dl). %l A xigl S5 % wale addl <
€l i B Aigl 1 A deg AR Sql 204, dl A il waR ad sas
seq, sal ?

o £ld sl wal (LA)

622 vu % W2l RRM B-B,sin(e)k AAA 4
wad 8. . Asxui isollndl d wedl Qdd x-y
AMAAUL WAL 6L AHIdR dAls U diR AB 3 v C A
el Al adeRRBA AE B (2l 6.10). > v
AB diRel 2428 R dul 6l AR dlR 219y
AAY HAAdL €11, Al WRuAHL Addl wals sedl O B x
gl 7 dik AB L »am ddt vl olfd suadl eal 2u5d 6.10
olel ol %32 vl ?

6.23  usld 6.11 Hi saledl yool 6 AHIdR Algs dR Y
YR 2R HAM HAAdL As di XY ‘A X >B
AAdIE] A% B, AC A 5181 6~ YRyl R ©B _;I
2§ R V. AB 242 CD edl dlgsl © 4 o8 ! o

C x(f) D

2 [RdRAL udddg Aesluast B=Bt)k 8.

() XY dr-q ndod udlsel quil »u5ld 6.11

() % B uxuel 2@dst €, dl v(0) = u, WA v@) 4 Yot Al
(i) wReus (i) 2 suldl 3 XY 1 afaGledyi udl d2idl R 4 adl 6w
2y Yedl 6.
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624 AR AAAY HAAdL M doin daiss ODBAC 8 (CO
ASRHL Adl.) v OP is ddl dlds 9 % o wedl sy wsudl

TA OOBB o ? AHadl Rl eHa 53 ®. (:»ug@ 6.12). il AHA doAdl QORARY

1 dles ABDCril AHdaq doif2aml €ld dal

;L‘_ [ =€ Ro  [ufid Yeislugial B 4l 43 6. 21 oMel sal dlesl sd
"Tc Q  ,, D D dous €ls waAH A €4, dl dett 180° <l o et dui AR

%llél?l 6.12 Ycl Uells WML

(0 <¢< & w2 OP, @ BDA wd B.)
S en o : dl
6.25 2usld 6.13 Wi ewldd teid dousSl drdl 1(r), o A=
€l ddl Halg uAR 4 WL B, dl R A Yuddl delia qu
(6louetl) ABCDHL GeMddl Wdlg 2l

A< l >B
A
dr
A X
D r, r cC
I
2usd 6.13
6.26 irid dollSl UAUSHRA diRl s dedlRA Ass gu ABCD

g 9.

ardie]l addl wale, 0 <7< Twe I = (1—%) dal r > T

e 100) = 0 8 (dugld 6.14). A qu-dl a4 R €, dl »ude
Bigal quuiell T Ayul YAR adl dlymiz il

A€ L, >B
L,+x
]
> "’x

19
2u5d 6.14

6.27 UURrL Ywrl dol gk g+l (Rl (z-&) Aoisludal B, r < a

Fedll [ciRui A 8. 2 adousiz R 3= r = 0 8. Fui
b Bl (b > a) i m en 4Aadl dloeulRa (Q dlreur) [Rougd
AUAA x-y AHAGUL dul S Gl u2 W du wdl 8. Ral
GHEL 5L M ddal 8. d sld RAR B, A Ar WHUAL YeislUEAn

g, AL AU, dl otfludol g 1AL el Ral Selly ot sl
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628 sl 6.15 Hi galoa Howor WA@Y WA O 512 Fedl
B0 Girllddl Ol AMIdR leddles IRl U m e A R
AAY HAADL ADL weRRd AE V. sladdl A
leAdles gl AdA oiu-uRuy Wa © dul RRlde
Rl a0 oislugial B o, uida 6. ot 1@l d-l
wiles RAlME R ¢y, dl d-dl Ao wuu-dl [@8y
Q30 Hol.

629 sl 6.16 4 eulda dNsasllui B Turl ywa dol 68
dRel [eaud A 2oisluga 8. 6o AaREQEA AHdR
Algs dlR 9. %+l U R a4 HAAdl AMAL AB #30
Aol pol AW B, UL £ =0 UHA S0 S 6iY saAUML A

AR AL AB gl v udl wdle 2l

6.30 usld 6.17 #i ealda dlsarlui B Uurel ywa dot otgiadl ds-ll Rawmi
A Aoisld- A B, 6L A WA Ags AR 8. ¥l W R
NARY Bl ARA AB a0 dot v ol AB V. 2 £ = 0 AHA 50
S ol Al d AR AB wiell R wdl ude il

2usld 6.16

X A
s/ OB _@z l
L% oB| OB 1
oB® oB
240q 6.17

6.31 ouisludnl qAAdl S8 s [ARARML m e 2 [ Bl qadl gl
Ror (Rar unlafd ©) apcusierdl R 60 Udd WA 8. % z-»ia
Gralaudi dami »wd dal qusludadl Gd wes B = B, (1+ A2)
€l dul [l wa R 2 d v %eal ael udd wddl €, dl
QML du udl Gl bl A BEor d-dl ilH wun do w52 dl
Glogi-2iraadl Gualol s34, m, B, A 4 3R g ¢l Gedtadl wdolsiy
A3UHL 2ifAx ddL vy Hadl

6.32 g AU Ve AU dollS €l m’ viel HAAdL s WA S B, drl I
U2 N el 2 D AR (b < a)dldy s el oG HsAML wd .
ol AlAUSPHIEL dddl Hats Ay WA wily Ad qqrRAHl wud dl
Al S0l 32¢, emf WRA wAA 7 A U A WA m? + C [QAA
AR oledldl €1, dl d@EUHl URA emf [ARg AHUAL 2udW ERL
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useel 7

wce[2o s3-2

o ocigldsey sl (MCQ 1)
A waHl A5 ¥ [Qsew AL ©

71 50 Hz ac WRuadl rms Ydlg 5 A 8, dl g 4@ 4 2yl ole
1/300 A=y ugl el Hew e s ?

@ 52 A ®) 5v3/2 A
(©) 5/6 A @ 5/42 A

72 widRs a4 R, 2 2HidRs Rtsen X, Hudd s AC ¥eR 8.
Friveasll Guilel [l3d el R, 2 Ratsedt X A war aad s
M gl B, %2R d3 dld BAAMA HedH WAR A sel M X o

A e, Fed, UAUY S,
(a) A4 (b) X,
() X, @) R,



7.3

7.4

7.5

7.6

7.7

oY s dlHUs WAL AC Ald A Al 2w AR d [HeR
220 V R $-ye dier sald 8. ddl wd wy i

(a) Oye diexy AC diey «dl, uig d DC diey 8.
(b) ey Seye diew 220 V 8.

© Bz v <R, uig <> q adlsd 2l 8 wAd Al y<i? >
uadisd W2 Bd s V.

@) 58S UiBls vuHld dld ddl eds 2edl ol el

s g2 WA ALl Add LCR wlRuarl 2g-ueld 2uglt saisar we,
(a) w132l gkt wawsdl s,

(b) wau 5URRR W AHIdR ARl ofly U AL A,

(©) B¢52rMi WAl dlvigel 2A0d g2 sl ASA.

(d) 3Rl Wal quddlsesn g2 s AT,

S[R3 |2 GualaHL Adldl LCR uRuaHi ay i sl #i2 A U8l
sul A wde s AsA ?

(@R =20Q, L=15H C = 35yF.

(b)R =25 Q, L =25 H, C = 45yF.

()R =15Q, L=35H C = 30pF.

R =250, L=15H C = 45yF.

6 V (rms) ac Ald A& 1 Q Ruised HRldd w522 2 2 Q 8-l
Bt 9, dl uRuaMl MU 4dl WAR ... .

(A 8 W

(b) 12 W

©) 144 W
d) 18 W

12 watt -l [Qgdalion A AIA WY 4G eusiieAl By dieRy
24 V HA 8, dl Hénd HAlgt HA ... :

@) 1/42A

®) V2A
(©) 2A

@ 2v2A
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7.8

7.9

7.10

7.11

7.12

spglasen usll (MCQ II)
DA wH s AW s sl ay [Asew wu QS wd B :

-

ac URual 2wgfHl ARl @y AR uRuudMl addl udls wad afl ©
d ugl w2 B, dl i uRuadl sul wesil gl deuadr Aqell ay
s ug ?

(@) Ov¢s2 A FUlue:

(b) ARAY 2 Ows52R

(€) A A ZU[Re:

(d) Wt FuReR

ac URuaul uluy w2sl del-2AdaHl Add O, Ay Ald-l 2ugf adrdl
YaleHl atil Al 9, dl 1A U5l sui vesl wRuaMi %idd dlasdl Al

-

¢ ?

(@) Mol AAY

(b) MY A HwiseR

(©) Ay ¢ FUlue:

(d) =t FUfRe:

G ac diew [Qgduard aiol »idR Y Asawi 2wd 8, di A U8
sal [Qal iRl sa ?

(2) 2UA W R\ 23U Uadlg U0l Sl

(b) wals A0 €lalrl x4 B F iy uy ol il

(c) uRagA dldt widon diredl oiddl ¢l

(d) RUdG 2rusilAl GuEldl 531 WA Wk ddl € d B3 diew
galgdld WA oA 9,

LCR ulRuasl dles Alddl de dURAAHL @UdRd ddl wa P = PZ
cos ¢ B, dl ...

(@) 2] WAz 3522 cos ¢ = 0, P > 0.

(b) 32cus Bl alesoin 2URAARA Gol 2ud <l (P = 0)
(©) Assoio HiRUARMIE Glod oielz 518l wsd el (P < 0)
(d) asson 2NRUAMIE Aol oer sl 13 B,

R FURRRA 220 V AC dle2s @l Wil 2id 8 AR

(@) 6l @2 2 HedH ARy 220 V &l 9.

(b) Wle dul AL YA Al AMIL S0UML S1d 9,

(c) W2l urll dlyelx A i@y UM SUHL SlU O,

(d) 32 HAdl WA U Sl 8,



713 ussel Rl 82 Yl war diadl warAdal dRdl...

7.15

7.16

7.18

(2) YAR Al URAA UAlE YU S1U B,
(b) AAW A% 220 V &1u 9.

(c) Al i udls A2 sul-dslad 90° €U 8.

(d) Al A QAL AAAL s0l-dsldd ¢ Adl €l 8 5 i, |¢] < -

Sl

xldgs wawell usil (VSA)

A 55 LC uRuad uadeldsdl sdl [Rio-odls dotrl Arded wdlsiaimi
24, dl il LC uRuasl 56 Gl RARGIA 2t 5 Glod oGl Anger
aell s ? R, C

sl 7.1 Hi saldd uRuardl AABIRS Audel URUA A6 2wugf w2 | T2 R | R
ERL 2 drll RAWIRE OULA AL

T
p—y
2ugld 7.1
sl 7.2 Hi ealdd uRuA (a) 2 (b)dl vean 53 AL uslel walel
UL R RC L
) O
h—y py
(a) 2u5(d 7.2 (b)

(@6l uRuadl rms daled HAL 55 Ad dsn AW s ?
(b)ulua (b)Ml ms wale URuA (a) sdl ay &S ub ?

AC ddrll diatl®ls war 2uBeye w8l &S u¥ 7 uuA 262y wdR
Bel &1 ud ?

gl 7.3 i LCR fell-uRua w2 I Rg o <l 2udv calda 8. d
el Owgfagy @A dA 2udvl saldl

5 1.0 1.5 2.0
o(rad/s) —

2u5(d 7.3
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7.19

7.20

7.21

7.22

7.23

7.24

sl 7.4 Wi ealda 20dv 25 uRua-dl GQaeyde (ac) was suld 8.
L 2UAWHL rms wdle eldl.

—_—
- N
L1
rrri

I1(A)
|

)
[
rrrrri
}..]-
[ ]
_ 3

2usla 7.4
AL ud gl vt il Hqenel HR-4A voer Gl qer yHl arranl
2d AU S0 el ¢ 3 %, LCR Sell-uRuami e diey yawsdl 2ol
®, a-l [Faudl (sign)Hi 9 uRad- =d ?

g5 oAl usl (SA)

AC A WA s Gusml X i 8. sl 7.5 4 s yel A5 el
dqled%, WAlg A WMl ddl $81 euldd 9.

25ld 7.5

(@) A5 Yol A5 u sl A% uld-Hy sald © ?

(b) 215 yel A5 U AW WU Fedl ) 7

(c) Gusw X’ il oicidl.

AC Yalg ¢ DC yalg ol AU44L Al »ud 8, uig AC was
W2 FARA 55 Ad vAIRd sami 2d © 7

200 die2, 50 Hz ac dld Ad 1 Q a4 4 0.01 H $=sse-uals
olad] sl dd . WRuudl SPUSA dul Mgy dley vA el
Al UHYU-dslad kL

s A walls o0 Al diy WA Agdd B, d-l dlel v
AL 60 W dls a4 oAd 9. o clsHigl 0.54 A Yl YAR  Udl
€, dl wals oMl Jedl uals addl el ? wl AL UsR
w2 Rwel .



7.25

7.26

7.27

7.28

7.29

7.30

“AC udlgn FURIeR gkl YA uwsadl sadl Ruset gl atdl 42
9. AnAdlL
AC di@s-l 2ugR atiRami w1 AR S=sse-dl Ruiset w w2 af
9, d AHAdL

gld o]l sl (LA)

s dalsgs AL, AC A=A [223 V (rms) = /50,000 V)igl 2 kW

YR ANd 9. iy 5l Wels SUUHl d)[tan ¢=_T3] Fedl 9N 8, dl

(i) R (i) X, — X, @ (jii) [, 4l 2w 205 AL W2 R, X, 24 X -l

yell opal €, dl Guisd el 9 38R ad ?

WaR AUl 10 km g2 uddl s Ad™L 1 MW Wear @idRd s:dl

8. L W2 516 AlEd 0.5 cm Blsiawn disidl iRl sl Gual 2

9. M5 Ay A /AR WAzl el WEl ...

() War 220 V U aUAidRd gdl €ld. 2l AsAdl M2 dMIRL Hded
QUL

() WA WAIARA 5RdAl H2 RuAU 2-usHAL Gualal s3I diew
11,000 V %2dl qtiaidi 2Ud 8. QR 6lle RUIG a-usiiz-l Heedl
die 220 V sl »ud 8. (p,, = 1.7 x 1078 ST 2isu)

R
M-
is
gl 7.6 1l edldd LCR uR¥a 2§64 Wald i ¥4 i 32 s0U-dsldd L
! o™ C
ol ealdl 3, 1= £ dul » uRuy w2 Z el il o)
v, sin ot
2usld 7.6

o YR R s14d LCR uRuauA Al 135w a3 aasd 53 s © ¢

di
LZ;+ Ri+%=vl- =V, Sinot

() s 7oAl ol sy €l Al AE W L

() €5 ueei olfs udued 53

(i) aHlsA GloA-ueeAL sud a3l saldl,

(iv) iy V U Yalg i A4l s0l-dsldd AssA €l A3 d A8l
sl W wHlsed Asad s
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731 ugld 7.7 Wi ealdd LCR uRuadl dgs dl@y v = v, sinot 8.
D q@) =e g uHlse qvil
@) 1= 1, WA diey Ad ot s R 4 aidAlle sl 204, dl
L 24 C ucdsii Jedl Gt adld o ¢ o emudl.
(i) R oie dlogeuredl olfad add s3.

oll

)
O/
2uga 7.7



ys2el 8

[agyazieaslu azow

o uiglasey uzl (MCQ 1)
DA uslul s o [@Asew Al O

8.1 56l MARUSEAL YA siold uA BEUYA vl Qeuld  5a
11 eV G-l %32 Wl 8. 2l [Acuw Aaqddl Wl 4y [Agaesly

[al:erl agad 2uglt asiuel ... [Qowoi »udel sal.
(a) e (b) %138
(©) ueglailde d) udsda

82 E = Egicos(kz — o) a3 il asid s il ydlod Raazosla diol
z = a WA 2ddl Ayel wrlads wdd €lud R degil i w9,
gl s ustalle FfSBU 8, dx wal 204 dl valia dol 3 4o
2l ASY
(@) E, = —Ejcos (kz — of) (b) E, = Egicos(kz + of)

(©) E, = —E;jcos (kz + of) d) E, = Eyisin(kz - o)
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83

8.4

8.5

8.6

8.7

20 W/em? Glod s@s Hlddl uslel wuads AUl U doizl siud ay
0. %l AWl Axsn 30 cm? €, dl 30 Plfedl wwdld Hag dou-
.......... (diyel elwa w2)

(@) 36 x 107 kgm/s. (b) 36 x 10~ kgm/s.

(c) 108 x 104 kgmys. (d) 1.08 x 107 kgm/s.

100 W L oleoiell 3 m 2id2 udiudl [Al3elel Geotadl [Qgdan-dl dladl
E 8. »ledl % »d? 50 W oleoinizll 2iddl wsielld [aleiq «ld Geetadl
edaadl dad .. 6.

@ >
(b) 2E
E
(c) N
) \2E
A E 4 B [@gddoisly ddoll siqsid [@gdial alRy wd osludol
ARL €, dl [Agdesly ador-uaRasl R ... {l Rl €.
(@ E
(b) B
© B x E
@E x B
Qgausly dadl dladiii [@eddian s Joislugionl qasidl dtet--l
ARUITAR vvveenee :
@c:1
() c*: 1
©1:1
@ Ve:1
s Ul Al ol dRs BAFdl EM dail [gadal ulaq
WA E, 8. [@eddst B, Qod-ulRas- Wzl v aigs 8, d- uRael dldel

g2 AR AW ...

1 2
() 5 AR w2 B,

?'3

1 Y =~
() 7 AR w2 B,
© L AR He B,

r

(d) a0 W B,



[Agajeisla adoll

-
o oiglasey um (MCQ IN
DA uslHl 25 xAd A5 sl a4y [Asen wa €S ad O -
88 E=(Eji+E,j)cos(kz—ot) dRRL s [Qgdoisly dol yraasiaml 7
Rani ald 2 8.

Al wudl [@seqidl doy [Gsey ude s

a) Al A Asdd Yoisludxs B=L(E,i+E, j)cos (kz-of) a3 2wl
S P 2J
A5y 6.

(b) il wd Asouda Yosluaat B=%(El ?—Ez Jcos (kz-of) a3 udl
As B,
(©) 2ha [RQgauslaas g ydled .

(d) 2la [Qgaesly dion aHda ydlod .

8.9  z-ual Rauni ald s2q [Agdesly a0, E = B cos (kz — of) 43 SuuaHi

ud B, A4l Ul WAl [QAsedl wile s

(a) Asda Foisludsl B =1k xE =L (kxE) a3 2l usy 8.

1 4
c ®

(b) dsoudd Yoislugadl ue @3 [Agdoesly s E = ¢ (B x k) 3o
avil asu .

[al

© k-E=0, k-B=0
d &kxE=0kxB=0
8.10 x (Rl WAl Adde [Agddeisly ddodl E 2 B w2 A evuda wes-
A A B :
@ E, B
(b) E,. B,
(© B, E

@ E,, B,
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8.11

8.12

8.13

8.14

8.15

8.16

8.17

8.18

8.19

10° Hz 2uglt a8 s ooiRd 580 del AHdlad @ixl AU eladl
538, dl Georadl ([Agdaeisly d3al...

(a) Il 2ugl 10° Hz sal.

(b) L 209l 2 x 10% Hz 4.

() -l d2eeus 0.3 m ¢al.

(d) i [AB3wl RUAdL [EdML edl.

[Rgdotsly dolidl Aldui 2uddl dloeiz...

(@) »u0 doEl Ald sl Sl B,
(b) adasik sami ad sdl €y B,
(©) R xRl €l 9.

(d) [QgdsiAdl udd sl Sl 9.

geglasianl el s wwel w1 dladal] [Qgddasly dian sady
O i drl u [ABW eoud B~ 52 8, dl Al sl Qe
AL B 7

(a) Wl dold Ayel ey dl @Ak eoud Ve B,
(b) 8 ddL Ayel wnddd WA dl [@ABe eone Ve 9.
(© A ddl Ayel wrladd wid dl @B sene 2lc 8.

(d) ardfas awdl e [k esur e < p < 2l/c 3ol [RarRMl 9.

x[dgs pawl usl (VSA)

ol SIRSOL UL Aed diold WAl olisaslldl Mo w2
Heraddl 9 7

A L2 HHSAd dlad gRl WRlldl il YAl viauslEla aHdAyds
AR 3 wsy B 7

AHIAR We FURRR WAl dlwelR g = g, cos 2nvi ALAUR oleald 8. @2l
wol % [ (o5 A) 8 i visollandl wol % Ams (d vid) Wl
9, % deil Dl AR AaRRAHL 1A, dl FURIR™ML WA Wals WL
s SRR WA Alld vyl AC Ald a9, % 2ugfHl 22l
AL 2, dl R UdlgHl g 38R 4l ?

sqsdlde L AAL Feenidl dlsadl yoslagiog  Bayw
B, = 12 x 107% sin (1.20 x 107z — 3.60 x 1015 7) a3 2l asy &,
dl Byl aRa dladl dedl ¢a ?

W2l Ak S 2 2dl AW O, ¥ Hrd dowl dladl wed 2 [Rau

= T

da-uAWA-L [BauHl glu 8. sulilfdas d dd S = i(E x B) a3 galay

0, dl S [ 7 L 2udvAl usR aldl,



820 Wiz Al dl. A wireds Mald ol Ysd Ad @esidd Ul edq

8.21

8.22

8.23

8.24

8.25

8.26

auelln gl uslld s Wit Qeneliid 2padaBa 530 €l
Qgaaosly dol-l sdl ol Al Melld wx 8 7 sual sl s
ay GelsRl Ul

g5 gl usll (SA)

AR W2 FURIRA AL 532 d A @Al a2 A As Big w
Yoi5luaa,

g, dE . . - o
B = OT’H’E S B ax suldl (€l Asueit el walid 8.)

Qgddosly do0 & Fu-dl dadens,
@ A3 %, Wawde syfdaqnl Gudloml dan 8.

-

(@ Ay 5 %, weldl yelsaml @ WRdl e Gudll da 8.

-

i) Ay 5 %, PRI WSS darl dlEy Assl sal W2 Gudlo

-

daly €.

(V) Ay 5 %, ds 2 guuedl REARHL -d uddl goudl HiRdAl MR
Guael A 8.

() W [gaeidld [ABwhA 2Davll w4 d asluedt sal [euol w8
Asoude O o Rl

(b) 2l ddlcoUS Al Hed AR Al $HAUL 2Ll

(€) €35 2 5 ay Gudldl dvil.

ey | =~ [y = 1 2 =
(3@ sasu 8rdl ‘S’ 25 WAdSN YR AWRAA HA S=-—E; 9,

CHy
du ealldl.
ds 2uF < Adid @2 FURe: wld 8. d-dl 8 @il 4zl 1mA -l

AR wale dnl sdl d wenfud se0 ?

grtasiadl el Awdl wR T dladiaon EM dal a3 dl wd @k
gollel I/e 8, du ealdl

sl GRFd wstadl dladl senel & ol dd AaaaHl 20d, dl
wou dlaciil 9 3812w ? du By s »Rkadl dond yHl auld
5208 AR adl dladt 2an ¢ 8. wAn dadl W A el

sdl olBilas R ook 8, ¥ ocoidl wadt usle Bergsl
el ?
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A
i |

8.27

[Qgdaat E dlgculRd s u2 gE %2¢ ol ddud 8. uid, [Agaesls
ald [Aedda [k eoupmi Widid dvie suud «dl, (uig

Bt 2@UidRA 53 ) uxAdl.

gld ol usll (LA)

8.28 [Rulid {ld RB™d dloclr gddl A HJyddl did doud-l diRA

8.29

8.30

8.31

z-¥8 YR AU 524 8 (gl 8.1). 2 dr d-l deudHl [eauni
v = vIEz gedl »A0 Aol dld sAAUML 2, dl WS Ak
S = #L(E x B) -l @l s

0

v =4 x 108 Hz »uglt adi sRadi wel =z wlbeRe
e~ 80 g, WAHABAA p ~ p 2 WAAUSAL p (resistivity)
=025 Qm 8. sRaril welul Ha AHdR W2 HAdd 5 %+
V() = V, sin(2nv) ac Ald 43 S8 53 Sl dal FURier w2
BUIAIAR YAl 8eddl 2 deget YAl Beididl S2ell i 49l ?

[ doilsS ¢ g Blosdl a(<<I) 4R14dl aloll 36d z-v8 v ARl

Ad Aud 53 O, L Fold s ULdOL diz A S-Elad Alss

Wy HAd B, wdol dirMiEl AC wale 1) = I sin 2mvr) AR
Ay 9. ¥ s-ualud dles Wil widl 53 9. Soldsdl ek wdl

drdl S ¥edl »idi UlRd

a3

[Qed8ot E(s,1) = polyv cos(2nve) In (ﬁ)k 8.
() 3oardl 2iex @AIdR WAl Eedl 2Ll

(i) §& iR Wl I, AHAL HE Foidrl HBE YR iR Rl

deidld sl 52U,
(iii) et s T+l agemaie I ue aewnel s
gralasiail z-uiarl Rl Yadl EM d?dd E = By sin (kz — 1)1
wud B =B, sinflkz - ot)j a3 2wyl wsa B,

@ usld 8.24i ealda 2R qu 1234 W cfE-dl 455l $3.

() qu 1234 4 8Adi Y% W jB-ds Hodl.
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I m%dﬁbl glu d.Q. ah

8.32

th
E ~ -~ - -
(i) —2=c Whd s A W2 W@ <j Edl- % 4
By dt 4
BGuAlaL SR
h
. ~ dég
(iv) 2ucl o Ad §Bdl = gyl + gg——=+l Heedl c=
dt L€ I
Wb 53U
y
sl 8.2

E=Egsin(kz—on)i 3 B=Bgsin(kz—orn); a3 taldd EM dal z-Raumi
yauel Wi 8, dl ealdl 3,

a3 ]l wusy 9.

2
) . N 2 B
@) ol A3 Q-artdl Uy =+Eq +iu—:}’

() ol AuMA R AR dladl I, = %c EOES 0.

N\F

33



ys=zel 9

[3eusiaua xR
usiella Gus:el

9.1

9.2

opglasen usl (MCQ 1)
DAL uslml x5 o [Asew WA © ¢

Biosmsdl 25 asloia-sizg awdl 42 0 519 suud ad B ol awdlHisl
Aozl ol Wi 8. A Bl gl asleadis 1.5 2 Romsie
5° 1, ol UUASRL O ..........

(a) 7.5°

(b) 5°

(©) 15°

(d) 2.5°

Ad WslAg s Al Aie ganial slaql @6l U dezl vl Y B, SN
Al sul ol AMEM sdL 0L FEHA wHA ?

(a) aledll

(b) dldl

(c) ol

(d) @



9.3

9.4

9.5

9.6

9.7

(BRowsiaua v
usiella Gusel

5 m/s «l v Beuedl AHAR @l g6l dsel A= ds Ul s A
Adell Hud Frg WA R w8, d wlbio..

(@ 5 m/s il v AU A-uell g2 dE wdl.

(b) iU wddL A A-uell g2 ds

() RUMd udol A A=l g s .

(d) vFUBd wdoL WA Au ds Al sl

[l (aeroplane)yi ‘e HALS

(2) Rl S0 S sl el

(b) Wdle aquil 2a3U walis A ollel Aau-y B ud,

() uud=wld AW 13U Walis 2w ol Aaqy A ud.

(d) ol Ay 44 AS w5 AR,

Al e, aleoll, dldl A ol 23 vis-vls DAL WS GFd sl
2w ustally Ald 2wl B, w5 o ustal Bage W o wepla
Al Wl AWEA s AL AUUASIRL HI2 asletandsid Hed 90° 8,
¢d %l dUUASIR Hed sleedl R ol UL Al oled iy UL WLy
Ald-tl Gudldl sal 2d dl fAxniel sy Qad we § 7

() @i i Benger yel 2widRs uudd- wHal,

(b) awet ou Brawgy oflan sl asload upll dot ds o9l

(©) el i Barge yal UdRs uAAdd wHAl.

(d) dlar o4 By olln wyyl aslead wdl doell g2 ds #al.
Arda-ol@lln A=l asuul-l asdilBioul 20 cm V. B AUl gl
aslotadls 1.5 €, dl d,

(@) o drdl asAauwdl ds el axgall w2 aldolln A=t dly adal.
(b) al asAWEl drs Well Al W2 ol A ddd addl,

(©) Rl 585 AW ds el B, d tud u dlu R (Bierisd) d
ool At dF adal.

(d) Rl 56 AW ds Wa B, d i U dlul R d vdolln A
a3 adal.

AUAIRZUR gL Al ARANAIONAL UAd A8 ARUdl 4RAddl v2-l...

(a) ¥dd AAAL a3 uslad uladd 9,

(b) WARsL Ul sl adl sl yel AidRs ugadd Fdl 8.

(©) Al 22l gfEi welldl 2924 gl adl wsiadl asll@euess
el

(d) ¢alrl 52 glRL dcdl WSt wsleld ¥l

55
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9.8 ddlln Al U 2w dd B PQ a3 elda 8, R Al

1\ wel waadd ugl & Rl Be %9 w4d 8, 4 ar Bel 1, 2,
2— S S 3 4 @ salda B (busld 9.1). 20 R UL s4 Ba 2w
wdldd BGradl R cald & ?

) N @ 1
/ / ‘ ® 2
s b © 3
d 4

wugld 9.1 9.9 usld 9.2 4l salen Howor s woni et welldl Gur a2 9,

auaetell ustally andl well sdi a4 B dul eq- dndl el B,
U2l uR 2uld adl AR (3ol 2ugld 9.2 Wi ealdae B, 4 Ul
sdl el wll 8 7

@1

(®) 2 RN

© 3 N

@ 4 \\ \ \ 2l
}L \ XY [el

2usld 9.2

9.10 ¥ L W s SR 60 kmh <l AN U AR A Wl B,
2 SRAL S6a2 Wil 22 @ {l™L d-ll wen suadl s 512
100 {22 €2 %3 B, d 51 5 kmh™ ¢l d-ll ds udl 2wl B, wea
el el 512 YR A% ABAL {2 09 €2 2 s HI dAlRASAAL d-l
A2 o W2 el WSS 2 {lRAL Al A3 53 2 Al Yl A
528 % oul Yl weadl s oddl o sl A . @ el
s12 Ulduldisl 28w aadl Avdl €, dl A Sl sui suH/sUxL
LT
(@) W wadl s+l B84 65 kmh! €.

(b) 2R Elsdl sl fdarA WS A {lul wendl SR
5 kmh! «{l 20 uldidl d:s dadl sl

(€) bil SR A idR FU-FH Hed o du-dd LR o HRRw
W Addl siRell osu medl gl dx weual
(d) ol 512 A2 id2 PP ded ¥ du-dd WS @ H{lR#L

Yion adl A5 vadl sl 0w afdl €l dd weual.
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(ZRausiaua 214
usiella Gusell

9.11 =Bl asloladls HAAdL 32cls gl WARIUOUML [Qsuidaiml Ul O,
sl 9.3 wi galledl Mool galel M (i 1)Hiel 2uld ad wsiall
(ol ey 24l sva A 8, dl &l s ool »u BRa

wruAL 7 .
\Vc 1 1 1
/////é"g///////2 117 [/
@ 0 ’
i i, 1 1
[T 77777 ////4////£

© ’ (@

2usla 9.3

o ogdsey usl (MCQ 1II)
DA WHE Bs v W5 5di ay [Asew wa S a5 ¥ ¢

9.12 s AHdd AR (WoL)Hi M2el welui hal wis Ragd weid il Bzl
sl Adl WA R veld [Qgd 2l Buud 8. s1RaL 3,
@) Bl dAosdl ueddi Bigdiidl 2ol GaS gl BigiHdl
AeuHelo 28l El B,
(b) vt A agrl UG Hidie vEll degal gl WA idd ardlds
VRl Sl Al Sl 8
(©) Bruell uerdedl gqi Bigall Yol 2idRs wdddd 5129 2ous Asdl
8l
(d) worl 8¢, wel A=l Wss ad B A A Rafia 2 8.
9.13 1.6 aslelasdis HAAdL s1AHL A5 ARA odls ABCD 8. s [ qwdl A

AB -l i ysami 2wd 8 (pugla 9.4). w0 R4 AD  eugell
SHL i dl [Ue...
(@) Al <@s 2vull.
(b) D-il «%s 2vull.

() AD-UL uulbigal guudl, 5
(d) Baga zeual -l
9.14 walis 2 olel Aauqu-dl a2 el (dark) 4zl (band) A Ha 8.
i wAsAR-AL el (dark) U2l (band) € 8. U sR,
(@) 21 [BdrRMl widd sl a2 [@-as adlse 20 9.
(b) 21 [diRyl 515 % sty wslela wudl <l
(€) 21l (AL uslad el wd 8,
(d) Al 2w uslaBelAl wna wilhdd wial Beia wiv wl
VidRE VRl @MRL 42° vt 5004 9z g1y 6.

2usla 9.4
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9.15 i [sedu Bigdl Aua axgrl vl ay s A8 asd d W

9.16

9.17

9.18

9.19

9.20

9.21

AN

ARHsIO0L Ayl BGUURL SAUML Ud 8. L yReUHHL...

-

() R A WA AidA vel el ol © w2 dd axgA ay H{é
A Asle V.

(b) 2ueudl wA A ulalbior @y 8.

(c) elRaAAHL atRl A 9.

(d) Fsedy [Bigal Weasll udd o 8.

w5 ARABSA asleadsizs 2lasiu 20 m wsdoiSall viexlzed 21

2 cm SwsdouSalol SN 4Ad 8. dl,

(a) 2lasiu-dl 2ol dous 20.02 m 8.

(b) Hieasll 1000 €.

(c) g ulalior GlY @l

(d) »ioRlsead WE eday Wbl dordldl awd 8 2w adfuad
CEIREEY

x1[dgs oAl usl (VSA)

S8 W5 Al gdond ald WSl M2 €1 del sl el usla e

9 A WA, ay 3 2l &S ay ?

e dfsd we [Fsedi e 25 cm 8. S5 el sielly easll 10
qoadl €, dl d "2 HSSRSIUAL WaR sedl €ldl wdw ?

s Bigad axqd »Rifid RBeldalin a1 a¥ aud wlbion d-dl a
U AU B, A A asuudl Gaadld ysami 2wd, dl wlalbio-aie
sigeldl ?

d >d,>d 8ddl 2 p > p > poaslodndis suadt dal sisefloasl
B 4 af 2% dar ser wadl 285 ollsal eRd 9. e35 yaldldetrl
Gl % 6. oflsaU dl0d iy Big (dot) siriladiml udd O, AP [Hsedy
g e 2 Bigdl wueudl GlaS 2kl

p= /3 asletandis qaddl sl B He agdy [Qaddasie dd Bos-
5L wedl €M, dl Mol Bowisiar «Assl 2.



9.22

9.23

9.24

9.25

9.26

(ZRausiaua 214
usiella Gusell

g5 el usl (SA)

ol AAAL Yo 28 U del Yoo Jegell g2 dl L dons-l
g Wid 8. o R ImdonsS f dul Bk u S|, dl
wlabiodl dous 3eel il (i L << |[v — f] aS asl L)

5l 9.5 Ui ealledl Yol g Brodiclon »uRedls HdANUSR dlest
(bowl)dl 2ig2 R Birudl s dsdld axfalae 24 ey
Ad ysaui udd 6. 2R desidl Baldl oami 2ud, dl
asdl-ll €2 dreell Budl S asu 8. ¢d aesiil p aslea-diag
wreds daldl oAl 2Ud, dl dsdldl A@sdl Bll e W
wsy O, dl dsdld astdl Guadl Bruel 3za la ysl ed ?

25 cm Fmsdols AL Widal el Asunl asl yer el
0.5 cm GuYl 61 GURML SIUAIHl 2Ud 9. Al GurHl eatd (0,0)
Blgal sl 2wd 8, dl (=50 cm, 0) [Bligal 3a axq-l
@Al wlalbiotdl w2kl

gel AR cRaludl (set-up)Hi Ald A usel ASsA (WA 5
D) 2id3 (Rad vl 2ud 8 dal d-ud Aldd Avid i 9,
il R W2 saldl ¥ A-udl 2ai 6l e Holl aF 3 el eds
auid WlABL Ydel U M. 2L 6l AL a2l iR WElL dal
ol el We WAl Wabiordl Hieqel-dl diid kL.

sl 9.6 ui euledl Hawol p aslewadis Huddl uReds
s R (Jar)ul 2 QS ydl eRa 8. alidl 2wl v el
56 UR ds 2ug . (dot) s . -l Gursil uuldl u dldai-
S WA A Ad 28 dsdl sl 2ud O, dsdl-l Guael
A dg Al 2ug A AsH LS d e dsdldl qadr
208,
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9.27

9.28

9.29

9.30

9.31

60

ag Rl vl “AaAdl s ausd g2 Big 0.1 m ©. d-ll power of
accomodation 4 e 8. (i) &2 2Uddl dxdd Al W2 el wdr-l
A=afl %32 usdl ? (i) A™L AR A AwsdH (g ded ¢ ? (iii) ALl
WA Al Awsad [Big Sed ¢l 7 (vivirt d-uel W2 Yl ulalio
»d2 2 cm @)

gle orauefl ual (LA)

B> 2 asleandis dddl ged W2 eldl 3 dedl U S uRL wEl vuid
ad (320 2ud dudan der AAdl doud-l Rl €leadl. (¥3l.)

w5 dioll [BRldo adet (3 o+l qHBElaer wRae << RRide uRHe)Hl
s Yo WAL A gland Fael geuseild RBeyomt (WuRe) Gt s2
8, ddl RRde Qtd Rl asledanls YA Gt a8, 1L aisl
doml Qe dozl wdad ustad B oddl o Wl [Raad
w8, [Baad wia 3o aiBilder Bl d (d << h) vidR S0 AR
dd [ L

A Usl S SR (massive) ol uslddl Awmsdl U AwA AR
Rl oy Bunlid s8l wstalld B ds Wi 6. Ml
5130 HIRMAL AW asloaAisdl ddl 38R 8, ¥ A Haer ul
A1y B

n(r) = 1 + 2 GM/rc?

oui, r eNelR WO uelddl gl Svwdl RuRd (A dia) Bigd
dz, M U2 ueldd eu, G AdBLs RSN HANLS A ¢ Yrdlasiadl
sl QoL 8. %l cUY ueledd o0 ddld sl 2ud, dl wstalla
32 uedd wWald o AR Al Yo Ml Al Raad Dl

AMRE A YgidHidl R Blodidl 2idd doidl Aousik oi-ildd
0. %Al gl asloadis —1 8. (2ugld 9.7). 2 AousiA 6 AHddlAl
Q2 % el dol Y Rl Sl A 3w p-2a U OlsAM dH WA 6.
A Wl Wndadl Y Rami s Aisd Aud Bagu HER wa 8.
Auel 2ld AousiAl p-Bandl el x w2l Ay 2idd 2wda 9,
dl x -l dl [@ARa il 3 @l A audadl Galrd ad Au ol
Gur-l uude Yl ugiRl wd Al



9.32

@

(i)

(ZRausiaua 214
usiella Gusell

sl 9.8 Wi sl Hol aAdlssR (O) i
Ald (S) 9zd Whdl waol A= QAR 4Rl 3
d=idl s W) = W, - % Hool oledlld 6.
ol b Al wsild Sl RRldo 2idr 2 W,

wANLs V. sl Rigladl Guadl s34 (vied
Ald 2 AAAlSASIR A2 U5 WRAMA Udl @ldldl
UHY Rl €lu) Aldidl lsadi oml o ax@eld
(301l O Wil 3[=d A d -l 2d Hadl dul d-u-l
SegaoilsS QML

Relly drd Al whe Yo AR sledldl wdl
Aadalel Radl asu 8 :

k
W(b) = kyln [f] boin <b < b

ml

kZ
= kyin |3 b<b

min

min

gldl 3 uadisdsrA Bigad axdd Wbl dwui
Seael 2w (o1 a3u gwdl %+l swellubBies,

b,

/fh\

b
S(—u—)\/(— v ——>0

2usld 9.8
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us=zel 10

dR2L sl

o ogfdseu ysl (MCQ I)
QAL wHl A5 ¥ [Qsew WAL © -

10.1  2usfa 10.1 40 edlen 2qaR gamidl s
U 2518 LML Udl usla (Bragm
(beam) (121
Foli windl Brer wolui P Big wal
s Y45 (polaroid) HsUHL d € 4
al (fasm) dd Sl war adl e
WAASSAL dudadn cdol e v-asala
uReHEL suadMl 2wud 69,

(a) NAASHIUL oAl 2udell A5 Bl 2852 il

(b) WaASMi il Hadl ustadl dladt wRemel @dst ¢l

(c) WAl Al vadl ustadl dladt NaAdeAl o Rl w2
YedH, ol UG Y Ul -8,

(d) NAASHAL Aal vadl usia-dl dadt WAAHHHL a2 [l w2
Ye ¥, OLrdl.

sl 10.1



102 10* A<l udous wRadl R Guz wiusa suud ad Rl Raeuidl
Aal Hag wlalbiol...
() 3 (Haliy) wA ude vl dlaa Rae &l .
(b) Headil ude il dordl REe, W el (uehudl) g dladai

uRaldd o .

(c) Swsdiql u3e il dorell RAe gel-gel Wil [@rdidl s O,
@) "ot daddl Rae wde il Sl 9.

103  d ueous-l s1a-l doad (slab) (Asloadis n) u gauidl 6 2uuLdsisl
Ul ad wstad Bo Rl siadl Guadl awdl s Al awel urel
vdldd (el a2l su-dslad.

104 4oL 6L (double) Retertl wdloi, ude usia Geat adly B, s Rued
dAld DIl By 2 olle Reed aledll Beex ad aifl Al wwad 9.
wL B
(@) Ul sidd dld 2 aieoll il udlswl eud Al
(b) Al @l il adlsa cid aedll Dl olld Sl a2l ¢l
(€) Al Adlse vasl ¢ R,
(d) &l ala il adlsel eid ateoll @il eud e ool 2AAel (mix)

gl

10.5  wwweeid o Raedl olsasl 2usla 102 ui S,
S, Réte wd elda 8. P+l olnl ouy 6 Yridn
(Bigadl P, P, & (dusla 10.2).

ugel uR P, (Gigal, s s19) © 214 P, <l wea

S;, S, Rete Al ollw & Retedl olsasl i
a-fl usa oflgl s uel uia 9.

sl 102
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X

2sld 103 (a)

(a) ol wsel w2 adlsrl cid ¥ad AR uid d usllid edl.
(b) olloAt usel Ayelud wusilid il

() ol usel ux s wuslid Big ea

(@) olloa ugel u [Rufid 6 Raedl cid 14l

sigldsey usll (MCQ II)
A wslmi w5 AW A5 sl ay [Qsew wa S uy 8 :

10.6 I, I, dlsdl 8Rladl 6 Geardl S; 2 S, A ugelrl wa e
8 [pusla 103 (a)] wawn [@QRardl dadidl agasill oud
250 10.3 (b)HL vl Yol wdl HA 9.

L Bl lA-umiel s @ w8
(@ S; 1 S, Wil dladizdl Huddl edl.
(b) S; 27l S, AN SUU-dSlAd HAAdL Sl
(©) S; L S, UM S0 HRAAL Sl

(d) S; 2l S, AL dAdeUS AL 8l

A,

2us(d 10.3 (b)

64

107 103 A udouSaon Rdd uz US4l [@QR, ugel
u dl Hag [ddiad wlalbiol...,
(a) e i dleel aqy ¢
(b) ellflas wlalbior (Au-l) Sl a2l ¢4l
(€) ueHA [Blg, Ase ustanl [ARdid sal.
(d) ueurnt ude dlaa Bigdl 2uaw 20 (@Rl @rdal ¢l

108 -l Rddld w2 [add oud [@ARL ¥4 dlad uRwel (size)
quRAML 2 AX...

(a) WRHL @eal.
(b) dldl anal.
(c) Rl anal.
(d) dladl a8l

109 [(igad Geamuidl ustad [@vka (auulRd)...
(a) d221U DLoUSIR Sl
(b) ¥idastl adl-tl wHEeHl dladl sedl ol
(C) dAAA URAAUISIR &4l
(d) do4% WA dlodl 2id U 2wER Avdl el



o ags wawil usl (VSA)

10.10 Ao Mo W2 s1doluAl Rigld w9 (ad asw) ?

10.11  ol®olin (wud]) A-uel slsa Wi wR s Big Q. ol ouyt
28l Frgdons HaAdl oflg al@olln (AMAR) A a8, ilam
wlalGiomizal WAldL d22AAAL US54l sl ?

1012 3dusia W2 yedl U doddAl SR Al el ?

10.13  A%6R1%e vManl Ml [ade usianl dd sadl aul a2
>dead 8 7

10.14  Hra-vtivi @dopl sefly [@dled ¢ = 5.8 x 1074 rad © 24 416
sl S Biwex 300 dpi [ Sai 2usi (dots per inch), 1 §u =
2.54 A{]. AA (PR (prints) 52 S, Adl sS4 A@YdR R z WA
oE s qsdl Adn 5 Bl SIS (drl uHl) [Blgalia wad-uaol
A Al uy ?

10.15 sl usta Geadl A s gas (NAS) (1) 3 8. oflg WS

Tt

(D) > WAASS (Dl WA A 8 e del ddiell uslel vaR A ay

Al Yl Faql 2wd 8. ¢d Sl WASS (D), (1) - (D)<l a2
wsalul 2 B, 2 Bl o (Dxidl wsia-fFolad 4 7 Aol

o 25 yawil usil (SA)

10.16 a43 asleadis HAddl WMl 20Ul U UL ddl UsleL W2
wRlddr WAL WS dagdled usadi wRama ?

10.17 A &d 12, S000A Al Uslel HRAAdL HOSRSY 21 100V &l aBid
53 dAsgiAdl usild ueld oy Gualol s34 6 Bigla el wigal
Werdl dgdd ideil dlin 2lHl.

10.18 ol Raer{l aadlser olsanil (wusld 10.4) 2dl Ad (@Rl & ol el
Reteel dr 1l 6l R q2A-L 2idR sl 2184, €l A <AL @3udl Do

=

¥ vid Aadl & el udel U uAd yddu v qmflg Odl D %edl

NERETR
S]'- --------------------- T] OP=x
Geont [ CO=D
B
S C © $,C=CS,=D
SZ """"""""""" T2
|  ugdl

ausla 104
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66

o ¢lg oawll us (LA)

10.19

10.20

10.21

sl 10.5 1 6 Raedl olisasll Geam wuldd eulda 8 3 ¥ wydlod
uslal Gtge 52 8. P ul g AL gas 8 3 %+l R 2ula e,
A IH o PR Yas €l L Gl AR e RS dladl €, dl 2
Brudl you wiBsdd duy wad sHBEsdsdl dladr awi

s,

163

-
Yy |Sz —> el

2uld 10.6
AC=CO=D,SC=8C=d<<D
po=15x dd s quadl Ul weds doad (slab) AS, <L Holui
sl wud 8 (ugld 10.6). O &l Wou wilEsdud n slaL dognl
SRELFAUL AL Ao WBsAHAL S 25 dR$U UUH YU vidR
sed, sl 7
sl 10.7 Hi edloal Yool AR A 215390 Geal A, B, C, D dwiet
dDIEAUS A A olg Sl dal dl Bt 52 B, 6 ARaR R, -
R, ¥ol g2 uig Bl AxA 2id2 ©.

R,
R,B=d=R,B
AB=BC=BD=%
. A2 . A2
R, A B ©
A/2
vD
2usla 107

@) auiell sy ARar 2L Add (signal)d ussdl ?

() B A ot sl 2d AR oxidl sy ARar del Redad ussa ?

(i) D A ol sl 2ud R ol s ARa e Rodad ussal ?

(v) il sy dARaz, B 2 Dbl s Geam ol sl 2 8 d
2l oidladl ?



d321 usiuA

1022 el wstelly opadl wla wAiRRE (udgais — permitivity) (g,)

10.23

. Aa BB (WRrddl — permeability) () 43 [FEBid

Rafd) wu O, asléadis n = Jpe, a3 AvARd 2y 9, AL

G M2 €, > 0 > 0 v adlyel W2 b [Raudl dadi wuda 8.

1964 i, At dsuls dl. drAd0 (V. Veselago) €, < 0 il p, < 0 08

st R Fysd (wRen) s 2ndl, 2ual sél wsiy dal ‘AemRRaa

WARIAOUHL oMl 2l 2 Al wstalla oAl vedi sl

Al gl WS 7 = —fue, . VAl asleadis qAddL EHEl R

USLA elvldd Al O AR audl sl wuR Rl g2 dre-l Rl ald

509,

() Guaril Qg 2R eldl 3 wsae B Al sal (aslowadis = 1)uiel
Al HHHL oflat ARl 6 S8 e Wy, dl 4 dd uAdldd
Baaga ol 2@ ¢l

() Al WM W2 ddadl Fad wnd 9, dv albid s

@21l 100 251 WALRAL (transmittivity) 3R 5241 W2 1200035 A=

aoll aud A99AlERS sl wdol R ((Ber) A aisl sl 2ud 8. 2w

gl AslMaAls gl A slAAL aslaadisidl QR €l 8. (¥ A W

wsielly ged oAld ©.) W d Gl dadl adddlses Bew

MgF, (n = 1.38) 8. 2 B (wdon )<l sl sedl aumdl Al

3 ool geu avluedl weami (5500 A) Hédd dgd Aadl sy ?
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usz2el 1

[Al30 211 gl gd K™

opglasen usl (MCQ 1)
QAL wHl A5 ¥ ([Asew wAL ©

11.1

11.2

11.3

g sad GlS H uell usdl ysaml 2ud 8, sl R-olodl dadons
w GRS @8 a3 L WML Sl 9.

(a) H

(b) Hlﬂ

(c) H°

(d) H2

AFUAHL Wl WA 3 % 1 MeV Qoddl yf5aun wd ot 8 da
g2 sl w3 el dadens adeol ... :

(a) 1.2 nm

(b) 1.2 x 10 nm

(c) 1.2 x 10® nm

(d) 1.2 x 10' nm

dasgiid Braga (635 Sasgiadl Qo E) wruasilid sia ARy
widl gl Awel U 2wud Wy B, el



114

11.5

11.6

11.7

[Af32e 2 gl gd @A

(a) SAsZIA Buog udl A%, 3u3 Wl S ¥ SASIAL GFA 53D.

(b) $Asgine Guogt ad, uiq el Gt E, sd.

(©) Mend Gl E) — ¢ [¢ » sidl@Bu (A2les Glal, work function) 8.]
g, ddl S5 uel Gl A SAsdidd Gug wdl.

(@) ugd Qo4 E, S ddl A6 ua Gl wd Sdsgidd Gig adl.

el XIT et ollfasfasuadr weaydasHiql suglt 11.7 @Rl @Rl 3

A A i di@wdi a RaMi wd B, Radd widd  Beegud

AMEAH WS 0 Y.

(a) 2UGAL HE sl duIY 4l

(b) UG- Mt wed ¥ sAl.

(c) UG Y&t sl A edl.

(d) @zu (target) U UHIR AMAL.

WEld, 42, $Asid ud =58 A Gl HAd B, dl duedl R-siledl

doldouSuliql AoumRl s AR 2L wsA,

@ A =24,> 4> A,

() A, <A, =2 > A,

© A <A =24 >4,

d A = 7\.p= A=A

85 V = vyi Fedl wilds Aot WA A B = ByJ Fedl Yotsludmi

Al 53 8, dl dax-dl R-oledl daeous

(@) AN 4.

(b) AHY W a4l

(c) uHY A "edl.

(d) 2uadl Ad aud u =ed.

dasgld (st m) V = wyi (v, > 0) Fedl wlds da A

E = -Eyi (B, = »an > 0) %eal [Qgado 8. a-dl # axd R-olloell

dEolS ... A3 20 ASIAL

(@) —2

m v,

eEor}
mv,

(b) Ao (1 +
(©) A,
(d) At

69
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11.8

11.9

11.10

11.11

70

(b) Aoyfl+—5

SAs (st m) V = vyi WAMs Ao el E = Eof g2dl [Aedastil

8. A A, = Amv, dl 1 @A d-dl Roldell aadens ... SRR
JERN
(@) 2,

22,2

0

Ao
2E22

2.2
m-y,

(©)

1+

@ g

L1+ mvoJ

spglasen usl (MCQ II)
DA UH 25 AU A5 5l ay [QAsen w0 €S ad O

ARG 2% s AuHlsQ %mvz, U mcE AL AUl wsU,

m B SR gl B dd el Ul WAl YRl %33 oA O,
dasgi e RB-olodl dadouSul A2 AUAULE YR AHolAL o ?

(@ A =10 nm
(b) A = 10 nm
(¢) L = 10* nm
(d A =10°nm

m, m, (m, > m) sAMA HAddL O 58 A A A, A wHA R-ollocll
cta.atabut? 8. el

(@) duel dOHIA UM 8l

(b) du-l Gzl A el

© A1l G A -l Gl sl el edl.

d A, -l Gl A+l Gt sl au .

Welrrl RB-olodl dadons 2 sasgida-dl R-olodl ddeons sadl eixell
8. ddsgdl agu vV, = & 8. dl,

100
E —4 E, -2
(a) —==10 (b) =£=10
EP EP
(©) L =1072 @ Le=10*
m,c m,c



|
] EIEQQI Q'IA ﬁall"‘l]. ‘ad WRY  —

1112 seudl mda 124 Guudl 3uid Wi 8. 0° C divwid 1 kg o+
0° C crwtcion welldi 3uidR sl H2 v suglao, n sel/As<d
Gag sd Gea Gudlai el B, dl 2L 3uidR W2 dwldl
Auy T,

(@) v Rud vl n qaRdl w2 ©.
(b) n [Mud Avl v audl w2 9.

(©) n ¥ v Wl ogaad]l Adl Ad xwAq W B 5 Fel py = vAA.

-

(d) 242 nv ARUSR Al ax all .

1113 s 521 Gofeigdl suawin ot saumi, Gl d§s dwdldl sl 51281
Al 52 8. sl R-oloddl dacons 6 Hedl A, A, 2l A, > A, a2
sl A otecrn 8. dA-unidl sal @QaA wAl 8 7
(@) Gobly %+ 3w €, ddl adudy M sai s ol 53
asdl.

(b) 58 Guaawsiz omel sl old s ud ¥l I Gowmbig
.

(€) 2R R-olleedl dadons A, gl AR, dddesS A, Sl d-l Sql
52 Gambigdl aur -Aws eal.

(d) w2 R-oioell dddons A, el AR, dddens A, €, d-ll s
s Qoigl an Aws sl

o ags wawil usl (VSA)

11.14 Wl 2 a-501A AHA RAQMIAAL dslad a3 wdBld s3a 9.
Al R-oliodl dRorcdons»il A, 2 &, 2ol w1l 56 Ad 2Asoudel
gl ?

1115 () 32 Sdlsps el auydlal 2uud 4ld 8 3, v 2ugkidol s

Slel s 9AsZA WA AN D A il Glod dd 2wl 2
8. 2 olod Gl Sdsgiadl weu Qo E, 0 il udlse
E_ =hv—¢, 2% el 2u 8.
wul, §, A gl sdf@AU (work function) 8. A SAsA A Slel
(el 29l v)d Aol 8, dl GRalsd SAsgiqa-dl Hedu Gl
seddl ¢al ?

(@ w e wWudl R\ De[Rwmadl 2l 20 eflsd (A Sl

el ) el el eldl ?
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11.16

11.17

11.18

/ 11.19

g
asla 111
11.20
11.21
11.22

72

gal ddl godl 8 3 o 25l doldeudalnl Sleldd el 52 8 wie
aioll doidouSann el Gz 52 8. o al S5 R (stable)
ueldl 8 3 ¥ aiol ddoidousSan 12 Amel 52 A 24l ol
douSalon uslai Guw 53 7

S .

9 S0 MRl Rl o ¥ Sdsgi Slel SAsgii a8

-

> 8 ?

WSl O Geadl €35 100 W el wiar Wl usle Gigd 2 9.
s BeaM 1 nm doldeusall a-3el (X-rays) i 6% 500 nm it
2 UslA Gl 53 8. X-Braril 5124 A 2ldl addidons-
2 sl Slele-dl Avuidl opelia Ukl

25 il usl (SA)

52 Geuogt W2 sl 11.1 uaui @l

-

dl Aol Aeel A ol Ad PAdd AL 7 AL § usie (sleit)H
Bl¥d A5 sl Qi~t R Ao i 8.

600 nm dvldousl ustael USRS Higd BUAdD dl R
400 nm dDACGUSAL WS GUARIML Al 2d QU SAsinsl
wedu Glod oell i O, dl o tidd as-d5ud eV Hi ekl

Ad WA 3 SAsgia 1 nm Al udouS Rrarul wallkd 8. aswq
oLl AP Rigld (ecl NCERT weayads, alsa 11.12) <AL
GuaelEl Adidql AMBEAdL WL dd Al AFRBddL Ax A
1 nm 33 @3l WSl p ~ Ap, HRL SaAsg-A-l Gl Sasgi- diez (eV) i
218,

A dlodl T uadl 6 245300 (B A 24 B, udel U add
B, wel U Bagu Al waddl sladdl Ava, Braga B
sleln-l vl sl oell 8, dl ad dddl 2uglall @ g s
53 asal ?



|
] EIEQQI Q'IA ﬁall"‘l]. ‘ad WRY  —

1123 A 4 A, Rolodl dodens Huadl 6 53 A i B dou 4 sa C
oiritd . Al UFAHL Qo AaeL A 8. 581 C +l R-oloedl dRadens
il (U 2xs ulRawely ©.)

1124 E Qi fuad =42idd Beoge, d = 0.1 nm udlus (%oul) 4uadl
Al uR uuey a3 uBel w8, walid Bagal dadid
v wBsan 0 = 30° A U B, Bragadl oG EeV ui edl

Qe ?
o 2la waell usl (LA)

1125 ARuHAD wdol dgd (102 m 2ARA, %S 10° m) QAR ¥l uR
100 W/m? (L = 660 nm) dloidl HAddl UL dUd 2A AR
100 pA -l $12L walg G~ 53 8. oy S124 AR uHg, Wl
AN AR Sl A5 Geu~t Al Aeuadl L
[Na-l @-tdl = 0.97 kg/m® @l.]

1126 gl awdl (2eid Rrdrao]l qwdl a3 ad)dl il d 2idd SAsiiA

2
. W@z @ awld »usia oo ¢ a o Rl [Agdeur eyl visid
A7E,

W 4 wdl 539 usq s owll. d = 0.1 nm adA, sl SAsgiA dieen
QL. (2l ool UMl d < 0.1 nm 2 vodl «ell.)

11.27 s [Qenell 5120 SAGRs AL Y40l 6 gl v
SLOp
A 29 Brll Gualal s34 82 B,V [Re v V) A B
stop 3 / 7
Al wau gl 11240 2uld 8, 2.5 // //
2
() A udl B gl sa gad G as-ssu- L5 // //
N 1
g ! / /
i ! —
() dasgiil [agdou = 1.6 x 10719 C 2l 5x1014 10x1014 1510
8. A 2§l B ol w2 wddl uedl A Her (2uq9f Hz)
Q4L 2l 11.2

AHRRASAAL dle WA o Yol B 3 AR dl wr Ruwel s

1128  m, s Hddl 8 A, v Aol Ald 52 B A R Wal s2 B
(st my) e »aqd 8. (s wlRwels ald) s A<l R-slwdl
dREGUSHL Al 3381 WHl. Auldd RElRaus ddd dl

73
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11.29

5000 A ddlCoUSL Wsldl BRABFd Sl 20 W Al olest QA @A

2 m g2 A% Higell AudlA Axsd O, WA 5, gl AWl as-ssan

2 eV & A gl awd w2 wWa ds uug 1.5 A Bl wuadl

aqausik dsdl a3 ad .

() ool gl W Asw G ddl Sl AvaAl viely Aol
(ol 518 Ad uy adl <l dax wRl)

@) o 2l 12 dAlszs Gy udl ?

(i) uaHedld dsdld as-ssu (2 eV) Fedl Glod Aol edl uHA
CIETE

(v) Gux (i) 1l 2@l 3@ AHuuouMl uHedly  dsdl Zeal sl
sl ?

(v) 4 ad uHanddl asl o1 3, 518 SAl52s AR 3l dAd dosld vadise
sl 2wl ?

[Hint : [Qewdt (iii) ¥ waldd (@Rl (Classical consideration) IR

AU odl A dd ¢d Y ol e dgd AWEld Assu 1 em? IRl

2§ 9 AwH B ddl el Hadl]



yus2el 12

YHIGY

o oiglasey usl (MCQ I)
AAAL wHl As ¥ [Qsew w2 © -

121 ol Bl @, = 53 pm ddi, ol Al U2, LiT 2dnHdl 4
Ralfaxi Bl 2023 ... .

(@) 53 pm
(b) 27 pm
(c) 18 pm
@ 13 pm
122 [ud yf2aaa () sd auel sl SAsgid, 2ed & H-uugdl
olgrBlel B = — 8;:;&2 QW B, (2, m = SAsIA geHIA),

A LS Al MEL L s A sl 53 3 gl Sdsgii R

Raladl €l v Wil d-dl i 8. A edldl yoer d-dl
o{iGlod

hde4

B=—-—ouo--»—
8n2£%h2

8. (wdl, M = Wl gHHI)
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12.3

12.4

12.5

12.6

12.7

2wl eedl velald (expression) WAl <l 5@ 3,

(a) 7 yals <R &

(b) cllgay sdiedlsr@l (quantisation) §5d SASZAA ¥ @ld, U3 .
(€) % %Ml SAs RER 8, d wsclla -l

d) WAl Al adousiz ua v AR & (A uel «lR).

ay SAsgiv HUAdl WRHRK Glod el o sal W2 ol WE
Hide AlBAE @y wil 4 wsa s 5,

(a) HAsA U Iy o ald Al

(b) dasgirt wisollon A Aeld WA B,

() R 2AA Al HaL 9.

(d) 4f5aun wd SAsgiA a2l ol gelol Fud wadl ealdl asig el

B RU w2, ollgal Al WA wHd, H-uwgui ddsgidd swlly

QA = A, s1e0ld doHid L ARA © 2 dell asy ol o [Rwll ds

MEa sl ukacuol idd sl 40l eSlsdui i el -,

(a) sie 3 ol ke sl QoL vilel yedl 2wl 8.

(b) s % U omidl S5 As ¥ W2 ayan Gl el

(©) sWila Qo dasgiadl Rud-l Reuni €d S

d) 522 3 SAsgA s5d AHAQY sl o Al sl Sl B,

0, i8] wllEudl 6 WAL MU B, AL, 6 UYL U[5aUA a2

ald Hy[su2 s,

(a) Mgt el S0 3, Ylsau o ag dRy dlu B,

(b) 6L wHA elifdl [Agd oo ¥ed ¥ Udtd HAA B,

(© ~yfsaul azd aldl 2wl Rad [@gd oad e 52 8.

(d) Hegrad Adl 51200 & s Ylsauaul YRl v Wel-l v
A Sl 6D,

g1 REMML wudal 6 H-uHgy 2ARAlRAMS Aaid Wil 8. audl Aysd

AMRGLAL Heliled HedH He,

(@) 10.20 eV

(b) 20.40 eV

(c) 13.6 eV

d) 272 eV

SIS 25 Glyd UMl dd UYL A HY WH B,

() A Ad {2l Gladdll 515 el wdeMi %Al

(b) s5c ouel [Agddiael Galsd sl €ld, dl o <l AqeHl %l

(€) oL o s Al Rl ¥l

(d) $5d UL AdAld WH AR ¥ SlAA GRUFd 52 8.



12.8

12.9

12.10

12.11

12.12

uHIRY

spgfdsen wsl (MCQ II)
DAL w1l 25 AL A5 sl ay [QAseu w0 S A © ¢

s USRS H-219, 6 WAl 2 315 SAsA 4ud 8. Wl Hsollonell

WM (angstrom)-dl $HAl dd O, HA REAMQA,

() SAsAA adousiz sl ol R s

(b) a-ll Gest H-ugrll Qo sadl (2)*F 2wl edl.

(c) dasgiq-dl sal WA $d €l B,

(d) 28, ¥ dd ¥ WA A4 H-uQMi 84 wWHal.

Wsd SAsgAAl BRerredl Ysd We dg WA Adldddi 2d 8 dg)

Rl 2w d wBeld Wil H-uwigy oi-iladl 12 s $Asgid 2t

w5 Wl AqdeAS A A3,

(a) GloA-&aiAL 51281,

(b) welu [AlBaAL @gudl Glodn sd sul AR

(C) AR AW&RAL 5181,

(d) sy doHid AAAL 5181,

s H-URHYAL asiue H2 olle e

(a) SOl R WU U @R, usd -l

(b) He ~tl uxwey e el vy wd -l

(€) $5d RSAL dluHid o w0,

(d) Add 7 2Add (discrete) aviuz Uil 2t0udl 52 9.

.......... H-ug, e oudz Aefld adis s3 as.

(@) 24 1S Gulyd uHg, 4 RARHL 20d R A Gilsd wstadl
YR 20U HWudt s3q2 dl,

(b) Galsd-vaza2d]l uad Gal¥d »duMi Asifazll Wi ddl 5160
GRulrd usta-dl gz sl Hu s3AA dl,

(¢) s H-wmgldl 515 wa dsilaxl

@) 2ugfiaiidl 2.l ddd Gl ugfil wd wAWA lsal.
4

H-wigdl 73l sauedll Qo E, =;12 ——
8g; n°h

B €l v gl (Bp-E)/h auad [ABeL dl wR vuud

qd dl,

(@) d Ay v A AR,

(b) s WU WuH Grld-vaal U ol

dl. A HAAl 64l o U0

(€) ol % WRHIQAL Gdl¥d 4S 7 = 2 AL U %Al
(d) 7 =3 a4 S5 Ll ug %A (8.
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12.13

12.14

12.15

12.16

12.17

12.18

12.19

12.20

He usigy Hi2 g ollg H{idd @dl + w3, SR8 3
(@) He* 21 [[3y (Inert) awy 8.

(b) He' il 4f5auadl 42l diu 8,

(c) He* Wil s ay ddsgit € 9,

(d) S5 U 3elly ool @Ry uddl -l
xldgs il usil (VSA)

H-uHg sedid 9As2l 2 Weldnl gl AU 5l 29
S B, W We g o ?

seusil 53 3 He' 2 He® wisfl a5 dAsgid g2 53l ollganu
el Rl duedl Glatsall dsed s ¢l wHAMAl 3 g 3
ay !

sl 519 dasgi Gl Gedsauel IAl Glodasal wr Asil WA, G-l
38R [Agaesly [RGB @3d iy 8. Al W2 Qo ol @zl
5512 Al Guodd ?

A el [agdeR (+%)e 2w SAsRIAAL [Agdou (—%)e Sld. %,
e =16 x 10719C, dl 9 ol Yot dad W 7 A el -l
SIR8IL VAL

Ol el-El SLOrl URHIRIL ilAMl Al 835 uHIRML SAsgiA Grlsd
vl B, g SAsg MR wsH B F, ol Mise WHEl, audl swelly

QML UM Slal 9dl Audl Gl uAMA S ?

25 el usl (SA)

WBZHUH (positronium) 2L H-uMigy ¥, % 8 5 33l el w0
g [AgdcuRd, dasgia-l (A4l s2 (anti-particle) (L WUBRA sey
ud ¥ SASZIA Fedl ¥ Gl i B) AaMi wd 0. WRAMuHHL
g-wiaRul Gl dedl diu ?

Q2L 3 s RHIRME SAsgiA a2 wwsl 6ol 4 Gl uRL Hel A el
[Qgdeurl azd oo dra-l # gdortt Ry ad 20l asi. 2udl wRRAkL

&80, He ulgdl 42l 2Acal Glod-l aweddl s3Il



12.21 4R H-UH8, HA-vRHL €l AR ollgl dl3a-l Gualal s3 dasgiz
a3 aAldl [@AgduaisHdl awdl s

12.22 cldl & 2R A5 n sl Gl senel 7+l san (o, 7 >> 1) W
Asild WA Al GrAdl wsiasdl wayn ddls sugfd, 2093 siFsy
(Fed 3 1:2:3..-0l delidaul) S 8.

12.23 8R1-viaadl vidd H-uaug sedl agay Glod suudl w3 3 34l d ouu
A3l H el Gt 53 ub. % ot Slella doput 2RfEd iy, d
H, #ieig sl dovust e sal !

o gld wausil usl (LA)

12.24 H-wmgHl amud el way 2R agiue 3wl A = 1218 A, 1028 A,
9743 A% 951.4 A D, A gLl oled $elRuH (Deuterium) il
Ao, dl 2l Wl ddAoSHL ddl 3812 (shift)dl 2w@dl s3U.

12.25 'H w4 2H <L 215 v Asild HIZ2 dI2deisSHl 53513+ Hiu vl 1932 4
8¢ G (Harold Urey) ¥ &e[Run (Deuterium)<{l 28 s31. »ud asd €
sieL 5 Asiladl docdons fsauadl g w2y ge Yl 2uHlRd
9. o ylsaua-d alad 2l adi dl dsgi uA YEaUA duHl
AU gl Srgrl sd WRameL 52 8. 2 dot, AR g (reduced

mass) p Al 2 SAsZA-Yf5aU ARl vid Fedl wdd YlsauuHl
m,M

m, + M
M 3 fsaaR soiil 2 m, B SAsgiAd s 9. leH e 2H 1l
aldq ARl wax vl dodeudui uldad s (percentage
difference)-ll el siél. ('H <yfsauu s = 1.6725 x 1027 kg,
2H yfsaudd st = 33374 x 10727 kg, SAsgidd s =
9.109 x 103! kg

AU URGHRL 5l 5 sl uusa O, wél, p = , %,

-

12.26 % el Biadl R €l 2 ddl W [Qgdenz Axq dd adaddl €,
dl olleale wool H uigedl 8i-idal Glod el 2uR, (i) R = 0.1 A
23 (i) R = 10 A Q.

12.27 PR (Auger) WBul (URRl-UBU)UL, S Gir sul AR UMY
Aadl 2>l Asild 52 8. aniidl Gt s ollel SASPIA A
21 B 5 % uHgMiel sl ugl siél wsi (A AR (Auger) SASRIA
58 8). suuAd ®R WA, n =24 n = 1+l Asild el Beoddl
GloAd Al SR gl GRwdl 7 = 4 PR SAsgiA-l UG-l

ol 2.
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12.28

12.29

§As2ld Al Weld a2 dldl o W2l Rad (gl @rd adi-l
2
— e - — - . -
Mun |Fl=—— 8. IFI- (l) Yl MR sdlveHaAle gl il
(47z€0)-r2 r

Add AU Asld 5, wslAdl s8 (sleld) gAMRB8d B d 8slsd-l

SR8 B, %A SRl s m, dld dl s JAlA

IF|=— = [riz+%i|.exp(—lr) oL, A = mc/h h=%.
Wom, A SASZIAAL s 1070 ol €ld, Al Hwrwedl Hri-viaral
Glosinl 3251+ dielw Audl,

H-uuig, Wil oflg dide 2 Rad [gduel ol Hud U2 s
AL B, AHORZM (Angstrom)-l sHAL (A AgidA W2 geol [HuHA
Al sl Al d 2udd [QgdoR +g; 2w —g, 92 dRldL geoil
[ qaRe Rdl,

A e=01R,= 1A €, dl il Bl H-usugHl dau-iqal Glo-l
@l 42U



us=20l

vgl':'—?cma

siglasey usil (MCQ 1)
AA-w uslni 25 o [QAsen WAl B

13.1

13.2

1 ad 2Eay fuadl WAL ilE2a velddl Wiol el 10,000 2491l

Sl Bl HIEL AvaHL sl A 1oa el

(a) 6ltL % Ul uelddl 5000 gl HRAqdL.

(b) GtL % Wisl Uglddl AHIA AvAIHL QML HAAD F ¥ AvAL 23
5000 sal.

(©) A Ad URlHL AU AvAML YL 82 wLl dudl AU
212 5000l 25l Al

(d) S5 el WAl 5000 il ay 4 €S .

s H-UIMG, A m gdMId HAAdL 581 A2 @ldld dResiel oo

erdl (Fayd wwdl 2l asid, ol M3 H-udgd en 9,

m . .
—, i, r Bl 8.
¥

uA
(@ M = Maaq + M5
_ B _
b)) M = Mmpag T Msas3ia - (B = 13.6 eV)

(C) SISl UHIAL gl WA M 51 Aol Huadl <l

@ M = mys, + mga _'V' (| V| = Husgi dd $asgidxdl
C

RafaGloA Heu)
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13.3

13.4

13.5

13.6

13.7

R A s uMY ylsauu WAL 2AlGea my wd, 4 wugHdl
SasgFs  Gloasauil,

(@) 515 ugl usi-dl WAL AlRERA w2 ceal Q.

(b) o 2 P-3RUL A[5R[AA W2 cleald waL -0 [ 2 AR,
(©) a2l il[52[@Q2 w2 oeand u ol w2 .

(d) B2 »(52@d w2 slecld vl ol W2 Al

s AL fsea audl ws YA A W lsauanl wsedly
g 2iesi M, 2 My gald 8. el ads Qe Q) A BT - g
Q-4 Q, 8. A SAsAA g m, a3 ey, dl DAl 53
Qe a2 9 ?

(@ Q; = M, - M) c2 wil Q, = M, - M, - 2m,) c2

®Q = M, - M) ¢? Wi Qy = M, — M) c?

© Q= M, =M, = 2m,) > ¥l Q, = M, - M, + 2m,)c?

@ Q; = M, =M, +2m) ¢ A1 Q, = M, — M, + 2m,) c?
(BRux (Tritium) A LSyl Adl AN B 5, ¥l Ylseaxn 22l
(Triton)Mi 2 <42l 2 1 WA 14 B, Hsd 42l p+e+ vl &4 Wil

8. A ASAAHA S5 s YA My W, dl d He? ~5auunl 3uid
WHil. uRl Ag ol Al se 3

(@) 2162l Gt A s He™ ~ylsauusdl Qo sl 2wl diu 8,
(b) ollet &l uBU el wAdl SAsgid fBanuui Wl w3 AR,

(€) 2l i 2l A &% WHA A 3 WA YAl Y[5au3l
wRamd, % He'3 <l ~yfsauun <l

(d) SR8 3 H5d 2i olel WABUIA 5128 4y Wi B 3 ¥ 2del-nl
YsuuAul SReE €l B,

AR 2l Bl WA sl ay YRl 4ud B, g SR8 A eslsd

0 3

(a) Weld Sl Y2l o €l 8,

(b) Welt a=d [ [@gd o 2wl €l 8.

(€) 2l ollel (B) &y gL deliul &y wd 8.

(d) 42l a2l YsuuR ool WA a2l ool sl el €l 8,

Asaur Ruiseul, [Avise (fission) WEHL elHuA 681 Al ~42ixi

"2 (moderator) HlMl W3 8. quAdL {2 sasl Y saun 4Ad O,

R fsau 2l dd Rg sl el sikaL 3,



13.8

13.9

13.10

y[5aun

(@) 4 ddl al.

(b) 2il @R yfsau Al REfRams Aad dd Qb R ul.

(c) Rusexd uRarl aw usMa Ad a4l ol

(d) R4 A WAl Ul d-HRAHL IR yfsauAdl uelEl
CERTREIR

opglasew sl (MCQ II)

DA wslmi A5 AU A5 sl ay QAsen wa S uy 8 :

AHY, Al il o], 6L $ee (deuteron)l adWL 53 He «ll 456

ol el dAaud UBWL wsy Al 2 S22 eslsd well Ml

AsY &,

(a) ~fEaur ool 4y »idRy € 8,

(b) ~fsauy qcuRd €l 8.

(©) dAau wd A udal o ysaud Ayel 2duss (ionise) ad u3.

(d) 2solln A Bl uddl o A ded ¥ Wl

6L AL A2 Ysalds A AA B Al il Al 209 9. ddll gulRudis

AgsH A, A Ay O, ALl su BRUPAL, 516 UL AHA 6l Ayl

HU-g2 WsALL AHIA WU ?

(@) Al WRMs syt 3 Bl WRGS &d-82 sl MBI €l i
A=Ay

(b) Al WRARS au-82 3 Bl WRMS au-8 5l 6HRl €l A
Ay A

(¢) Bl Wil®s au-ea 21 Al WRARS &d-e sl oHRl Sld e
Ao> A

(d) ¢ = 2h ¥l B+l WRRs au-e A<l WilMs Bu-el Fedl ¥ €l
A Ay < A,

6l WL ls2a el A Ul Bell ad-e-il AHY AAAL 53R U8l

13.1 4 ealedl 8, fA-umidl sul [Quedl wdl 8 ?

(2) Al gulfudis B sl a4 8, we A ¢Hal B sl adusl
CURRTETEN i—f

(b) Bl aulRudis A sl 4y 8, 42 d-dl sd-ex A 5l dl
SHAL AUl o aAL. T B

(©) A-ll #ulRydis B sl a4 €9, ual d €3l B sl vl —

gy Al wHdL

(d) Bl gufMudis A sl il €9, ugl ¢ dldl AHd usl sl
Hu-22 A vl &U-82 %wedl uY 6.

asla 131
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13.11

13.12
13.13

13.14

13.15

13.16
13.17

13.18

13.19

13.20

2ulags saell usl (VSA)

Hey » Hep -l clRis adied @d 9. 9 auedl oiteiBlod wel uwis
sal ?

gy vl $%R AWAAL ABU lsayudl Avadl wuau el
gl 13240 ewlda Al A 2 Buigl Sl aun 2y
esl 7

sl s @ABW GRAPxA el 53 usd A w w2 ?
Galsa ~yfseau, Gulyd Sdsgi

145l [Aau (pair annihilation)ui, y [l Gaurt 4L W2 HeAs2I-
2w WA gofloadl @i 52 8, dl 9 duel Qoridg A@e
asl ?

g5 wawll usl (SA)

] ylsauAdl w2 el vl Y2l sl ay Al &idl ?
s WAL 2lEea lseun A A4 su Wl ay weild 2wl
lsun C oA 8, dd wu-ul dl,

A—>B->C
2dl, B 3l qaduoued 4fsaua 8 ¥ wal AL 2ilsed 8. wiemi
AL N 220 2 ddl, AHY A A 2 B oAl 20200 vl
3251 saladl 2wdu €3
s Wl SHRAAL vidMiel Ml Al gl 12 [@Avise ula
Ble @ am 2R wuad 14C ww ed. @dd asi-
14C 1 205202 16 Rris wd B2 ul s i 8. gaxial
L ALsSrl Al Al vUedl ¢ d 98 s2dl uHA uddl yd Uy
¢l 7 14C <l wmfay 5760 av 9.
9 Y[Bpd Yaod SRIL B AL d 8y AAldl UL oirell € ?
s % Ad wg Asddl d o Ad YEABIAA AsAA A U
oo daldl s Ad B, Ylsupliad AsHA W SAsginl
ARG Jeell didl HSA ? Bl A 2102 10715 m 4iRdl,
R Zy =Ny 2 Z, = Ny €l cdl sellss 1 3L ysenss 2 L 2R
uMeold (mirror isobar) s€l st (a) f7Na<il »dld uuedlly
selds sl w4 7 (b) 2ule & AHR{ld ve@aHid]l sl sy
ay oGl Hd B wd w w2 ?



13.21

13.22

13.23

13.24

13.25

4 [5aun

gle ool usl (LA)

s WAL 2lsea Ylsaun an Wil AR, oidd 4l5un uaL s AL
Aflsea i V. Gelgwl di,

UG ———> I8Cl ——— > Ar (al)
248 h =0.62 h

2 H 1L
HIRL 5, AHA 7= 0 UR 2R B Al 1000 4[5auul A3pid s3I 1A
=0 U BCL Ll Aval gy & i Wl t=o00 U YU Y. UL UHAU
fuR, dvUl Hedy A ?
K2R 368Gl B = 2.2 MeV H1ddl =42l 24 Wel-l 6ifid (bound)
el 8. Gl E uddl y Bl &AL R sl adt il 42l +
weld Adl dAd Aaaal 8, 5 Ul 7 v p oid vud y-Bexl Rl
Al 52 % E = B €, dl sldl 3 2d a « a3, 20 wBa g w2
E 3 B $dl 324 ay €ld sy d-dl amadl s
Rad [@Qad ol a3 p 2 e BUS ¥ HeAl uHg, oi-ld 8, du
YEUU ool a3 RRRAA oldd B, A RRRAAL YRid A WAl a
ALl oo geofly RARBILAAL a3unL 2UAHL ASHL 2 vABRS [AgdeR
e asu, dl

1 8'2

- 47[80 r

33l oirBod 2.2 MeV asa (| vielrd wer 53l
& =] g

2ietefl yduian udai p-aarl uBA Al a3 QAR ¢dl n—> p+e.
A ol AA dd, dloedldl 3 YRl RUR G AR, $Asgi A WAk
Fud Gotail 0l oigl2 sl © 2 21 QAL 2@l 5. walkis
Ad SaAsgicadl Qod oig % WA wnall HA B,

25 valld WAL 2AlE2a Ysadsl 2A52[A R A g2 salsll vid2 Hual
2ad B, whdl uRaeld A wwel seszd sl wd 8 ¢

1 (h) 0 1 2 3 4
R (MBq) 100 3536 |12.51 | 4.42 | 1.56

@ R [Bg 7l 2udu €A 2 o 2udu wel 282yl oddl s2u

. R .. . o
(i) ln(R—o) (g 70l 2udut €13 A d udu uell 2yl dRall
5.
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13.26 M2l g »is (magic no.) Z = 2, 8, 20, 28, 50, 82 il ~42i-i-il Ags
2§15 N =2, 8, 20, 28, 50, 82 i 126 4Ryddl =yl5aux = o el
gl 9,

@) 1208n (Z = 50) 2 121Sb = (Z = 51) W2 Wl 92l uisal izl
Gl S, (proton seperation energy)-il 2ld3l 430 il GUGLd ASIAL
sAls W2 Weldd el wsaldl Gl ved d =ysarsse
a2l el Glodell oiidal WAln el wsal e 33
agdi God. a4 fA Wl 2uE 8¢
S, = Mz, N+t My — My ) 2
19In = 118.9058 u,  '20Sn = 119.902199 u,
121Sb = 120.903824 u, 'H = 1.0078252u

() agd s 2wkdca g yud &7



us2el 14

ARs=352 daszisA :
g, AU i1, AlEl ulRyAl

o oglasey usl (MCQ 1)
AL uHl A ¥ [Qsew w2 O -

141 vl dqil A vddlesl alssdl all 8. sikel 3,
(a) s Al sl Avdl vl all 8.
(b) RAsAUA uHy aBl 9.
() WSl AvUL Brdl i RARAA ANY ol Al O,
(d) dete sl AvalL addl all O, RAsAa uuy 42 O, uid Rasiuq
AHYHL Ul B2lsi-ll AR AvUL HeAdML Ul adiuedl auaHl qel o

2l Sl O,
142 gl 14140 2R pn Fsudl 6 B azd Geil 1
A A Sld, AR Fsud v dlelRua dRu T g
v, 8. V.
(a) 1 2 3 6l %5l $iad olluAA
3w 8.
(b) 3 FsAAAL SRAS GUAAA AU FUR sl 14.1

1 o5l Aol ouuAA e3u 9,

(© 1 %surrl $1Rad ouuAL eq3u 2R 3 FsUAAL ad ouyun
AL B,

(d) 3 A 1 6l Fsuddl Aad suuAd w1eq3u B,
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143 208l 14240 eulda a8 2ued A8 dly edlsidi,
(@) D, slRad cuuAHl 2R . 5
iy N = A 1
D, A suuAHl O, ddl  —10 V e~——AANY >
wals A 4l B dis ae 8,
(b) D, sRad ouuuul A D,
D, Al oluuui 8, dall BY
B el Adzs & d-l [Azgmi sl 142
wale dddl .
(©) D; 1 D, 6id giRal ouuadi 8, ddl wae Adl B ds ad 8.
(d) Dy ¥l D, 6l ARl suuuui © 2 ddl A el B das & d-l [Rigea
55 wale addl el
144 [igl A 4 B+l azd 220 VA.C. i ol 8 (2usld 14.3). F9Ri2-
ol Bl a2 [AgdRulaHn-Al dslad V dedl s ?
~— T (@ 220 V
20V Y ey
Ac. T (b) 110 V
B
oV
wugld 143 ©
(d 22042 V
145 €l ...
(a) SAsiAAl ulase 9.
(b) 22 AAAws oluHial SASZA Hsd WA AR Gedadl vudl
CEUTINLY
(©) s dasgin-l el 8.
(d) sB Ad euda s2 B,
14.6  usl 144 4 galda yRuadl »uG2ye...
(a) €35 AMA YU el
_M o r . - .
(b) HdRoL Usestur-ll Hss »uBayeul -
(©) tddl Wsesiua-dl Wss wBayeHi Bwal
5 w825 el
2wl 14.4

38

(d) welddol Assiu-Al ¥ el



AMs~3s22 SaAs2MSA ¢
ged, AUV A el uRual

147 2usfa 14540 salda wRuandi A saledl siad suua dids Ju 03 2§ o2 ma
V €, dl A w1 B a2l [QgdRafauddl dslad ... 8.
@13V 5K
()23 V —
(©0
@ 0.5 V
14.8 2ud uRua (dugl 14.6) W2 gu 2. oK
@ A| B| E B
001 sl 14.5
0 1 0
1 0 1
1 1 0
® Al B| E A ¢
0 0 1
ol1]o [ )—E
1 0 0 ~
11 [ Be—%1 ) D
¢ Al B| E 2sld 146
0 0 0
0 1 1
1 0 0
1 1 1
@ A|B| E
0 0 0
0 1 1
1 0 1
1 1 0
o ouglasey usll (MCQ II)
DA WHE Bs v W5 5di ay [@Asew wa S a5 ¥ ¢
149 o Halesl 6 99 a2 [Rgdas @l usdml A AR,
(a) 5v35U GirgMl SAS2IA [l Glofaddl 624 GlosdR drs  alld
5308,
(b) s GirgHl SAsgi G Qosieddl [t Qo dis Al
5209,
© dd-~u oi=gdi Wdl G Qo] R Qod: des ol
5208,
(d) A Giei WAl dld [ Glodddl G Glaidl  drs Al
5208,

89
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14.10

14.11

S~

0 06V 2V V,
ausld 147

14.12

14.13

14.14

90

Bl O-AHey HsUA slead-oluA A sAR-6Y  Hsud A
oluAMl €l ddl mpn 2DReRtl QAR s A sl sui (@l
WAL ¥ ?

(a) daAs2A H2HIL sAseHl Al 52 9.

(b) €l oizmigl sAse™i Al 52 B,

(c) Sasgd iMemiel ol ala 53 9.

(d) 2Bzl Sdsgid sAseMl wdld oigd Gl oeR lsal O,

sl 14.7 6 owun CE gUwer-dl girus aa@sdl sald 8. A
gl sul (@l wl o ?

(@) V,= 04V wd afwer slla Rl 8.

(b) V.= 1V WA 2U[aRed AMsiuz ddy aml asi.

© V;= 0.5V WA d-l o4 Rax iy 4wl as.

@ V;= 2.5V W dd ¢ Rau (switch turned on) iy il
ASIA.

s npn 2[FRe WRUEHL, 58522 wdAle 10 mA B. % 95 251 GRU¥d
Sasgid sdsex Yl udil ol dlu, dl Al W8 sui Qe
AL O 7

(a) M2 dle 8 mA edl.

(b) M2 wale 10.53 mA edl.

(c) 6l WAl 0.53 mA edl.

(d) 6l dle 2 mA &il.

QAL @A [AIRMLL..

() 519 aella dlosen dldl -l

(b) A AvUL ld v SASAA S1d B F ¥ [ dy oi-ld 8,
(© Sl dal SAsPiA Yridrt Ay B,

(d) RER dlweulRd Al 2R HAd B,

I gl ydad wBuL avd g wu © 7

(@) PR UL AScl WalS dUl dnl AHIdR ARy A0 W B,
(b) Asll-vian (R)HIA] dddl dag ot 8.

(C) PR AAAY AN W D,

(d) P gL ULl ARY slgdld ©,



AMs~3s22 SaAs2MSA ¢
ged, AUV A el uRual

14.15 3%esiu uRuami uRie: Ber gl dud "ausal Hi2...
(@) R+ aurdl s,
(b) Htye 2ugla wegdl s,
(©) Oye 2wyl asrdl s,
(d) at Uz 4Addi FURRRAL Gualdl sl HSuL.
14.16  p-n %5 el Al onuAdl AsAG Adldl Y WAL ., !

14.17

14.18

14.19

14.20

14.21

14.22

IR

(@) QoL i ey €l AR WSARA A% 3Ry an Aoy
(b) S @ ay €l AR WEARA A% 3RUAL QD Aol
(©) Sl el 1 €l AU NAAA ¥ Ho [Agdan

(d) Qo WL Y €l AR 3AUL aRUL Yol [Agdanl

x1[dgs sl usi (VSA)

Ruasi 3 wdfaudl QoL dw e Ad gy XIT 3 yu XV wiell
5 wde sl 2wd B 7

Sn, C dal Si, Ge o4l % Y4 XIV <l drell & 9di, Sn Yalss 8. C HHdes
8 %Y Si v Ge wtales ©. 31 ?

9 p-n FsUAAL UR(RAuE GRuA FsuAAL 6 B4 a2 s5d dieeBier
Adld =il sy ?

HAUAL 6 B3 a2l HAd d012a3u (waveform) €lRl (gl 14.8).

Vo
A
+1V
0
] " AVA
A WAL 91y dol @3Y
2ugld 14.8

AMsU X, Y A Z 4 elHl o3d 9. o X, Y U Z AL dieke Sl
§sH 10, 20 2 30 11 Al $ye Rodd dieyd s 4 1 mV
g, dl wBeye Reda diey ((us yeu)

() A dc W Ay 10V €, dl sedl ¢ ?

() % dc wewd dley SV &, dl sedl el ?

CE 2[R §[siu A8 wdle 2 diey A, Addd €l 9. ol
el WaR S8 deod dlu V. war A Glalg W B dd elsRdl

9 uRua QAR Muud Gedud 53 @ 7
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14.23

14.24

14.25

14.26

14.27

14.28

92

g5 gl sl (SA)

) 1
I I
(nA)
P P
V= V=
(volt) '_/
Q
(@) (b)

sl 149

() sl 14.9(a) aul 14.9(b)Ml ealdd cAaBlsdl quadl sl -y
auil,

() 2uslt (2)wi Big P g eald © 7

(i) 2@ (b)wi Big P xud Q o eald & ?

HAlESL oAl A §12L el Dy, D, @A Dy il 6w 31U iegsi 2.5¢V,
2eV A 3eV 8. 6000A diodeuSl uslan wRvll usal sl gl
uan B 7

-

A @AY R, < Het aqraml wud (dugld 14.10), d B w4
dicefMerntl Hadismi 9 3wR 2 ?

2usld 14.10

6 512 Ol A5 S g HR2 A w3 B 3, A 5 w5 SRwHl
512 WA U wudl oid Al 512 UAA AR A AR well .
QAL Gualal 531 2l wsR+l RAlA Al ulRuy el

2U[=Re-l Gualdl s34 NOT gate eistiddl Hi2 %33 uRua 3dl dd dur
s 7

dw (elemental) »Hale Sl Gualdl g94 LED oirticial H2 53] sidl -yl
AueAdl w MR ?



ARsrss22 SAsAMSA
ged, AU 2 Wel ulRual

. ~ by ~ \'%
1429 2ugld 141140 ealda [Qgd-ulRua W2 ga 2o avil o
RuaHl auRAdd Sled UM L D, %
- s Y o Y - AC < oV,
1430 1 W waz A2 4aadl IR gl dier 0¥dR dils
. - A N - - [0 e —— —
AURAML dUd 9. % Pl G5B di’w SV 8l v 4 B <
=~ . R L S = = = D,
3vel 7V -l a2 ogdidl %dl A% YEe Sl S,
2ugld 14.11

dl del AAHd Gudlal M2 Rs+ e 32¢ €ld ada ?
(2usla 14.12)

Rs
C l-':.I'." o
EYBA diew A Fulid diew
o o
sl 14.12

o £l wall usi (LA)

14.31 % 28l 14.13 40 saldd 35 Gdleedl sRad olu 2aAY
25 Q 2 ARl cl¥A AR 2eld §W, dl was I,
L, I; @ I, L el Sedl e ?

1432 gl 14.14 i eaidd uRuadl 243 6 AaARHAL S1Y2
diey 10V €, AR V, 4 2 V,, ual g4 8. I,

I, @i Bril yedl 2lHl.

10V
Re2 axa
R,
' 400
kQ
2usld 14.14
14.33  dledl 20ld Ayt W2 26ye Rode C) 2l C, ekl (gl 14.15)
A I I A
0 | 2 3 4 S5t C,
B | ] 1
o 7 5 3 4 5 t(s) A
C,
sl 14.15
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94

14.34

Vig

14.35

14.36

CE npn 2[Rl §ye ua 2uB2ye alalsdi-dl ey e sl
14.16 (a) Hi ealdd uRuu-olsasl -mi dl.

I —
cc I
‘[ éRc c ¢
Vee (mA)
By C Q
E fVOC AmA beeaaans : ;=30 pA
IBE v
L 8V VCE(Volt‘s
2usld 14.16(a) 2usld 14.16(b)

A S8 alTRe WS Vpp = 0.7 V €l dl Ry 4 R+l 2al 3ell
wie A 3 el aulHwred sl 14.16 (bl sulda  cd@sdi
awrlls (Big Q =e awmd s

2UoR2ReAl Srye SRS vol o il 20 B dal Vo = Vg = 16 V.
Y HIRRUIA UL URuadl diy A9 A waR AH el
S8,

Qs 2ued WA sl 14.17 vl ealda ulRua W2 2B2ye didl-
73U elRl. dviRazudl Angdl 2wl

20 sin ot (") %
_— 5
_|_

2ugld 14.17

v

A 5 SiowlRs % Al 5 x 1028 w3 © ddl As <l 1 ppm
Algdll QAL gl 7 UsRAL Ag2 (Wdol dR) orde 6. d-il awel
Y GRIA-Al 200 ppm Algdidl QA gll P’ [€GdIR AL ds UR
oldd 8. n, = 1.5 x 1016 m™ WA (i) 7 24 p @l [Qgden
Auesi-l dval dddl WML (i) suldl 3 o s Fal onu Raui
Sl AR sl [Rgdour assl Fad AR ualsHi Al awd sl

.@)
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14.37

14.38

| AMs~3522 SAsAMSA

ged, AL AN Al wRuAL

25 X-OR gate < g4 2ot <{ld ealdd & :

A B Y
0 0 0
0 1 1
1 0 1
1 1 0

dd A ealda dilys Asid gl saldd .
Y=A-B+A'B
AND, OR i+t NOT dle-l Guadl 31 2 el &l 2.

W ollsA 5 Bl Guril eudl uR sl 14.18 (a)ul edledt WA »@

Y

fide »udal 8, dadl [Qar s

usld 14.18 (a)

S oA gl 2L AR 2BiAdd 6 wFUMAL S8 A WS AHAJY
VU AR H2Sl A3 ldl €.

s Qenel wdlaL s2dl avid 1 2@ Biddmil S5 6A 2usld 14.18 (b)ui
galledl wMidl #idlA uRua o-id 9.

A—
- ollsd 2Biqe

sgld 14.18 (b)

Renell wRuani 21 6 2BlAdldl a2 %3 =25l 2Ad AU S
Yalg-dlezadl AL W 53 6.
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96

L UALL Al YHIEL 8§

() 2 A 4 2 B 88l €14 IR,

II
>V

—_— ‘

sugld 14.18 (c)

(i) 23 A 82 - B 4 Sld U3,

In 1
—= 1000 Q

el

0.7v

2ugld 14.18 ()

(iii) 243 B 1L i C 4 €11 AR,

U

0.7v

25ld  14.18 (e)
(iv) 2412 B 4t 21 C BRL &ld QAR

I'a

2ugld 14.18 ()

(V) U A f A C w2 €U AR,

25l 14.18 (g)



Asm3s22 SAs2AMSA :
ged, AL AN Al wRuAL

(vi) U2 A B 24 C 4 €l QR

Ig /
>V

2ugld 14.18 (h)

sl 14.18(c) el (h) i calda was—diRy d@alls wwdvia
VUL A, B 21 C Wl %ddd g2si-l dlsanl 58l 2.

14.39  2usl 14.19 40 ealda auwRe: uRua w2
Vg, Ry 211 Ry -l 2widdl 30 I = 1 mA,
Veg = 3V, Vgg = 0.5 V 21 Vo = 12V

w0e 9. B = 100.

2qigld 14.19

14.40 2usld 1420 i eulde uRua W2 R4 et Al :

12V
100K 2 R. A
c
A B = 100
E
20K % % Veg =3B
2usld 14.20
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usel 1

N N N R
o T = ) ) -] =] B | a (7] =N (V5] ("] )
un = W N ] [—]

(@

@
(b)
©
@
@
©), @
(b), d)
(b). (d)
©, @

@, (©
(@), (b), (¢) 2 (d)
9

. _=Q . _Q
) 47R} (i) 47R;




ALl

116 [Agdaoll ugpid dee HRaadl 23 8. [@gdael adid [@gdeuria
dlf Bau~l WA O, AU SEl dlesedl el AW W SIS atRL-l
[Qgdeu: € u «lR.

117 A, [Qgddst do €15 ¥ 8. s d-uel [Qudd A 8.

e 4,
* —_————
A — [,
— —->— — L,
AR
Gur-l uild ouy-ll el

9 g o g .9

1.19 () 82, (i1) a5 (ii1) 2 @iv) 2

120 Al Hlar-e0 M i vl v N, = 6.023 x 102

. . m
m el Al Al Qi Russinl uamglliedl Advar N=Ny —

M
ed, Z, = 13, M, = 26.9815¢g
0.75
3 = 23 N _—
ddl, N = 6.02 x 1023 wxwyHa x 26,9815 g/mol

= 1.6733 x 1022 yaH1,
g = WAl +ve [@Agdeur = NZe

= (1.67 x 1022)(13) (1.60 x 10°C)

= 3.48 x 10°C
g = 34.8 kC 4t [dgdeur
2l [Agdourg s WG Hedt O, 2, wud A sl ¢la §, ae
Ad dere weld Hlew wwRmi £ Qgaoud 4ud 8.

af

4r g r12

( 2) (348x10°C
121 @ K= =899 x 1091\;&”% = L1x 10N

2 -2 2
B_n 007w 8 R =R x108=1.1 x 105N

3] r22 (10?m)>

(i)

B o_ i _02m? _ o6

G P2 (10°m)?

F; =101 F, = 1.1 x 10’N

sl @ ol Big Redoira wasl sami wd, dl 21l [Rgdeur ais
HE o Bau~t 53 0. [Qad deRadl [@alid sdl 2w -l
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122 (@) o, ABddr W,
() 1% +ve Cs 2y« galddl 3 s —ve Cs 2UuAd @l GHRaAl

GIRAGR 6,

AR YRewdl oo A Hwe ©

82

F=

dmeyr’

i, 7 = Cl 2t 2l Cs 2dsll 92 iR

= (0.20)? +(0.20)% + (0.20)% 107 = {/3(0.20)% x107°
= 0.346 x 10°m

_ (899x 10°)(1.6 x 107%)?

11
—— =192 x 10
(0346 x107°)

adl, F

=192 x 109N
Grx : 1.92 x 109 N, A<l CI -l Rl
123 P WA : 29 BWR, ¢ 43 awlgd 6 dofl drs i =3 a3 dwlg e

2 2

29 _ 69
amey,t  amey(d + x)

2

P de—oud —>

. (d + x)? = 3x? 29 «x—> -39
w22 - 2dx —d? =0

(B2 Ra Al xq 4t g wd 3g-ll a2 ed, ddl 4w Al

x=£+@=5(1+ﬁ) g <l sl ouy
2 2 2

124 (a) [Qgdeud A 24 C 4 8 5122 3 8o (60) il axil Gemd .

(b) [gdeur C < Het Al ay ¢ 51220 3 dsil W8 Hgnn Avanl Aot
WL Asouddl B,

(© (1) A+l s 4 v e [Qgdeidl 9z 516 deu [Big -l ol
wadla [Qgdeul a2 dee Bigd skac &1 ad. 2ugld uel »uud
oS wslal a5, dew [Blg [Agdoux A 2 Cel a2 wlRacsl
8. A o wndle [@Agdeul a2 dey Big -l yeusl [Agdeursdl
s ¢ O, el [Agdou Adl Adws [Rgdas g 8.

1 —> . 1 29 — .
125 (@ (@) ud (i) W% OA -l Rawmi (iii) m—‘f OA «{l Rauni
0 ]

(b) (a) il »n o
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1.26

FALON

(@) WA 3 gl Bt R 8. 2q qlsidl adal 3 addyd wugil
Asarit Ad [QAdddd 2d3a 8. €35 adfwt wrugdl [Qedeu
eg=—(1+yet+te=—ye =|yel
€25 IOl U e0 ~m, 8. (Wl en)

A R WA, el unIg, BuUR dlolg sdlbid 2usiaL o A oRclld
AL5NLL Sl AU S, dl [QRdel A3 48 wmu ©.
Wl 3, R Wi [Qgdast E 8.

adl, 4nR%E = 2

3¢,

0

7R N|ye| (ouGu-dl Frum)

w3 R WA dReusial o G, 8. qdl,
— 4nR? Gy = 4nGm, 7RN

Gy =~37Gm,NR

Gy (R)==37Gm,NR#

M, R 2idY gl uMg, Gur gdsen

22
yeE(R) =1 N
3 ¢

0

B UG, BUR RclsNEL ol

R

a7 n
m,Gg (R) = —TGNmf,Rr

W, W dld uRawdl ea

2_2
F =[1N3’ © R—ﬂewmiRJf
3 &, 3

2L silds (critical) Hed ®, U3

1 NyZe?

3 g

_41:

R="2
3

GNmf,R

2
m
= yi = 47:80(36—;

_7x107M x1.82 x10° x 81x10762
9x10” x1.6% x10738

=~ 63 x 10738

sy =8 x 1072 = 10718
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(b) wRal st lf, SSiF UL HAL MG B, FH,

127 ()

102

R [ 1 Ny’e® 4p 2 )
m =|—= R ——GNm;R
P ar? LS e 3 "'p J

o

d’R . 1 [1Ny%? 4 )
wadl —-=a’R o, o’ =—L_y— - —pGngJ
df mp 3 eo 3

2§l AHlsWAL A5 B3 R = Ae® + Be™

5120 5 248l [z il @ ¢, B = 0.

5 R=Ae*

=R =aAe® = aR

il Aol i Fradl vidAl AUHWAHL D,

sl Alddl 2 yad 8 3, [@gdadsl Besuad! 8. Big 7 < R W2,
dousiz dUGBRUA Y (AR vl AWl GUR Y Asar s,

ng,-dS=giDjvpdv

,
4m‘2Er =L ank jr'3dr'
o]

80
1 47k 4
g, 4
E, - kr?
4g,
E(r) =—kr’F

[Big r > R w2, Bl olousiz ouGRud awdl (AR,

ffEr-ds =— [ pav
EOV

R
47rr2E,, = Ak Ir3dr
€

% 0

_4mkRY

E(r) = (k/4e,) R/ r?)F



1.28

o p ¥
e——d—>
-Q q Q

ALl

(b) ol Wl 516 eun WA Swdl @ ouypl BGu gl wSu.

(@)

(b)

A 5 oA WAld Sl 7 vidd 8.

R
$d, 4r jkr'3dr = 2e

o

ATk Rd o,
2e
k=
zR*

-

WA 1 U dpldl ool RARl [Rgdeur [@de di wusier oo
2 2
e n 2e” r7 .
kr 2]‘ =— —41' @
4g, 4re, R

82

—¢E, =—

1
471'80 (2r)2

ol e2 2e2 r2 \ n
5 — Z
HIRRUHL A L4:rrgo4r2 4re, R*

2ULSHRL 6L r R,

-

T 9,

w6 g gl

2

2 2
e 2e

r
1671'.90r2 ame, R*

4R* R*
wul A= o
32 8
B R
r= ®"

A A R (- A S el
WH, WA sl r=—— Gd ¥ €Al B,

8
we o dld y wa [Qgdas _Sz? 8.

€o

q

We By wd [Agdas —Sz—f 2]

€o
adl uRewsdl (agdast
Q-9

E — ( - .f =

1= s (%) 8.
AAUHL AL WL B A y oA WA ¢l uA ddl oidd Ralawn
s o (W) e WRL 5 B GUR g, il y GUR ¢, [AgdeR 8. 5
(Big O [Qarl. ¢l [Qgdaa gd €ld s,

~ o =~ ~ — Q
a L dld O Wl [Agdaa *=— "X

0
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©

129 @)

104

~ o = = q v
B A i O wad [Qedan l3=—2 lsx
2 6‘0
~ & ~ ~ qr -
4 dld O wd [Qgdas y=- x
! g 4 26,5
—-(Q+
(Q+4) + -4 _ 9
2¢,S 26,5
=q1—-9,=Q
asll, ¢, + ¢, =Q + ¢
=>q =Q+gq/2
M g, = g/2

WK, B2y UR [AGdUR s Q + g/2 A /2 sdl.
QAL % sl gl d idR Aol v B, % W2 y o en €, dl L yeimel
W15 KE. H 2dl i [Rgdial 9 adl s Fedl o €ldl Asa.
. +q/2) , /2,
Q 20, _ar,
26,5 26,5 26,5
PUI We y A Hsd T AR A Yl ad sl Fid 8. ol
Fy oy We GuR dwig o 8. duid 4l d d 2id? ugid @l ydla
ud s Fyd 8. %ui, F, 2 y @2 Gu awnld oa 8.

H=EQ= @-g)Q

2¢,5
N ql2
Ui, F2 =E2qr"2= (238)

Aald uedl, y WA [Agdds Ey=—

2

o

ad g4 s
1
2,5

I:(Q—Q)Q + (q!2)2]d = 2;S (Q_qu)zd

[s]

d
S

o

=1/)m?=—(Q- q/2)?

d 172
~v=(Q —q!2)[mg S]

[1 esu %edl (AgdeuR]?
[1 cm]?

F = % 1 dyne =
nYell,

1 esu %edl [Agdouz = 1 (dyne)!’2 (cm)

adl, [1 esu wedl [@gdmR] = [F]Y2L = [MLT2]V2L = M2 132 T
[1 esu %edl [Agdaouz] = M2 132 T-1

M, cgs Al [Qgdend M-l (1/2) x4 L+l (3/2) 2% yals
QldHl elacumi 2ud 8.

9

I‘w

Ub)



ALl

() o [Agdeul a2 apidl gdot sa-l [ s 5, Aselladl 1 em
gedl dx 8 wd el [Qgdeird yer 1 esu 8. ddl e
1 dyne = 10° N 8. 1 uRRald [@gdeud xC 3 Huddl

soflnedl 102 m Avidl 6 [Agdeudd axger .

1 X

47y 10~

¥l u:El, F=

% 1 dyne = 1079 N. &ld ASH. 2u4,

1 X

= =107 =

1 10° Nm’

ame, 107 amey,  x°

= = 1
il WA x= 5 2 HA B,
[3] X 10

1
4re,

=107 x [3]% x 10'8 = [3)% x 10° -

el AL [3] > 2.99792458, 2wudl AUlssU YA

1 2

47e,

— 8.98755.... x 10° N

130 %% O <l Rusi g Gur dwig sa o

2 2
F=2 9 5C0S0 = — 29 5 x
q Ame,r Amer” T
.//B‘Tx
. . -24*
-q d d -9 9 o

" dme, (d2+x0) "

2
~ 4_2qd3 x=-k x <<d 2
e,

wH, Al [Agdoix g GUR Al 6l UL AHUMRRL © i d
ousll 6 [Agdeudl 3= g 8. ddl, ol [Agdeussdl ol suadali

8 ol 29k

22
o L,jﬂ/i
Amgyd’m m

x| semd’ |
EEN T T Em
2 ql, T=—[+} .

@ q

131 (2 Radeuz g 4 Borll 2z Gur Audy 48l HRdl 2usld (b) + el
yoorril uRRAM 20l O, Big A 2« B 2 Rorl 6 i Bigll ©.

A 24 B w il uzs = -l
27R

m =~ ~
& qadl wslal.
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2.1
2.2
23
24
2.5
2.6
2.7
2.8
2.9
2.10
2.11
2.12

2.13

106

dldl g Gur awg ea

-Q 1 1
3 =2 - q- .— . cosO
A+B 27R 4 ame, r’
-Qq 1 z

- 7R -4re, ’ (22+R2) ’ (z2+R2)”2

Rort dlfl g Gu2 awid sa o 1
q = (F,,p) (mR) — [Roi-ll u18
~—Qq z q
" azey (22 +R) /e< \
—Qq A TR B
Tams, <R He Ford Arda

WM, 601 Bl BEL WUlAdRAL AHUHLML O, ildl 6l U Ssurl
Al A adald 8.

(b) Hiel (a)

d23=_ 0qz dzz=_ Qg .
dar’ 47gymR>

3
sl 9, 02 =—2 ], T = o [ R
4ngymR Qg

usel 2

(d

©

©

©

@

©

(®), (©, (@
(@), (b), (©)
(), (©)
(b), (¢)
(a), (d)
(a), (b)

(c) 4 (d)



2.14
2.15
2.16
2.17
2.18
2.19

FALON

CETE]

Gay [Ralaxi

gl, Bl uRMRL gel-gel €, dl

Al

A [eddat A8l €d, dl ol BRudHi ad sl geu ¢l

QR 5 2w el AWl vedl ouyal AWl ded w5 (just

-

inside) [QgdRaliud 1 awdl Guat Raladw sl 9g s %
R YadAdl WRHA. 2L 22 2 gl 5, AWl vie drs
5 ol dRs (MEQ scl euadl euldl as, AWl ARARMA €l
oflt B3 il s AW w &S b AR wg dl ¥ wsu B 3
w2 AARUIAL ol B3l el [AGdMIRL BUR €l ¥ 2ud gslsd
sl [QRmenA 8. wuell viedd AHA e WA RAHA g ASHL

Cal gadl adl.

Agdld Gt = 2CV2 il el auidl ad.

[Qeddtil al agl.

Aol [Agrden A 28

V ol quRl ual.

[edeuRd atssel RgAMRBA Algs 4l [@eadatdl Rl 515 ol

[zl 1wl ol RalQMA Add 823l RedeiRARd aussdl si-dd
Yl oflon Wol uR RALBUA 53l Udd w2l ul 2 uRsun B,

U = —qQ —
4z eRAJ1+2%/R
wilt z Wl RARGA- 3RsiR eulda B,
RUUAIARA 52d [QgdMR — g eldxll 59 Hot
2du AT AU S5 [l s8] sl <l
1
V = Q
4me \/ R? + 72

e vl 7 2d RAldHA a2 [@gdasdl [Qar 0. M
Guel 2udl 2 Al Wl 3, Axdwdl Blrnadl edizdl ds sl
r Bt e [ odoudel Admsiz duGRiud Y el QR

gﬁEds = 810 ¥,

w8l B,27rl = — Al

I ] 0)
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2.25

2.26

108

= E, = A
2meyr
N r
adl, A r, Bl 8, dl V() =V(ry) = - [ Edl = Ak
% 2re, ¥
wUA V HR, In L=—27;£° [V(r)-V(r)]

o

- 2mEg V()M

= r=re 21!280Vr0.fl‘e+ oV
AuRAMMA Y Aousiz 89, %<l Bl

r = re eV =V RV

Wil 5 Gorfigdl wddad ¥id x . [Blg P wa Ralwun

1 q _ 1 q
76 [(rrd 12 +12]" A% [(x=d /2’ +12]" .
o Wl YA B dl \
1 1
= 2q -q
[(x +d12)*+ hz]m [(x ~di2)’ +h? TZ -d/2 5 X /2

wYal (x-d2)? + h? = (x+d2)* + h?

= x?—dx+d*14 = x*+ dx+d*/4

»Ydl 2dx = 0

= x=0

2l AUdd x = 04 wlse B,

QR 5 vl diey U 8. o aoddlszs adr duliexd SUlRien C €y,
dl FURex vl [Agdeu:

Q, =CU

adsalses wa Fuerd e eC sl el R wr [Agder
Q, = €U = aCU?

o} FUReR WY od AR ddl wilMs [RedenR

Q, = CU,
[Agdeuz el [Rud xR
Q=Q +Q

»ydl CU, = CU + aCU?

:>0cU2+U—uO=0



ALl

u 2 olEAfI+4aU,

2a

-1+v1+624
4

-1++625
% diez

B U 4 €y, dl

U=—“6zj_1=24—4=ﬁv

oy dscdl {lA-l e wd AusH B uun e wuRAFUA 8. [Rgdenr
g dsdl dis e-idRd wd 9,

. 1%
dasdl W [gadt =~ 8.
’ \4 2
. q =—e,—nar

dsdl wR apig ea

v Vv?
TR
B dsdld Gux Gsladl €, dl

2

ar? Q.

2
SD?EI' =mg
dZ
>v= [T9%
mEGT

gl {qdqd 994 _quqd}
dney | T r r

9
=_91>(<}1_g (1.6x107°)" {(1/3)* -(2/3)(1/3)-(2/3)(1/3)}

2.304 x 103 {%—%}=—7.68x10‘“J

=48 x 10° eV = 0.48 MeV = 5.11 x 10* (mc?)
Aus udal,
Q =o- 4nR?
Q, = 6 -4n(R?) = 4(c - 4nR?)
Aus v,

Q' +Q;

Q +Q2=5Q;>
5(c - 4nR?)
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dxl A REQAA sal.

QL
R 2R

. sz — 2Q1
" 3Q,' = 5(c - 4nR?)
L Q=3 (0'-47rR2) Wl Q) =10 (0'-4JrR2)

. 0=

wn

=[]
Q

230 Wil Vo & ¥A V; +V, =E

! K1 Kz
= V, =3V 31V, = 6V i€ (—T)
Q, = C,V; =6C x 3 =18 puC g o SR
Q, =9 puC ¢ Q; = 0
AR udl 1 Q, = Q) + Qq
Al % : C,V+Cyv=Q, > V= Q = (3/2)V
2 3 2 C,+C,
Q,' = (9/2)uC 4 Qy' = (9/2)puC
Q
3 o= Az
2.31 ey
Q
dU = 1 o 2nrdr

110

L u- o 2rdr

amey o Jrz + 7?

R
270 | | 270 | |
= |: r2+z2] ——|: R2+z2—zi|
A7E,

0 47[60

2
__2Q 2[ R2+z2—z]
4ameyR




sl
il ) -0
\/x +y’+(z - d \/x +y +(z+d)
9 _ —9;
\/x2+y2+(z—d)2 \/x2+y2+(z+d)2
Zz
a4d 2, g RARMIA Yu 8dl g, 2 g, Al P&l [y ¥ €lal

ASH. ¢d ol 53 AE 3u il wHls A HoeL Wil B

-0
+
%—-—d iytez +[(q1/q2) ](2z:c1f)+af2
‘Il/fh) -1
q1 +q2 A A A e N
A oloud 3w | 0,0,-2d Wl 8. A dd wdlsm 9.
a0’ -q5
A 2o g, = —g, = usl z = 0, ¥ welbiguidl wwr ug
A B,
2 2
2.33 v 14 _,
amey |(d-x) @
Ul\ _ 2 2
v=L 2

Uy = —2

4w gyd
4 _ 0, x =0 wa
dx

= 0 s Ada g 8.

d*U  (ag?)|__ 2 __ 8%
J (dz—xz)z (dz—x2)3

(—2dg*)
- L4i:ZOJ & _1x2)3 [2(d2 _x2)2_8x2]

dx® L47reo
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3.1
3.2
33
34
35
3.6
3.7
38
3.9
3.10
3.11

3.12

3.14

112

x =0y

(—2dg*)
e Fed, v <o

adl, el Adad V.

uszel 3

(®)

©

(b)

@

(@

(b), (d)

(@, (d

(@), (b)

(), (©

(@), (©)

U 515 SASAA F5UA dS VA B dl d AsuMA E R d ssu
WA dizefl awdl Gur A wdd [Aegdeu(y Rge do vy Fad av
)l uRl AR 52 B, L [Agdsial Gl 52 8. 2L &l -l R
olgd 6.

[Agildsin (relaxation time) SEASZIA 2 UAAAL AL GU AR AV O,
2L [QAgasial Sasgi-u-l Aol 1 mm/s <L s34+l 38U gL Uewldd (2uR)
530, % vis Hedrdl AR 9. 6ll® drs, T Hi 32812, datd 10> m/s s¥-il
A UGS B, % T Hi Adldust $WR 3 a4 8.

[p = p(E, T) %4i, E QL W& AL dle2y Ul A4 a2l asiu
ddl €lu 8]

adlelBoil dee [Big (null point) ugla-dl sdel 1 & 3, Sed-lFier-l
AAY Adert [Bigd AR Al Al A AR dul Sled-lHeni
Qgduae ¥ Sled-Hedl AHidRs a8 WHadl 516 #32 €ldl .
uRuadi Baldel [Famedl Gudlol 53 s w48 R, Dbl as 9.
ey UglAlHl UL ARl dal dled-AlHeHidl dddl o4l Yalsl e

ded-lfMertl RS iabrAl Alssy WAl %32 sl



ALl

gl Ul 2aY 200 €l B A dl derally w2 WelRHerl
cousS 1, i il daiedl %3 Al 2l g5d YU v (edsll dons
1 H{ler) ur d-dl dous wuadl Sl 9. o AL Wuugl s {leugl-l
Heedl Al uAle dAd Al wasa 8.

oL opoidl [Qardl %33 8 : (1) wdd ¥t 2 (i) wugHl Rl Yaussdl
yerd R Aeldl Gualdl sl »esid 8. Guid Cu 2t Al AR
Yalssl 9.

Bigl Mgl H2 A48 AU RIS M Al (it ide-alladl
L) A VAAMSAL AY Sl O,
ey P, = PR,

i, R, 2 %48 diRdedl a8,

Wy Pogaisdl de giuladt Gl diey 59 s,

% R daqialdl 20d dl, diRHigl YAR ddl YdlsHl geldl 49 2 el
dlyflud waad u ged. 3+l dlfl Adad dous andl. e, J Big
B dis l-idRd wal.

@ E, -l 4 94 X wa %ide & u4 E > E.
@) E, -l B2 830 X wid sdd O,

Va
) )
R
E E
I= : RleI
R+nR p &K
n
1+r11_10_1+nn=
1+2 n+1l
n
n =10
1 1 1 R . R . ) ,
—_—= ... +—, Mo __mihg_mhg 4EE5]
Rp 1 Rn RP R] Rz n
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3.24

3.25

3.26

114

wiRg =R, + ... +R, 2R .

— W

——— AW ———————
Rmi}i Rmax Rmax
q n H R A'l'l'l' A'l M

Rmm

| v 4 | ||
! ! | I"v
(a) (b) (c) @

wals W2 sk (b), R sl (2) "l Axded Hol ueld 53 8. uig
d Guald ousll (n — 1) 2l W2 (n — 1) Hol . sl (b) ui
walg > 2gld (a) 1 uas gl (byui wRsudl 2w < R, . ofld
WRua e Ad el 2aAd 2L 8. dd gl () 2 (d) AL Gulal
50 Rg > R, Wl 53 usl o,
6-4
I=5—==024A _| |_f_| I
E; L 8l a2 E, E,
PD.=6-02x2=56YV
E, -l 8312l a2
PD.=V, =4+02x8=56V
[Big B 2 [big A sl G Ralau- Al

L W)

E+E
=R+q+5
V,=E-1I = E—ﬁrﬁo
Y4l E= 2Er,
n+r+R
— 2n
n+rn+R

ry try+ R=2r
Ryo P
7107 x 05)?

ol

T A(107) —(05 x 107°)7]

Rp

R, (107)* = (0.5x107)?
Ry (5x107)2

= 3:1



ALl

327  2usladi edlel AR SIS u@l Wil (Branch)dl AuA A2asd wadld
B AW AU Y sl @Al wdla ¢, R R uiEl AR Udl

Veﬂ'
walg [ =——
R +R

WRHRS A Ve = Ve (V) Vo, o V,)
el WRHA B ¥ R =R (R}, Ry, ... R,) 2

AYAL wRLL 9.

ddl ol eIsML m=2RlL AdIRL A dl,
Vo' =V, Ry = nR,z 2 R™ = nR.
UM, Uale AMIA % W B,

328 BaAldl sl Hud AR
I =1+1
(3L oitonon (loop)l [Hum eIz
10 = IR + 101,....(i)
2=5L,-RI=5( -D)-RI
4 = 10I; — 10I — 2RI..... (ii)
() — (i) = 6 = 3RI + 10 wina 2 = I(R+19)
2= R+RpI V= (R+ R, AL A0 A V0 = 2V

10
Ry = 50
R R
l'l'l'l' qﬂ nﬂ

I
|

I

I:(_“ 100 _‘Ill R,

3.29 99 9uUgl = 2 units/hour = 2KW = 2000J/s

P 2000 _

vV 220
AlRML Way = RI2 J/s

— pi P =17 x 108 x—2 x 81 1ss
A Tx10"

=4 /s

=02 %

Al ML UldRMY, = 4h =1.6x4=6.4J/s=0.32%
pCu
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3.30

3.31

4.1
4.2
4.3
4.4
4.5
4.6

116

Rl 5 WR(RAFHeHl didl 94 R 6.
10xR'
50+ R’

2R" < 400 x84l R’ < 200Q.

<8 = 10 R" <400 + 8 R’

0XR" ¢ 2R’ >80 = R’ > 40
10+ R’

IOX%R'

— 2 8= 75R < 80 + SR’
10 +R’

R’ > 160 = 160 < R" < 200.

160 Q 2 200 Q L a2 R' 51§ 3t W sl
400 cm il diRell 6 B3 942 di% Ju > 8V.
300 cm Ll dlRell 9L 42 diey Ju < 8V.

¢ x 400 > 8V (¢ — dlwlRalaxn yua-)
¢ x 300 < 8V
¢ > 2V/m

< 2% V/m

@I1=2=1A=ne,A

1 1,
_ -1 %10
Vi T 10°x1.6x10°x10° 1.6 m/s

KE. = %me vle x nAl

- %x9.1 x10~31 xﬁxlo_s %102 x10~0 x10~1 =2 x10"17J

(b) »els 2y = RI2 =6 x 12 =6 J/s

2x107Y7

— s =1077s i Sasgi-n wdl % Gl pudl Bl

uszel 4

@
@
@
GV
@
(CY



oLl
4.7 (a), (b)
4.8 (b), (d)
4.9 (b), (¢)
4.10  (b), (¢), (d)
411 (a), (b), (@
412 Fusludan dozd ARt sl RedouRd sa w2, Mt _ B
.gB _v
=T
: gB v -1
tol= | B <[]
413 dW =Fdl =0
= Fwvdt =0
= Fv=0
F Aol u2 208Rd © % eld © 3 F 2 v 4241 5120 90° 8. % v
(Rau) seetd, dl F ([Ba) war oleald ddl Guadl ad ddiuy 9.
414 osluea (R 3 wR R4 8. wudiel GeMadl uRewd{l wdal
sl MEQ 3L H2 MR 34 uR 20Rd Al (FRua cllaslasiq —
non-relativistic physics)
415 58 RSl WABIA i Ul wABid 49, uel 6iA Dee's i dUfaHididl
Brosul clgaisl (.
416 Oy WA I; A ¢l osludia y-saeil R 8. ofl7l diz y-2ia-l [Rauxi
2l ol Yy B,
4.17 B=%(i+j+l‘i)"2‘—§
-1 _ | eB
418 uRMw@RRA AR gl [T =[] = [;]
419 E=EjE,>0,B=B,k
420 dI; Gur dI, A dlf awid s g 8.
dI, GuR dI; 1 dlf awLlg s g 8.
4.21 i, (G+R) =2 2V 2al w2
i, (G+ R+ Ry =20 20V >dld 312
T @4 i (G + R+ Ry + Ry)
=200, 200V 2al® w2
AG 34 2udl, R; = 1990Q
2O S R, = 18 kQ 4 R; = 180 kQ
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422 F = BIll Sin 6 = Bl

Hol

B=to
27h PI; il I;Q
PR

_ 4l Ll
" 2rh '

4l 4rx107 x250x25x1
27mg 27x2.5x10°x9.8

=51 x 1074
h =051 cm

h

423 R AoSlyasl A wld d €M, AR It = 0
Mgl = W_ 1

coil

500 g1 =W I

coil
W_. =500 x 9.8 N
Y YoLSlUAAL AL WML 2Ud AR,

Mgl + mgl = W_, [ + IBL sin 90°/

conl

mgl = BIL [
B 02 x49 x1 x 1072 13 B
T g 9.8 =107 kg =1¢
\Y d V,ldB
, = ylB=—2IB 1= =20
424 K= R 1=55 1 2JoR
V, d V,ldB
=ihlB=—2IB 1,= =—2 B
B=nlB="7 27505 PR B
'
wRewdl st =1 — 1, — .
1 V,AB ﬂ‘/‘
4J2 R F,

|
v,
BuR~l gulld ool (W) gulld

425 s 3 B A xadl RBasi 8. aduusk s w2 6 seli doruddl
y-z Al O, WA 3 9aAsgid 2 BRI Aol AsH p, wiA
Py, B ¥ 6id R Blosudl adeld [R3ust 82 8. 21 ol [Bg R
aduli M3ua s2 8. % p, 3 y-via WA 0 well od, d p, U
dedl o vl orid. AsiBd adoldi 3wl dopudld dol % ud R
AdR dlal ASH. SAsZAd Fw Ce ¢ WHRAAL 3 Cp wA [QaRl
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ALl

Ce~ll W™

Ce =(0,-Rsiné, R cosf) 9.

Cp~iL wd

Cp = (0,-Rsiné, % R -Rcos8) 9.

A oA dquill Sl a2 id 2R Sl 4Y €4, dl 6l dquusiz el
Auld 4d (e,

R 5 Cp 2 Ce a i d 8.

. 2
aell, d? = (2Rsind)? + (% R —2R cos 9)

2
= 4R2sin29 +% R — 6R2 cosh + 4R2 c0329

~

4.26

4.27

’ = 4R? +%R2 - 6R? cos0
d ¥ 2R Kl ay €ld B
d? > 4R?
= 4R* + IR~ 6R? cos 0 > 4R>

= % > 6cos B

wWYdl cosl < %

n=4 n=3 n=2

s : A=g.¢z2 A = 42 A=¥a2

ol M2 [Agdudle T 4wt 8.
doisly ASHAL m = nlA

Cm =13 3a21 33a%1

(U4t m ol Aelul )
(@) Bz 2 z-»a-l o Rl FEu 53 O 4 dell J(L) 2 L el
auqd, [A8u 9.
(b) J(L) + et »idel C u dwied = pl
Sw L o o
el 2idYl diet — 0 (s 5 B oc 1/73)
J(0) — pel
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4.28

4.29

5.1
5.2
53
5.4
5.5
5.6
5.7
5.8
5.9
5.10

5.11

120

_ WIR®
2(2:2 + R2)3!2

J“10 B,dz = Jq; 2(2#_2[22)3!2 Z

z=Rtan® @tdi dz = Rsec’0d@

© B;=

Jm B,dz ‘uOI 2cos9d9 = ypl

=/
(d) B(2) < B (Z)cuitn o]
LSy < S(L)qicn s
uig (byuidl ecldldl Gudlal s,
3Oz < S(OO)QQ[,UL
WU, i = 10mA ;-G = (i; —ig) (S; + S, + S3)
i, = 100mA ig (G + S)) = (i, — i) (S, + S;)
iy = 1A i (G +S;+8y) = (i3 — ig) (S3)
AE W 2, S; = 1W, S, = 0.1W i1 Sy = 0.01W

(@) A

L=

Mol \
(b) o7 R ol suy AO - dol

Ho T w
(©) — doll o1y AO - dol

uszel 5

©

@

©

(b)

(®)

@), (@

(@), (d)

(@), (@

@), (), (d)
(b, (©), (d)

eh - eh h
U U, —, h=—o
2m p 2m, 27

LLp"“

y, >> R, SR8 S m, >> m,




S5.12

S.16

FALON

Bl = poM!l = po(I+Iy) i H =0 =1

Ml = I, = 10% x 0.1 = 10° A
PN 28g/224Lt 35

-3 _ —4
e 8/ cc =524 10 1.6 x 107

xo 8ddl p. gd

N _5x10% uda wuRdui).
XCu

ddl e dslad addidl ¢fld 9,

wlazjetscd (slal wonlon) ddsgi-i-l sally alad dlf €l 8. ¥ awy
uidd ol [ deisly Aol Bt 52 8, el d A SR8l
ay AR wHd -l

QARARUY, i FARARIMY, Yoisly AL @l uidd Al Rl
gl 8. % cdludd Al dl . olsanlHi QAU G~ wd 8
ddl il uAlRBUAL drurt anael w2 8.

() doeisel €2

() Aotsle asHol solldfl el dRs

Iy 3m.F
- ——3

B ,m=m]€

4T 7
ds = F.r’sin0 do d¢
0<0<70<¢<

$B.ds = £ 30050 \25in0 40 dg
47 r

0 [0 Asaxtd 8]

yReudl m = 0.

sslul Aol asudl saldl B,

E(r) = ¢ B, p=%. Rgclld ea 2

gscaefl ALSHIAL UM D,

— ’I ' 1.1 ™ ' m '
T=2n mBI—EXIIQ’t‘im—E T =

AUl 2oisizl v adl B+l wu (@Rl d oy duel adl €idl
o ASH. WA 5 C ARURUA qu 8.

fra- 2
Hdl= |—.dl>0
Q Q'

qE Hdl=0

PQP

T

B |—
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5.21

5.22

122

Q

[Har<o

p

P - Q ol Yousl iex 8.

ddl H 2L dl A8 2R84 oi-ladl,
@) z-adl Rl

B=&ﬂ3

4T r
R s R som

dl =20 az _ Hom( 1)L _ L
[B.a Mzmj‘z3 2ﬁ( 2](R2 az)
a a

() R B adat 2 ool R

By= oMY _ o m o)

4t R3 4m R3
Badl = 1o > s5in dO
4nR
E—- — m
IB l= )uO ~
47R

(iii) x-axis «{l [22u™l

B &(ﬂ]
47\ X3
jn.dl: 0

() a Blosudl ada-l 2 owodl Rouxi
e 2
B-dl = 202 5in0d0, [B-a1 = -=E2%

41r:a2 47::.12

0
AU S5l g[)B.dl -0
C

x WRMRREA 9.

Inn9d9=

)

x 2 Hl el QRd adl Jesla asHel Gur »uR uv 8. H 2

e [Agdeu Huadl wnedly Sasgi-lia AdHd 52 8.

m GuR ddl 2 udle T gl wd 8, %l e olly uRen wda €
O, A% "poe?” A ‘fAadenr’ Q b wRMel ur R -l

X = u{,ezmOL vB RY

2 1 e? 1 e? GloA-{ardR
Ho¢ -2 go"cz a‘DR'RM o2
(21 = MoLoT0g0 = METZ e [EJB L' Q°
LT T

N"



FALON

a=-1,8=0,y=-1

,uoez 10 x 1078 —4
Z= ~—Zr o~ 10
mR 1077 x 10

My m

. 2 . 2w1/2
5.23 Bl = ——(4cos°0 + sin
@) IB| . 7( 0)

B’
2
( Ko ) m2
4nR’?

| B| 2eisla [Ayagd U yridd 8.

/3 -
=3cos?0+1, 6 = = WA A,

N . B
(i) Adlsi (dip angle) tan = B—V = 2cot
H

0 =% W wdlsier g o 9. Yol [Ayagd s3el dAlssu A 0.

(iii) 412 % =1 AR Adlsia (dip angle) + 45°.

H

2cot® =1
0 = tan12 AlssA @A B,
524 Aadd sl Agol dl
1. P [Gig S uxdanl O,
(Mu G drs MEa $3L.)
[Rsulasiel (declination) = 0
P 3 eisld [Qyagd w2 ua 8.
. Adlsiel (dip angle) = 0
2. Q ¥ sl [Ayagd w 8.
. «ldsiel (dip angle) = 0
uiq [Rguidsier = 11.3°

525 m= L Ny = L
’ 1 27R 2 4a
m; n]lA1 my, = n21A2
L L L
- —mR =—1a*> ==1Ia
2R 4a 4
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6.1

6.2

6.3

6.4

6.5

6.6

6.7

6.8

6.9

6.10

6.11

6.12

124

MR2 . = - -
I = > (wiell wAR adl 515 e udaald wsasdl AsAL)

usel 6

©

(b)

(@

(@

@

(b)

(@), (b), (d)
(a), (b), (©)
(a), (d)
(®), (©)

el 516 el eudt afaul 4 dlaell aUddle emf d 8. Yois RUR Slal
AoLSUAAHL AHA A 3812 adl Al AL wd Aoy § S5 o [gd
doisly ol Geotad «odl, dedl uRuaHl e wAaR adl <l

ualg 48l dikq visellonell g2 viaal vud 8§ AR dudl a2l adl @i

S

sasy die (dedl) a8, aorl Rud yaor ARd [@edaas s 2

IS

gasidl (AR 53 8. ¥ yadl [Agandie-l awuel wy 9,

o



6.13

6.14

6.15

6.16

6.17

s
®©
>

000] [chO]

@
Cc

6.18

mm===zand

6.19

eI

wale 83l %, U AAAASML dvisdl ool (core) Fdl ema sl
§d B 5, YoslaBanl qRl wWd B A sEsAA q%uit QY 8, Aol
[ yoret AR Rgdaias oo w1 adiidl [BAR 52 8 3+l yddl [ed-
wale "2l gl A 8.

el gl Rowiell S5 o sasn ua ag el e Romiall daue
WAR S U B AR ddidl SUsA AR Ay 8. Aol [Fum vidqR
2L oquRIAL (@AM 2y B ¥ AR ¥ W oA 3 R Rl A0
g U sl 6,540 ealda [@oidl wrel 0 sedid [sAwa 53 asy
0. A AWANSML s 2uslnl eulen yoodl d, d sasi (A
deell RaMi)Mi atiRl w9 @A dd S8 Fonil [@Qus wdl Raumi
(Rordl Guaell 2di) s €l § % WAAUSML addl alell [Auld
Rasl 8. 2 wtdl Asofload st 8, dedl For Gu ds Glasiy 9.
U AAANSHIL YAIR Al WleHl BaUdl wd B8 AR [Ropiidl addl
walgdl R AAASAL gl Runi o gl 8. uReud w1l
AARWHL ol @dld sl Al 2l Bor sidolld Gua o WA sdolld
Ror wa-l Gur drs-l wiBu adl sl

ois W2 el wdwnl 218 uagl Gout i 8. L walel Aoisil aladl
QA8 523 el oisl Rl Aol dRcAuddl sl 9L Sl B,
6l dg [Birotslu dlvigel AL 218wt Beurt 52l el dell d oRedly
WALl U S50 U WA B, M, ois (A piiddl W2 4y uuy Gl

[Roriell W aud sasu
o= Bo(iraz)cosa)t
g€ = B(;mz) o sinot

1=B(7a®) wsinwt /R

T 2 .
s = —; I=M Rawsi
20 R
t=Z. 1=0
(0]
_37, B(ﬂaz)a’ N .
=5 1= s (e2usul

ol Ynl M2 gAsAL walol A MOl SIS wel yeuisdl yuR adl
Aoislugial euilel Aval 2Hed susA. (82150 AA L BHL dN = BAA
gouil elRl wsin B.) Yoisluadal B o<l &xvudl d iydl
sastaiel d-l uzsid adl el (dpdl eluouon A B). yw S Hidll
AR adl daveudl v gedl o Avadl Al Yy S uiddl
AR ALY 6,

Alcsly [Agasiat st 2@ CD At U (L A B ol dol 2iq
v x B+l Rwxl) =
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6.20

6.21

6.22

6.23

126

PQ W awvii EMF
= (PQ -l dous) x (PQ i [Agydaiat)

= d x UBcosO = dvB
cos @

N dvB . .
adl IZT o dloydiz gl Wda 9.

AB Ml dalgrl 38R+l €2 Hedd 8, Yl 5s < £ < 10s 92 HguH
back emf Geaiadl.

dl
il [r=3s,g=1/5] W2 u=L-1/5 (L »30 9.)

Ss < 1< 10s W2, u=-L3 =-2L =-3
§H, £ =7 s WA u, = 3e
10s < ¢t < 30s 12

12 _L_1
Uy =Log =11
t> 30s W2, u, = 0

e

=2
Ry, WS, = 102
§e54 =5x107 x1=5x 10 Wb

QL 5, £ = 0 AMA AN dR y = 0 At y = d WA O w4 AB

= 5mH

x=0u2 8. % vi Pl A K B.
[ AHA AB dR x(f) = v W 8.
Aldsle em.f. = (Bysin ot)vd (_j)
OBAC Hi #udi &l 3814 5128,
em.f. = =B o cos ot x(t)d

$4 em.f. = —=Byd[wx cos(wt) + v sin(wr)]

[o]

OBAC 3l dlwyals (uxadl Raumi) = (wx cos ot + v sin ot)

[s]

i Rl o33 s = (@x cos ot + v sin ot) x d x B sin ot

B %d*
= OR (a)x cos ot + v sin a)t) sin wt.

@ WA 5 A4 drdl Rl x = x@) 9.
s = B() [ x (1)

_d¢ _ _dB()
dt  dt

Ix(r) =B@®)I-v(1)

(ol we aulsla [Qgdaas oad 518 8.)
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o A
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Y ©
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C o1 D
Ape 2l »B

ALl

I=—E
R

=@[_@1

R dt

d?x I°B dB
m—sj; =-
dt R dt

UB? dx _

mR dt

o x(t)—B(t)lv(t)]i

I’B” dx
R dt

x(t)-

d*x
dt?

dB

dt

(i) 0,

’B?

mR -
—lszt}

mR

dv

v 0
dat

vaexp[

r=0 W
v(t) = u exp (-I’B* t/mR)

u

272, 2 272
Blv(t]xR=Bl

Gi) I°R= . u? exp(-21°B*t /mR)
R R
¢ 272
_ 2 _ BI 2 mR 242
Ylaeyy, = 6[1 Rdt = = u W[l—e“ﬂ B t!mR)]
_ ﬁ 2_ M2
= U=V 0

ARBAHL adl 82Ldl

AHL 1= 0 2 ¢ 41 «{l a2 AL OP, o2 BD w1 AusHl

w

A - - b/
A 89, AR UHY O<t<—.
4w

A 3 Aus dous 0Q x %edl 9.
o150 ODQ il uAR ud AU

¢ =B QDxOD = BL! tanf x I

Bl?tan6 oui, 0 = ot

L
2
2 Ad Geoladl emf 4y

d
€= —¢ = Blza) secza)t
dt

=

~ £ . . . ~ =~ ~ ~
WdL Y T =§ %dl, R Q'L'l-l.g"l.L WAl AUl A9 9.
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Al
cos ot

R=Ax=

Bl’w Blo
sec” ot cos ot =

b=

24 cos ot

T 3T . - . . .
AHAAAL — <1 <— 3] AL, Mot AB AL Ausui 9. Aus Al (0Q)-l

dous x é‘m dl OQBD Higl AR ud sUsA A<

2
LI 2 tan 6

B°5?-Li,6=cot

d¢ 1512, sec’wt

24, emf 4 H& 8=?=

2

r 2 tan*ot

R ad wa == =% = gsin wt
R & M

21

=~ 3w T H = ~ g 4
WAL —= < t < Pl AMA OC e sl 9 dal OQABD iyl

WAR dd sUsA
2o

2tan wt

B

(
o = Lzﬂ _
e emf 4 He,
_d¢ Bol’sec’wt
dt 2tan*wt

1 Bl(ﬂ
2 )\ sin o

£ _ £
R x
6.25 dwrdl r wedl id2

B(r) = 2o

27zr

(Qusl yreuidl olglR desg)
qu AL AsAA §A FUSA

I

zj'd" ‘”0 In—
L£_£=I=ﬂimi
Rdt R 27 R x,

128

A€——

I —>B

dr

>

&

€ —>
€— ~

—
—
=

A 4



ALl

6.26 ol quuigl uAR udl ws I(7) €|, dl

1d¢
I(t) = ——
® R dt
fAMUML uAR Adl dlgeur Q €M, dl
dQ dQ 1d¢
>B I ) = — —_—  —
® dt Al dt R dt
L+ x

C

l Asart s, Q(n) — Q(ry) = %[tb(ﬁ) -0(12)]

L2+X
o(n I 2 1(n)
L
_ ﬂO lI(fl)I L2+'x
27T X
. L L,
dlooird ¥et, Q = Hoo 1, +x[I - 0]
27
_ ML, m[Lz +x]
27T X
B.-7a*

6.27 272bE = EMF. =

oul, E Rl ol o ks Geowda [agudaial 8.

A5 = b x o = QEb = Q[B’mz Jb

Ba?
2At

- Q

S0y oMMl Ydl 3381 AL €™, dl

2
AinLéxAt:QB%

wils sl doiid = 0

. N . QBa’
2RM Held Aopud = mblo = -
QBd?
2mb?
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d’x . Beos 6d

L C P
628 m % mg sin R % (Bd) cos

V= —— 4 Aexp[_
(Bzdzcoszf)]
mR

(wul, A WRMs REfA2 el Hada x1q9is 9.)

mgRsin o ( [ B2d? 2 ]\
————— | 1-ex
Bzdzcoszﬁl\ P mR (cos“6)1 J

-

6.29 ol FuRier uadl dlyeiz Q) €, dl
(Al Y Adl B ds 9.)
vBd X A
R RC C_I_ gl:; v 4
I h
Q + dQ _ vBd Y B
RC dt R
. Q= vBdC + Ae~"/RC
= Q = vBdC[]_,~/RC]
Q4 £ =0 "2, Q = 0 = A = —vBdc)
Risadt sdl, T = %e_” RC 4.
630 -LL 1 1Bd = IR sh "
dt ] ©B T
OB
—aV d
dl L% oB| OB
L— + IR = vBd
oB® oB
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= YBL e Ri2

vBd
t=0WRI=02A=-——r0
R
vBd
I = T(l_e—Rﬂ'L)
6.31 AL FWIAL €2 —q): (%) B — dt
7l*B A
I= v
R
(nl*A)* B, v

Qefcdy wladss = 2 R = =

dz ~ &
2wl GloAcy, RAMGAL 381 PE = mg gy = mgv i wy Q.

(v 210 &eud 5129 ARGl AN V)

12AB,)*v?
R
mgR
UYL v = .
(71*AB,)

6.32  AA-lEs S sR8L Yusludia B = pynl

Al ool Aeisly sas, Ul ¢ = NBA 2ul A = 7b?

w2 e =40 _—9(\pa)
dt  dt

2d(B) 2 d
T T ” (tonD)

2 dl
=—Nznb —

v

= —Nn 7:,uob2 %(m:‘2 +C) = — yygNn b 2mt
t

e = —u,Nnnb?2mt

WRA emf i 4ed, And WA 2uglani ealed Yool oledld B, U 1R
Mol AR emf -l [@A4s ugla wad 8.
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7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8
7.9
7.10
7.11
7.12

7.13

7.14

7.15

7.16

717

7.18

132

uszel 7

(b)

©

©

(b)

©

©

@

(@, (@

(©, (@

(@, (), (@)
(@, (b), (¢)
(©, (@

(@, (d)
dotsla, Gl AAGAR Ae3u A [AgdGleian REQGeAN sid3u 8,

Gl 2ugkat SR ~ e Alfe (Ruisen 20)) A $is2R ~ llust
Uls (Aiseu Glall). unded wRua Z ~ R, + Ry uglini ealew 3ol
Hal,

R,
AN b— lEl lIl{ﬂ
R R
— W AW =>
~)
& ©;

(@ 8L, A o4 uRuani ms diey A B, dl udledl Rkl
LCR ML rms Rals edl % ¢, %edl YRuy R AL ¢4l

@ -, sR2 3, R < Z, 2, [ > 1,

8L, -l

gRipiia - 2434 GwlEge

wul, 1 =

-



¥ uglnl ealdl 8.
Ao =12 — 0.8 = 0.4 rad/s

719 1= 1.6A »igladi oes vudl ealda 8.

ALl

34
T 2 ..
1l o1f —
S t
= _10:: T 2T
E%:
_3 -

720 Rl g A geel dd
721 (a) A

(b) %

(¢) L adl C »aal LC

.5 1.0 1.5 2.0

w(rad/s) —>

w§gAle Ggn YA

722 ac. el R Geari-l 2ugft A oledd O A 2sdA oo AR
gt ad, el wasdl Rl @da €u dar dpudi+i udni ac.
AR AR S2el U3, A G Ul s qud © A dell Al
rms HEdl AvAd 52AUML ddl Gudldl AL a6,

7.23 XL = oL = 2nvL
= 3.14Q

Z =\R?+1?
= {3142 + (1) = 1086

~ 3.3Q

tang = 2= 314
R

¢ = tan~(3.14)
~ 720

272><7r1_ad

180

p 72x 7

1

AMLIUL At =

>  180x27x50 250
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7.24

7.25

7.26

7.27

134

P, = 60W, I, = 0.54A

60
VL = o =110V

2LASIHR VUGG B A B2y diRy $-ye diy sl UL B,
- . l _
adl, i, = 3 x I, =027A

SRR @21 92 viderAl A rid Sl dl 4 dldimigl Q..

Walge dage gdl eq -l aul ARl W@l a2l ac. di@y Al

A AR W@ Ausdl RgdenRd w1 RgdleuRd wy 8. sURewiel

UAR Adl UAlg A L clecldl Fdl diy (adl [@gdou)d wReuw 9.

el Al Al ay eell oleatdl dl SUReAI]L Al YAl uAR w3l ed

5, 9 Ald-l 09 ay €. > HAd B8 § g Al SURe-l Aisey
1

€2 9 dd Y —= R saldani 2d 8.

crobetl [Ham AR Os522 back emf Gt $31 WldirilHi YRAIR Acdl Wlg-il
QA4 52 8. AR dlew-l gdladl (polarity) el d €l & 3, uaus-
Yo He wadls W@, A HalsHl 828l Wy dl, WRA emf <l gelludl widl
Ad el § uaenl a4l @y A 2l Glag u wsd 8. URA emf
BoUAleAl SSIRML el ANHRAHL O, vuefl A WAL £ Ay el dl
d Nl dg A {2l s Y wdl. B, A Ala-l gl ay
gl w2l ased A gl AnHRHL €l 8, d Y&l oL 93
AL 2 8.

V2 50000
Yl P—7:>m— 25 =7

72 = R? + (X — Xp)? = 625

X=Xy _ 3

tan ¢ = R .

2
_R24(-3R) = BR2
625 = R +( 4R) =R
R2 = 400 = R = 20Q

Xe = X = 150

I, =2 x9=126A



POl

AR, Xo ¥ X o sadl 2d, dl fand H S8 uRad ud
8.
Z 6HRIL Y9l, Wl ML Yl

Yl 83l il Al 9.
() Cu il kel a4

I 17x107°%20000

R=p—= 3 = 4Q
A 1 —4
er(2) x 10
~ 10 10° 4
220 VU I:VI=100W ; I=%=0.45><10 A
RI2 = Waqy

=4 x (0.45)2 x 108 W
> 100 W
2§l Ygld W 2AFad w2 Guael <l

@ VT =105 W = 11,000 T’

L 102
I' = w 10
RIZ =L wax10*=33x10*W
1.21
: 33x 10"
Ryl AR = ks 3.3 %
. ) . VpSinot
Rll =v,sinot i = T

2
q dq :

C dt

QR % 4> = q,, sin(ot + ¢)

am [% - L(g2] sin (ot + @) = v,,sin ot

v 1 2
qm=—L_']’: 2,¢=0,E—co L>0
C
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v

=—Mm 4= gle?-Ll
VR Lmz—%"b 7 Lo c>0

d
Q=%=mqmcos(a)t+¢)

. A ~ 1 2
i 2 iy W sl el el ade 3 oS- oTL>0

Vy, Sin @t N Vin

i1+f2=

R Lo -

¢d, Asinot + Bcos ot = Csin(of + )

Ccosd = A, Csing =B; C= \/A2+B2

2

a Y
ael, I1+12=[

o = tan™!

1
i} vmz 2
2 T 2
R [l =1/ @C]

sin (ot + ¢)

{ 1 1 1/2
-t —
Z {RZ (Lo -1/ &C)* }

qi

p
7.30 L.-:;: +RZ+ L - L

C

F81+L €2

Ri2 = o Goiey

1 = —
dt dt

ﬂ d(l

= Euz) = $wssernl AYdld Glad-

d( g° NN .o
%i = —[‘f_] = ZURewL Ald G-l 3sRAL &R

dt \2C

5010 gRL GloAdl 381l 82 = vi % (1) 2AleMs AU i (i) d€ld

Glosl atRAML w9,
2

dt
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q6ll
T
0+ (+ve) = Ividt
0
T
Ividt >0 %l st-dsldd dlst 23005 €M, dl
0
731 @) Iq, R 9, o
' dr’ d Cc "
gd, g = q,, sin(ot + ¢) = —q,, cos(of + ¢)
i=1i,sin(ot +¢) = g, osin(wt + ¢)
by = om > I =1 ¢ = tan™! [—XC _XL]
Z R+ (Xc-Xp) R
) 2
i) Uy =4Li%? =1L = sin” (oty +
@ Uy 2 2 [\/R2+XC_XL)20 (01 + ¢)
1‘92 1 Vm ’ 1 2
U =5—=— — cos” (0ty +
€ 2¢c 2w RP+Xe-Xp)? | o (@ +)
(i) adat 9ldl, d As LC 2ds 8. U Ry ud ¥l 2 ol
God L A oA 2 20 uBdL G2l daul d- Ylad- ag e,
yszel 8
81 (0
82 (b
83  (b)
84  (d)
85  (d)
86 (o)
8.7 (¢
8.8 (a), (@
8.9  (a), (b), (©
8.10  (b), (d
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8.11 (a), (¢), (d)

8.12  (b), (d)

813 (a), (o), @

8.14  [Agayasly ddll da gedlod €l 8. il ARl el dal [gdly/
Aol @A AU Slg B,

8.15 wdsdadl gl welw 2« 2y 29l Wl Yo
Sl 8.

816 i.=1i =£=—27;q vsin2zvt
e =1p dt 0

8.17 29kt sewsadl Avisen X, =% Al © % dgel udlgd "alsl We U
(0]

O, w1l Bl ip = iy 2l @Al Yl w12 8.

1 B lx3x108x(12x10_3)2

818 I, =—c—2= —— = L7l W/m®
2 g 2 1.26x 10
8.19
T =21/
—
B 1T
E

by

820 [Agadeisly (EM) doll B eonsl Bt 53 8. gdgedl yeodail AR

= A=l =

(Zeldl (Solar radiation)d 128 8.

821 B= Ho2lp _ Mol _ Mo e dog —
) Anr  4nr  2nr ° dt

_ oo 4 pry2) U U
27nr dt

_ HMogor AE
2 dt

822 (@) A, > WSSA (A8 dl), A, - UV (degariaz)(wrsiodl)
A, = &30l (X-rays), A, > WRsd (S8128)

(b) A, <A, <A <A
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(€) M5 — WR
UV — v+l LASIK u%3]
a-Rel — euesinl otdidedl o (giesi-ll Almaeyds duiu)
(bone scanning)

YRsd — i[R@sd ALAHdLR

823 dl dd, S=c%,(ExB) adl dq,

T
S = €26 [Ey x By|— [cos® (kx — or)dt
0

N =

1

2 E E
=c EOEO(—OJ x = (3[2@{ 3 c= —0)
c B0

_ | 2

B2 1
= — 4Ra 3 [C = )
2440¢ Ho&o

1x1073 = 2 x 100 %Y
dt

N L10% = 5% 10% Vis

dt 2

20, 5 x 102 V/s -l sleclldl REQAHIAAL dstad dwy Wl SR el
QAR yas Uel 531 sy 9.

825 eolsl
7

1 U _ o
A e (ApC = AU = a¥L gru Ar wweet sl Gad)

o
DEEL]

P

_F
A

z|&
&

= dOUHIAAL $2812+ az)

| =

1 U
— |dlsial I=—)
C(g' AAt

8.26 dladl 8lld Al ocpaidl Ul WH Udld sRE, FH uslad BRagw
4 Aotgoel ololld [ARcRil MA@ WMl A FAldl, Y duR sdld
el 2 ddl Al dladr s waad W8 8.
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827 EM ¥l ([Qgaeisly ddi)ul [@gdast €fdd ad &t & ddll

8.28

8.29
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art sRA RgdoulRd so w2 dold Redl oa ua €lid 1, yals
Avall A5 U 2 Rgdld ol AW Hed Y AY B, 303 85 ndAs
el ddl Rw Qaein O, wudl, [agdaa a0 (@G eoun e
galoielz el

E - e, ;
27e,a

Bt i
2ra

_ Juaj'v {
2ra

szi[EXB)zi[ 2;“15 jxauo AU;)

> o\ 2me,a”  27ma

—2 -~
ka

4Ar’g,a’

NS N . ~ ~ V ~
wel a2l »id d dl 2l [Qgasa E = ?Osin(Z::rvt). AL [Rum

yel, dgd ualgHHAdl Ml wsA.

1v Vo .
= J° = > F"sin Q2nvt) = _p:i sin(27vt)
= Jgsfn 2nvt
. V,
¢ _ Y0
wui, Jg =L,

RUAAR HalgarAdl A Hwer 2l wsiy

74 = SE = f;i {%sin 2 VE)}

dt dt

e2mvV
= %cos (27zvt)

= Jg cos (2mvt), %ul, Jg _ 21V,




8.30

ALl

19 2mvev, pd
)¢ d V,

o

= 2nvep = 27 x 80¢&,v x 0.25 = 4me,v x 10

10V
9%10°

O | &

() QAdR ualsaddl (A4 Aol wdl Wl wsy

dE
Jp=6—
D =&,

2 -
= gy Ky Iy acos 2mvr). In [2] k

- 6'_2102;:1/2 (=sin(2zv)) In [i] k

2
= [K] 27 Lysin(27vr) In [EJ k
c s

_ %2(27”]2 I, aj d[if IH(ET.SI'D(ZEVI)

2 2 1
_%(27”) 106[]1'15615. sin(27vt)

a 27

2

2 2
=+[—) (7) I,sin2zvt (.. %i.!setv-t':t; ey -1 €.)
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8.31
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(i) qSE.dl _—dds

(i) W@-ld YaLs

2
I* = [g%”] I, sin2zvt = Igsin2zvt

I _ [%T‘
I, (2

) qSE.dz = 2jE.cu +SjE.cu +4jE.dz +1jE.ca
1 2 3 4

H

k

dt
Alseu(1) A (2L Hadd AoibsAl Gudldl 530 A AWE 33U Al
e {12 oo wdlse Ha
th [sin (kZ2 - ot) — sin (kzl - ot)]

[s]

kh o [sin(kz, — ot) — sin (kz) — o1)]

() $B.dl < yer Aadal, uglani ealen WA 2wud oitoudl 1234,

YZ uMdadl [QaRl.

E-Ei|] 4 ___E 3
di
2 3 4 1
- j’E.cu cos 90° +]’E.d1 cos 0 +j’E.d1 cos 90° +jE.d1 cos 180° hldll g g|dl
1 2 3 4 1 E 2 .
= E h[sin(kz, — ot) - sin(kz, — wt)] NOERE
B=B, j
y
xh
(i) _[ Bedso@al 12, U8 oA
1234 A €35 ds = h dz a2s0 HAddl T a4 3
wglpllefl oirel [, B Il a
1 ds 1 2 R
Z, Z 4y &
[Beds = [Bds cos0 = [Bds = [Bosin ke~ wr) hdz BB, ]
h 8 y
= ——[cos (kzy —ot) — cos (kz; — ot)] (2



ALl

c;SB.dl = 2jla;.al +3jB.d1 +4jB.d1 +1jB.d1
1 2 3 4

2 3 4 1
= _[Bdlcoso +IBdlcos 90°+_[Bdlcos 180°+IBd100590°
1 2 3 4

E=E i
= Bohlsin(kz; — wt) = sin (kzy — ot)] 3)
1 da 4
B-8i/ af B ol °Z :
’ 4 5741 gd, op = IE-ds, ARl HIZ V8L doRRY 1234 4
2 gfm 3
v €35 hdz 82150 HAAdl uglaiy)l oddl [[RL
Zy
o = [E-ds = [Bds cos0 = [Eds = [ Eqsin(ke; - or) hdz
Z
— Oh
= . [cos (kzp — @t) — cos (kz; — wt)]
d E h
. e _ B0 ke — ot) = sin(kzy — ot)] )
dt k
dog
xu Bodl = (I + _) |
(ﬁ % %0 dt L
1 E-Ej [ = aguals = 0 (Lralasiaml)

: _ dég
1z, _dz_z CﬁB'dI_%g"T

t
B=B, id ih’ /7
: % dl AH5WU(3) v (4L WA Asiuddl GUAdL sl A AE 3U

2
y wudl, suuad A yye w{lsa wa

By = Eg

Ey o
B, k &
0 {3‘ 0

1
MYl ¢cc = .ol ¢ = )
H & ’ VHo&o
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8.32

9.1
9.2
9.3
9.4
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@)

@
@
©
()

E - Aot 81l up = 260E°

B2
A - 1
B - &a-il sloll up = 53—
Ho
3 2 B2
s G 8rdl u = up +ug = 750E +%z (1)

-

E2 27 B2 Al yedl Bigdll [big i aell as oeaidl €l 9.
218, E2 i B2 Al 2515 YRR du«dl aHd AR 9.

2 2r0:2
(E = EO [sin” (kz — t)],,

2 _ 2 _ p2r.2
B9, = B, = By [sin (kz — wt)],,
sin?Q el cos?0 L Huavll w51+l Ad AU B, W % F2dl AL
Sl 9, 2l 5in20 A cos20 Al AR el m -l S5 uaL yals

ABUS U AHIL % HAL dal

sin?® + cos?0 = 1.

. ~ a . =~ . a 1
el AR AR 5in?0 o AW = cos?0 ¢ ARAA =
2y —1p2 . (R2y - 1n2
o (B®)g = 2E§ ¥ (B%),, = 1B

wdlse(1) |l [(Bud 3,

750 1 (2

4 7 @)
(b) 2w el el 3,

E, 1

—L=¢c ud c=
B, £ &

B2 E2/c¢* E?

1 Bo 0 0 1 2
= = Ho&y = T E0ED.

Yy Ay A 4

well, ug, = 16E] + LaEf = 15E] 214

usel 9




9.5
9.6
9.7
9.8

9.9

9.19
9.20
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(@), (b), (©)
@

(@), (d

(a), (b)

(@), (b), (©)

alesil WL Sdl Ald 01 HIZ dasleadls 00 9. el A U Bud
AHIAR ws oflon cid ot wstael uviellii caieoll o1l us1aL xa
d2$ daul aisl qadl (asletad ay wHdl). suel dieoll wsie W ssdeus
dld W5l sl 29l el

Al s we [ise e[ (near vision) 25 cm 8. 51§ dxdd 10 owell
HEl Al e,

D

m-2 = f===2-25-005m
f m

C 40 g

P= 0025 40 e

Al, d=uq Gazladul wibiodl R seald -lR.

WL 5 W p didl wadisd sl argHl el Glad 0, 8.

o,-t2h
M 3

W p, il vadis sdl suewdl Glas 0, 8.

o 5eo)- 52842
o\ 3 b\3 13 Mo My

o8l vAlst s, 2euvl Glad
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1 (h

0,-—(2.0 A T
’ ﬂ3[3+ 2] h/3 B o,
1[h h '
_ _[_J,_(&J,&H h/3 ho o,

Hy| 3 3\t H *
h/3 i g
=E[i+L+LJ ) i
S\t My Mg ®

9.21  agdd [Quad we,

Sin [_(A"'ZD"‘)]

H=—T—"TFT5—"
sin(ﬁ)
2

~ D, =A 24 B,

sin A ZSin%cos% A

=== — = ZCOS?
sin sin=-
3 A

A _ N2 A _ a0 . — £no
.cosz—z%mcuz 30° . A =60

922 WAL ¥ axdrll 6 B MAsH wy = u — L2 2wy, = u + L/2, ¥id2 8.
wiell, iy — uy] = L. 41RL 5 & D410l ulalbiell 2Asi vy i v, 3 A1y

8, el wiabiordl dous L' =|v, —v,|ad. L + L = L sjgq v=
u v f u—f
A A ~ . f(“_sz) f(u+L!2) ~
el o Al wlalin v = T, vy ="————=" y3 &al.
u—f-LI2> 2 y_f+L/2
fL

wl, L' =lv—1l=
P2 (u—f) x4

axgell doud el O A ddl FrmdouS sl Wlel wid uvdl 8.

el WA L2/4 << (u — f)>?

2
f—zL Hadl.

2uefl, wHlseg vl @gu L =
u—f

923 usld uRell, gl @ul udal 2wwaBedl Ru AM 8. dawdl aul ugl
Al B BM 8. oid Buaddi asled B AM -l R
A % D,
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9.25

q6ll
1 sini _ sini
K sinr  sina
. a-R
sini =
Jd? +(@a-R)
sina =cos(0—-a) = atR
Jd*+(@-R)?
2 p2
Lo . a“-R -
Budl Hsdl, d = A ) "o 8.

J@+R)* - u(a—R)?

A Adel slUAMl AL el dld, dl drq Yed e 00" €l 0.5 cm L Gl
dld. 2l BRuw we wabisn tuqHl Adl,
111

v u f
1 1 1 1 1
v u f =50 25 50
v = 50 cm
Heaell m = Y-_5%0 = 1 &,
u 50

el wlbion Yael 50 cm 2l pd gl 0.5 cm 12 2l 2w d
sal Al W wRdl v adl X-wtasl wua wlabior  ww
(50 cm, =1 cm) 9.

1 1 1

Aruel Yot A el u A v ell waliddl s asy 8.

d e 8 5 udl ol wsudell ® %5 u-dl W2 walbion usel 4 .
il dl 5 uedl R A © 5 2w dn O WA .

§Wél, = + v = D w4 9.

=>u=—D-v)

L BHd A=udl YAHL s,
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9.26

148

v+D=v 1

(D-vyv  f

=1V -Dv+Df=0 : |

D +D?*-4Df
= v=—i———

. . D .. . D +D*-4D
28l, W RAR — ————— O, dl wllee -+ Tf

. D D -aDf . . D D?—-4D
ﬂngt:udq—+—f&9,dlu[?tmot?—+

> 5 A el

2L 6L ApidA W Yl a2l dR

-\HD2_4Df_[2_ D2—4Df]= D2_4Df &,

2 2

~ D d ~ - D d ) =~
Wou=—+— dl wlalsioL v = S -5 W el
R D-d
deasll my = 5T
N D-d - D+d
u = dl v =
2 2
D+d m, (D+d)*
Weawll my = —— el —= = (—]
D-d m D-d

=

QA 3 dsdldl A d 9. % 2B O WAL S (2usi) vl wwdl

d .. . :
Wl Py dR sl w8, dl Big vie ua %l

YA 5 UULASRL [ 6.

208, sini = =

v



ALl

~ dl2 )
gd, T = tani

d —
- ?=htani=h[ #2_1]
2h
Cd= .
p =1

() WA 5 A dRMes Rl wiv e g Bigyl (far point)
W Py 0.

YURAHS A= (corrective lens) A& g2 [Blg U dqid o 8.

1 1 1
?—g+m—50D

P} =
BUAHEILS RAMAHL vl AL AL VUSRS UG L 2L 2L A™iAL

WeR Pyt AU Fedl sl
S P ' = Pf + Pg

~ P, =-10D

() AHR v HIZ dl WG 4 QAR 6. HIRL 5 AL i 2
"wsil eMe-audl PO,

adl, 4 = P, — P, »taal P, = 64 D.
Wl 5 dws By x, 9. ddl,

1
L+ L — 64 ama — + 50 = 64
x, 002 X

n

1
X, = 7= 007m

(iii) 224l & Py = Py +4 = 54

1 1 1
54=— 4 —=—+50
x 002y

— =1
X
1
Xp =7 =025m
i viuwdsieel el ed ad SS9 BRa awdl AC s %l A
AW AC wR dol wl silasial sl WEl vell (¢ ) orid dl,
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9.29

150

1
= sin =2 —
y7;
1
= cos r = —
7]
5 1
N4l 1 —cosr <1 — —3
7
2 1
i.e. sin‘r — ?
5181 } sini = u sinr
1 1 B D
? sin%i <1 — ?
wdl sin?i < g2 -1
- T
QYR | = — é.%l t’-LR 'L*Lkl.l ¢ ALl ﬂl-l.l é.%L °5L d ﬁl[&.‘sl@L Sl HLZI.

Sl QR t:uslru ol AMLASIEL sifAsiel sl Hiel ¢l

ael, 1 < p? -1

vl p? > 2

=>p= 2

yaldlil x 2 x + dx A2 2dd Bl vls ool [@QARL 3 'Rl 3 x
WAL 2UULASRL 0 A WAL 3 d y GRS Wl dMHL elid wd 9,

aif andidl dlfl A x + dx WA 6 + do Wdl y + dy GRSA sk lsudl.
dAAL [HUd AR,

n(y) sin® = pu(y + dy) sin (0 + do)

du
2YdL W(y) sin O ﬁ[#(y]‘*'@dy] (sin® cosdd + cosO sin db)

= u(y)sin® + u(y)coso dt + %dy sin 8

YAl 4(y) cos® dO = _j—'udy sin 6
y

-1d >y e+do
do '—-——‘udy tan © Y +dy)
u dy
. dx
ud, fand = — (2usld uzel) )
dy . dx
= d
L do= —Ldx
p dy




ALl

=;d_j’
o

930 7 A r + dr dd 6 AU [QARL WRA 5 AU 7 WA Us O vRl
AL WY B ddl 7 + dr WA 0 + dO vEl ek sl B,
el [Fud vy,

n(r)sin ® = n(r + dr) sin(0@ + do)
) dn . .
= n(r) sin® =~ (n[r] +Edr] (sinB cos dO + cosO sin do)

~ [n[r)+%dr) (sin® + cosO dO)

(sl dRusR ALl

n(r)sind ~ n(r)siné + %drsin@ + n(r) cos6 db

dn do
—_—tan @ = _—
= o an n(r) &

2GM [ ZGM] dé dé
> tan 0=|1+

3 —_— e —

r2c? dr dr

Td@ _ 2GM ‘]’-mnedr

2 2
C r
0 —00

=~ =~ R
8d, 72 = x2 + R? . tan 0 = —
r+dr r X

2rdr = 2xdx

3
0 —o " (x> +R?)?2
= Rian ¢ ¥sdl,
dx = R sec? odo

~ 2GMR "¢ Rsec? $dé
i |

c? R sec®

-2

2GM "?

= R Icosd)dd) =

—7l2

4GM
Rc?
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9.31

9.32

152

518 5, il asleadis —1 8. 6w B wd g 4t O,

ed, |a] = |or] = [er]

ol flsadl (BRerd viex e adl BReel sa [Qadad 40, 6. (el

receiving dsdl Y4l AR ugid. A

(el y-2ael alRuasd Bl wha 8)

AREL @e

() Sl P, dll-dl yausdl w2 awoidl Ay,

(2 Gedriell BRFd WsLA receiving dsdl Yl

AR udia.)

SP,  u'+b® u 2 3
rl =1 _ N - —(1 +lb_] (b << u, HIWU ééul.)
c c c 2 u2 ’

P, dl O yHldl Husdl e avidl Ay,

Y[, 1l
C[l+ 2v2

AqHidl uAIR 24l HIZ (B9 @dldl A,

= (n- 12 w(b) 3.

w8l g4 A,

{ = 1[“ v+%b2(l+l) +(n-1) w(b)] Hdl,
c u v -

PO B V2 + b?

C c

Iy =
oL, n HIMHAL asleandis .

L
D

- 1 1 b? b
adl, t=—|u+v+=—+(n-1 -
[ 5D ( )[w0+ o:)]

C

suel Rigld udl,

ﬂ_o_ b _z(n—l)b
db CD ca
o=2n-1D

1 1
= — 4 =
u

v

b,

m
5(—:1—)\'/«— 1 —>0

wHl, Ao =2 — 1)D €, dl ax (™A 2. d sl WdaA O



10.1
10.2
10.3
10.4
10.5
10.6
10.7
10.8
10.9

10.10
10.11

10.12

10.13

POl

e ddl Sl wadi enl o WRREMA Bl O wA Aol . (tald

b << nud b << v)

Ml —=—++1
"D u v

(i) 2 BRumi,

, SdousS D 8.

( 2 \
t= %Lu+v+%% + (n—l]klln(%h

a4 -tk
db D
= b2 =(n-1)kD

b= J(n-DkD

2, b G wAddl uAwR adi o8l ¥ Bel wlblen @Ml Aot
UYL,

_b_J@-DkD _ [(n—1) kuv =\/(n—1)k1u

_m-nh
(n-1~

b v v? B v vz(u+v) (u+v)v

us=el 10

(d)
(a), (b), (d)
(b), (d)
(a), (b)
(a), (b)

€l

SR

yedldl Bl avuseldl vor o awiz Bl guadi onelly wuel d
QLML AHAA 69,

Ml 2ug 20 Hz 4l 20 kHz 6. d 234 ddidens sqsi
15 m 24 15 mm 8. Rddd 2AuA AR % Al 109 A Ree-dl wsound

o ~ L wedl €.

153



@llfasfasu y-uzu usl

10.14

10.15

10.16

10.17

154

uslddl  doldl diadens ~1077 m. 2wel, [Rad« A AR
a ~ 107 m R sulad.
oI el W2 d2ll 15 mm < o < 15 m Y sladl.

- . N e . 2.54 _ .o =
o gusl azle (L ¥idr [ = So= cm = 0.84 x 10 % cm. Z »id? w1 wall

A O, (il vl @y 89.)

Wot [Alre BRudl o (1) <l €91 & (pass axis) 2 (I) ual (I
AHIAR A AR usld Mol wnd AR, oflo ot Bumi usia Foluq
wHel S8 3 (1) <l eo) s 2 (D)<l ed) s ot Al Y4l dot il
.

Widdd gl gdlotdd R % udl (AsH onl) PR BUUASIL GRS
ST =~ AT — nQr N

yedl Sld. ed ¥ lanfg = o Ty <oy,

Y - H Y N . n
UL WS Al HHHHL AUl 52 %l sifasa sinOc = f
L, ny < n.

WleL wall W2 | an Og| > |sin O], Oy < Oc.
2, wAdd gL Yellotad AissUud Ul o,

1222
2sin B

dmin

i, B W A gkl AU (objective) glRl AAA Bl €,
(8]

5500 AL uslal M2,

4. 122x55x107
min 2sinf

100 V a3 yalid 234l 9asgid w2 R-eedl dadoens

po=d J 127 s - 013 x 10m
p 4100

. 122 x 13 x 10710
¢ 7 min 2sin

dmin _ 13 x 10710

-3
dogn 55 %107 0210




A

1018 T, =D +x, T, P = D—x

S|P = \/(Slr1‘1)2+(f"1"1)2
= [D2 + (D - x)2]1;'"2
S,P = [D2 + (D + x)?]'2

YedH, AL ¥ WA AR,

[DZ + (D + x)2]lf2_ [D2 + (D - x)E]le = %
o x = D, dl
A
2 212 = ==
(D= + 4D~) >
A A
npe - A p- L
(5D%) > 55

10.19 P R :
A=A+ A
A=Al yA2 2 AV 0 si
1 =A] 1= Aj sin(kx—wt) + A} sin (kx — ot +¢)

(1) (2)
A=Ay +A)

Ay = Aj [sin(kx — we) + sin(kx - ot + ¢]

i, A, Al A Bragani sidldet (L) 2 wuiaz (]]) selleant Jiz
sulddil €.

. dladl =

2 B . . .
B “AOle +|AI(I)| } [sin” (ke — wt) (1 + cos + 2sing) + sin (kx - @,) sin”})] SELIEY

- “A(J)_|2+|Aﬁ|2](%)-2(l+cos )

— 5|40, 0 _ | 0
2|AL| (I+cos¢) SR8 5 |AJ.| ETERTEN AII ETEEIEN]
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P ud :

Wil 3 A2 A4 Qe B,

dlsidl

(A + AD? + (ALY

|A0¢|2 (1+.ct«;.sc1>)+|;ﬁ|2 L
4fagf

oy (wad) s WA dausom Raw dadl 2uta 9.

WeASHR W W vBsdn Wl dlidl,

2

WEASHR Ad udH w5 WA dladl,

= |A9_|2(1 —-1)+

IU
8

2

10.20 ua-dsiad = 2d sin + (u — 1)1

oy HgTH R,

2d sin® + 051 =0

-l

sin@y = —

D
. OP =Dtanfy ~——

4d 16 R

16

WUH YeAdd W12,

. 2dsin6 +0.51 = i%
th/2- 051 _#h/2-M/8 4 3
d = 2 T4 16

sin @) =
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r/2

gLl
4 oy W, sin0 = =
WL oY R, sinf =—<T
Bl oy U M HuU AAsdH 2idR,
Dtan6" = D sind”_ _ D—2 04l Gu drs.
Ji-sir0 16>
. 5
B 6I1% U 2id Dtan 6 = Ol 1A dzs.

162 =52

1021 @) A 4l d »id2 eal Ry WA idad [@ARL R, WA A 18 d301
Y, = acos of A. A ¥ B Higl wddl A3d (signal) He ua-dslad,

% ® 2 ddl su-dslad 9.
e, R, WA B $1R8 d3a,

Yyg = acos(ot — ) = —acos ot

C 2 A gl 2hadl Rl ya-dsiad A 8 A dedl sui-dslad
2n ®. udl, R, WA C A $R9 ddl y, = acos or 8.

D > A Higll 2Alddl Redddl va-dsidd,

a? +(%)2 —(d-n12)

4d? 2
2.
», o \1/2 A
8d 2
A d>> L €, dl YU-dsldd
,..% wA Adl sou-dslad m Ul
" yD = —qacos ot

2H, R, WA ussidl (Qauml iadl) A (signal)
Yatyg t e typ = 0

B aidl R, WA usdidl 3d (signal) yp = a, cos of.
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(i)

©

()

10.22 @)

158

D WA 24 B WA [Rodd 92+l va-dsidd %

. Yp = —a cos ot
A WA 2 B WA Redd a2l va-dsidd
> 5 \I/2 9
(d)2+(%) _d = d(n%} —d ~ %%
53 suu-dslad Z—EK—Z -
8h d* 4d
2wl, y, = a, cos (of — ¢)

o ~0

d % A4, yo = a,cos (@f — §)

SRy gl usdldl (Al wuadl) Add

YA T T Vet I)pTY = 2“1005(0”— )
lyP = 4a12 cos® (ot - §)

o (1) = 2af

wel, R, el Rioda ussal,

% B A ol Sl wd dl,

R, ad ussldl d3d y = a cos ot

o (Iry) = 307
R, 43 usdidl A3d y = a cos ot
- (Ir,) = 3t

M, Ry 2 R, gkl usdldl ddd A el

ol D el 6l Al A dl,
R, a3 udsldl udd, y = a cos of

- (Iry) = 347

R, 43 usdidl d3d, y = 3a cos ot

+ (I, ) = 39’

M, R, ad ussidl ddd 2 Ry -l wvwelbl 2l edl.
W, R, WA Add B A oit 2l 20da 8. dd ealadl w4 R, WA
Beid (Mg udd) Reda (i3d) ealadl 3 DA ot sl »dd 9.

AL 3 wRew WAl B, ddl o wnidr BRel wugla 1A ealen Wl
ol ¥ B, ED 3 daa edld 8 dq wRdl, ddl weil oal o
Blgpildl sou Axt g2l AxA ustally vadensS ugadi omi [Bigyil

AU SUUHL % Slal ASuL.
2, —/e, 1, AE = BC = Je, i1, CD

8.



ALl

»4dl BC = /¢4, (CD - AE)
BC > 0, CD > AE

qREL dsold B dd euldll. A dH 9di, WSl AN
AMRNHL AHI gt dd 2w ad o, (sld., Al
22L, sl 2)

adl, —/e,u, AE = BC — \/¢,u, CD
»4dl BC = ,/g,u, (CD — AE)

»9l, AE > CD, BC < O

% sdld © % i usu .
el wRen wdl 6.
() ugla 1 uadl,
BC = AC sin 6, ¥l CD-AE = AC sin 0, :

2, —/e,4, (AE — DC) = BC
—nsin®, = sin 6,

10.23 7 v 2md 4 (Be (@Rl a2 Badl 218 ool sa-Bay vtid wuél
WAl uRAdd- WHA A 2l Gl g asload WMl Bet-siA idR
AW WAl AL i YAddA WHd A Al (6UElAL) @Ol UuWLL WML
waldd BRail ool Fe-sal 2id qwel WAl uudd- wHd A 48
GUOL 7y W7y L AR W dH UAWL WHAL Ao, s uRAAd-L A
WAL oLl SUERAR Add dedl w2 2udl, BRel 7y A 7y o dd-
wotdl 8. % M UYL A GRL WAX WA dl, 7y e 7, [@rlas
guled A, A i D WAl oid ugaddl 200l aul agleddis dsl
S B 2 2], A wRiaddnd sl 32RsR A AR, 7y AA
a2l usielly vu-dsiad,

n(AD + CD) — AB .
B d A Bedl s €y, dl
d

cosr
AB = ACsini

AC
Tzdtan r

AC = 2dtanr
218l, AB = 2d tan rsin i
WM, uslelld va-dsiad,

AD = CD =

2n —2dtanr sini

cosr
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@lfes@suq A3-u3u usl

sini d sinr . . T2
=2 — - 2d sin i

SinFr cosr cos r gl =l

A
o sin 1= sinr (e n=1.38 V
= - n=1.5
Sin rcos r s

= 2nd cosr

L doll M2, [@Aqdls euwd (adlswl) e 2 “5 ad o AU,

= 2nd cosr = g

YAl nd cosr = }Z

SAAL At M2, Geardl Gled AMdaHi € B ud Wl i ~ r ~ 0.
.nd ~ % )
- 22
ysel 11

1.1 (d)
112 (b)
113 @
1.4 ()
115 (b)
1.6 (a)
117 (a)
1.8 ()

119 (c), (d)
11.10 (a), (c)

1111 (b), (¢)
1112 (a), (b), ()

11.13 (b), (d)
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11.14

11.15

11.16

11.17

11.18

11.19

11.20

11.21

ALl

Ayl = prpp=z:%§“= \8:1
pEp

@ E. = 2hv—0

() 25 % SAsAA gl 2 Sl el deuddAl wor o Al D,

2tefl, vl GRg el wsd. (o b 8.)

wad BRuml ydl wsani 20ddl QoA sl 20l Glod i 2wdl 8,

oflo Bl g Al Ad Glod yl wisani wudl 8 3, ¥l Gulrd

S WA quR Qo g 2w RBR uell ol asd -l

Al dlel ool SAsgiq HigMl [@vidal €l 9. Wel Ay o aigHl

AUZlHizl ol wudl oy 9.

s4 E a0 8.

X2l wA g [l $l2lddl v 4Rl 3 ony wid n, 8.

mE, = mFE,
nhc_ hc
12—"2/1—2
mo_ A
n, A
Mo 1
n, 500

ol gl JUldRd (deteld, transferred) &y €. A8 2, UG, SLel-
AL 5 B A A Ao Yo Yfsaa wA SAsZAL FuidRd Ay
O, Gulyd SAsgidd G wd O, Aaun A SAsgiHl 3uidRd
Ao Ml ddl M2 daMId AL w3 O,

wedd Qo = hv — ¢

- 54

6 = 120 _ 1 nev
1200

AxAp =~ h

o 105x107Ts 25

= — = = 1.05x10"

o Ax 107 m

2 2542 2 2
o P (Losx1072)” _ 105* 019y - 105

om 2x9.1x107! 182 182x1.6

=38 x 102 eV
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h
1123 Pc = |pal+|ps| = TR %

ﬁpA,pB > 0 ¥4l p,, pg<0

AalB
4, =—ZAZB
wudl A, It

A p,y >0, pg <08l p, <0, pg >0

An—Ax  h
— pZB A _
Pe = "aa s~ %
B2
© |Aa -2

1124 2d sin@ =X =d=101"m

h 6.6x 107" 24
- = = 6.6 x 1072 Kgms!
RTEC 107 &
—24+2 2
B= 000 ) 6x107? = 5 x16x102ev
2x(1.7%x107°") 2x1.7

=20.5 x 102eV = 021eV
1125 6 x 10%° Na il ui st 23 kg.
g se = (104 x 1073) = 107m?
ARUMAL 8-dl = (d) = 0.97 kg/m3

6 x 10%° Na vy ¢ = %mS = 23.7 m3

23

3
—————m’ =395 x 1026 m}
097 x6x10

Na L 1 UMl Ul 43¢ 58 =

o7

—c = 2.53 x 1018

LTI L 0 = e
el A vl W =

1074 m? - Bael sindl Avayds<s = n
Qe wlL As= nhv = 104 J x 100 = 102 W
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11.26

11.27

ALl

1234.5
600

hv (A = 660 nm ¥12) =

=205V =205 x 1.6 x 10719= 328 x 10719

107 16
= —— =305x10"/s
"= 308x107°

= L %107 =3.1x 106
32

ol Pl W umg, G-l Aotadl €d, dl wl S1AH, GRFd 12
dasgia-dl AvalRis=s

=P x 3.1 x 101® x 253 x 108

wale = P x 3.1 x 10716 x 2,53 x 1018 x 1.6 x 10719 A
=P x 125 x 10716 A

2 100 pA %2¢ ud % ASH vl

100 x 1070
1.25x 10716

P =8 x 102!

24, A IR, Wl A5 S a3 S8 Ggesl Aonadl 1 sl voel

hat

o Al B, ddl s3AA s UBURY, A3 6 Fl2lA el Ay 9, (vaduell
Asl 8.)

2
q

11 1
4 4megd

ey I

o 2
olel Glod @} ad sl = + ‘qu—zdx=
X

(1.6 x107%) x 9 x 10° .
41079 x 1.6 x 1071

d = 0.1 nm W8, G

1.6x9
= 4" eV =36 eV

@ B W2 G gkt @ifol Wiz[Rud = 0. el dd G2 (aul) ab
S5U 8Al.

h 2
(@) e = ; = 10-5)x10" A MR
2.5 .
= W5-10)x10% B e
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—19
h = % x 2 x 1074 = 6.04x10734Ts A w3

1.6x1079 x2.5x 10714 N
=2 ’; - =8 x 1034 Js B M2

ol YL A Al qedl (dlaiadl uel) el 1A 8. wdol 3 Agilas (we)
A Yo =l

11.28 myv = myv, + mgv,

2 _ 1 2 1 2
MpAV™ = EmAvl + EvaZ

1

2
1 1

EmA(v—vl)(vA +v) = Eva]%

‘.v+v1=v2

§YA v = vy — ¥y

Ma —mM 2m
LV = (—A B)v ud V2 = [—A ]v
mp +mpg mp +mpg

_ h
7L31.1'-?..[-(\‘{.‘: B mpV

__h_| hmp+mp) |
Ka’{[&"’ mav ImA(mA —mB)vI

CAg =t [|mA+mB)| _ 1}
mav ImA—mB
dN P 19
) — = =5x%x10"7/
11.29 () dr  (helA) X §

(i %=2.49€V > Wy el

2

(i) P-:’;z At =Wy, At =284 s
T
dN nr’

164



12.1
12.2
12.3
12.4
12.5
12.6
12.7
12.8
12.9
12.10
12.11
12.12

12.13

12.14

12.15

12.16

12.17

12.18

12.19

POl

usel 12

(@)

(a), (¢)
(a), (b)
(a), (b)
(b), (d)
(b), (d)
(©, (d)

wdRASAA ga-Blol WigAldl E = mc? 2ud 8 ved %, H-udugd

B . .
GHMIA = mp +m, — = i, B ~ 13.6eV 2 olunGlAd 8.

sR2 5 ol U AsgiH Sl dRl MR B,

S0 % SAsgl ssd [@Ad Yol Ad o wdBu K2 8.

-

gl ollgrd Yol [AGACURAAL dRUSIRAL WAl 2 8 ed,

A

N N N 136 _ -
Al 518 3 olleql Hide wEdl, E, = —— A y€l-y€l Glod “uadl
n

dasgid gel-gel sauml glaell n -l gel yel Hedl wud. ed ¥ swly

. h
QML UBL YE-%E 2 53 myr=—

27
4
~ me . - -~
oAl Yol B, = ———— Hl ‘m’ A REY s O, H-um1g
8ggn"h
~ S B m N NN B
e, m o~ m, MdglHud e mNTe. ed ¥, ullBallAun He

E,~ — 6.8eV.
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1220 2e [AgdoiR H1ddl 4f5auA A — [AgdoiR HRladl SAsgid W2 sail

4
_4 ' b -~ ~ . - -

Ty RN €3 B E fRuddl 6 $As2A il A
85,21

sa HA-2AUL Gl — (4 x 13.6) eV 8dl.

E, =

1221 v = A5l ddl
ay = ollex Bl

N _ : 27ay
oS AHYHL wReedl Aval =

2ra
o Radyae = —Le
v

1 1
1222 v = CRZZ|:___2],

e, v, d AR 1, 2, 3, il ¥l €l B,

12.23 oMz 2ell-l H, WL W =54l n=2 Al AsHAA AU B, ed ¥
HRA-ARUL 72 = 1 HL 2UdEl SASZAA USAl 7 = 5 daRUUL Hsdl Ul
A W2 %33 G = E; — E; = 13.6 — 0.54 = 13.06 eV.
A slelld Ao AL WA dl Sl Ao

SAsgirdl Sl Aol 3812

= Ls—Ly = 5h—2h = 3h = 3x1.06 x 107>

3.18 x 10734 kg m?%/s

. m, m,
1224 He R&QRS gt py = — — = me|1-—=
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12.25

FALON

m m m
; =m 1__e]=m[1__e][1+_e)
D R&RR¢ gt Hp e( M e\~ 2Mm M
1
hvj = (E;=Ej)ap ved % /’iija;
A eLOLe/AeRun, dades Ly /hp S,

-1
=1+ 2e) = (1o
_(1+2M] =1~ 3xms0

Ap = Ag x (0.99973)

4p _ HMH
AH  Hp

e wusll — 1217.7 A, 1027.7 A, 974.04 A, 951.143 A.

gz Al tudl vld el waraHdl Gledil

uze* (1 .
T2 ddl.

E. =
n2

" sgin?
elolodl Rees st pyy RRRUMAL RS s py Adl,

SlogloHl dud geldl wad udl gl e,

4 4
hvy = ﬁ%e2(1_l] =§ #hfz'
8goh 4) 48gh

Y [ . + 3 e4 ~ =~ =~ a -
D2d o AsiReAl ddodons Ay =>LE . @BRuMA A % i il
4 8gyh’c
.. - 3 uyet
Asiladl aRadons 4, ==2—.
P 48g2h%c

WAL= Dy =y
We ulded dslad

100xi_;“ :Mxloo - M~ HFu 100

H H My

meMD _ meMH
_(m +Mp) (m,+My)
m_M, /(m, + M)

_{(Met My My 11100
m,+Mp | My,

m, << M, < M, €lal

x 100
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A_j'x100= ﬁx& M —-1(x100
,?,H MD MH 1+me/MD

B [(1 +m, /My)1+m,/My)" - 1] x100

m, m
~|(1+—==- e—l}XIOO
‘: M, M,

11
~m. | — - ——|x100
m“’[MH MD]X

1 1
1.6725x10%"  3.3374x107

=9.1x10_31‘: ]><100

=9.1x107[0.5979 - 0.2996]x 100
= 2714 x 102 %

1226 H-uHgl [Blgad, ~fsaud e :

2 2
vzl mwr =h, Y =€ 1
s rg. 4ne,
Rl (e |1
m’rg? g 4ng, |y’
n 4re
—. —2% =1 =051A
m e
RalaGlA,
()
—Le— L o272V,
47”2] B
2 2
my 1 h h
AABlod = —— =M —5 =—— =+13.6 eV
m’rg 2mrg

R Bl uddl olousiz <yfsass we,

A R <rg €, dl 2 ¥ wRun

A R >> rg €1, dl rp Bl quadl aloudl viex ddsgi+ ald sl
(i, rg = el oligx Bio)

f3

N , I
sigadl Redeir 7yt =e| B
) R3
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]
|
ALl

o. r]é _—

h_2[47r.90]R_3

m\ ¢ rB’3

ri = (051A)-R>. R =10A
=510 (A)*

. ~ 510)/*A <R

m 7] h 1

_ 1 2 _ —
a[aBlea _Emv T~ m2 2 = ,2

RaGlA

1]
+
s
Y
D
e
—
W
o (2]
AP
vl
(]
LI

(& 1) [rB(r];Z—Z&Rz]
R

"
amg, 1y 3

+(27.2¢V) [—0-51(‘/1%_:)%‘300)}

+(27.26V)- [‘lg;] _ _383 eV

12.27 yfsau o gladl, weidl 56 (recoil) At Al astd 24
adl Asila-l ol o Glod 2R SAs2AA dafld $30 dd. Cr i s
o dd=t $AsA dlaudll, Glat-vlapil olig Widd a3 wuldl QAR asa.

n¥{l vl QA E, = -ZZRL2 oui, R 2 ool 2auis 8 A
n

Z = 24.

2 ¢l 1 Al AsifHi 92 uddl Gl
AE = ZZR(1_1) = 372R.
4 4

n =4 SAsPAN e szl Wl God Ey = Z2 R—

WL, wPR SAsgiA-l UG,
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L) _ 172
16

KE = Z2R (i _
4 16

=%x24x24x13.6eV

5385.6 eV

2
12.28 mpc

1070 x Sasgiqd ea x (2
~ 1070 x 0.5 MeV

~1070 x 05 x 1.6 x 10713

~08 x 107197
h he  107*x3x10° .
= > = 5 ~ 4 x 107 m >> ¢ligx Bt
mpc m,c 0.8 x10
2
e 1 »
|F| = [—2 + —] exp (—Ar)
dmey Lr r
co.-1_ R -7
U, T =——r 4 x1070 m>>rg
m,c
; 1 .
A< — g <1
s
e’ exp(—hr)
U(r) = - .
47e, r
mur=h .V= R
mr
ol my? ~( e* \|:l +}k]
a, ¥ L47:£0J r2or
no( e \[ I +z]
mr L4iz'£0J ror
no( )
. —=k ¢ J[r+}.r2]
m 47,
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ALl
m e
n? e’
m amg B
2l >s g, Qi ro= g+ 5 WSl
: _ 2, <2
. =m + 3+ Arg + 8" + 20r)
weAl 0 = Arg + 8(1+2hrg)
L W 2(1=2rg) = —hrg? R kg << 1
1424 O B
2
V() = S KRR —Ary)
4me, rg+ 0
2 3
sV = == i{[l-—].(]-xrB)}
= (<272 eV) oedld -l
2 2
ARG = =i A ﬁ:(l_EJ
2 mr 2(rg +0) 2ry s

=(13.6eV)[1+24rg]

2 2
s QoA = ——C 4 1 ioan]
4rery 2rg

=-27.2+13.6[1+2Arg]eV

Glomi adl 3812 = 13.6 x 2irg eV = 27.2 hig eV

1229 € =2 + § AL

3 8
F:Q’1Q'2_Ro — A R,
ame, r2+§ r2+5’

o, 192 _ A A= (1.6 x 10719)% x 9 x 10° = 23.04 x 1022

amye
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vz_ /\Rg
mr1+6
1/2
h h| m
@ mor=nh, - r=22-2 — /24672
my m /\R0

232 1-8
r W2 Gadl, n, =[ nh ] W,

mARg

1

- - . : . hz 1-8
n=13™N i AAs{l BHd Hdl, 5 = s
mARg
1
. 1.05% x 1078 29
L 9.1% 107 x 2.3 x 10728 x 10*1°
=8 x 1071 = 0.08 nm (< 0.1 nm)
1
nh 3 \1-5 h
@ Vo=—=nh| AR 77 o v = — = 1.44 x 106 s
mr, n’h? mn

i) QA% = Imf =943 x 1077 ) =59V

Rg = —RL Yl RARGA
0

r 8 r

c 5 dr AR 1

Ryl r 34l RalaGes = +ARQ jr2+5 = +—1—05{r‘+8]g
Rg 0

~ '\RE .
1+8 R R01+8
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CEI)
ARG = —%[1:2;: - %}
= % x 10718 10.8)%° =19] J = - 173 eV
56 Qod = (<173 + 5.9) = —11.4 eV
us2el 13

131 (0
132 (b)
133 (b)
134 (a)
135 (a)
13.6  (b)
13.7  (b)
138 (a), (b)
139 (b), d
13.10 (c), (d)
1311 <, HP? Al oiad@o ay €iu 8.

i

dN

dt
13.12 >N

13.13 B e & ay Sl d-dl uua 2uy 2l adl,

13.14 Gal¥d $As24 5120 5 SAsgiAAl Gt sauldl Gl MeV R el
eV -l 2aliml € 0. % 3, y-[ABaxdl Qs MeV ui diu 9.
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13.15

13.16

13.17

13.18

13.19

13.20

174

doplre AR sAL W2 2y S Bt udl 3 % [Ae Rl ol
524

WA 4 R € B A vl el [@gdle Ad 2qwst B,
10 3 qell 4y WA 4Aadl AfBauadl 2 vwsiel ded adl ou B
3 oAl PRl W2 s5d wsdeL ool Gt 53 ddl MLl 42l 3R

-

Y

_@)

No. of atoms —>

v

time ——
1=0u4A N, = N 242 Np = 0. a3u-dl a4l 18, N, dedisld dAd

g29l A Bl WRHIRRAAL Avdl adld gnd 2 A d wlld uddd
AMY, Y oAl (RISl Ayl R waRliL).

R
t = 1 In =%
A R
_ 5760 IDE _ 5760 lni
0.693 12 0.693 3
_ 5760 4 _ ‘
= 0593 x 2.3031og 3 2391.12 9u

soflonell d »d? 2l 6 axqapildl e Ad vadl Adl weHl Ko

(proving signal)-ll dadousS A 1 d sdi 2l Sldl ASAH. W2 %,

sl gel el El sieal, SAsgina-l dadens 10715 m sl

218l Slell S,

. _h hc

h=— 34 K~ pc > K=~ pc=—
p P Pe=

. 1034 108
2663>< 077 x3x10 eV

1.6 x10719 x 10715

=102eV = 1 GeV
(@ 1'Na: 7 = 11, N; = 12
2BNa -l R wsen (AHeRa) = Mg

(b) Z, > Z,; dl, Mgl 6it8% Na sdl ay €l 8.



13.21

13.22

FALON

38 ; 38 s 38
S 2.48h cl 0.62h Ar

¢ A, 383G AL Al yfseuAl-l vl N(r) 2 38C1 L aBu ~yfsauri-l
AvUL Ny () dl.
dN;

7 =-44N; = 38C] AL Fladl €2

dN,
2 o AN, + 4N
dt 1442 1441

1{@[, Nl = Noe_llt

" % = —/llNoe_Alt —JQNz

ol Uy M2fgr <l ousIR sl A sell olsanll srdi,

SKE]

e;‘ 2‘dN2 + ﬂ,zN'zej1 2tdf=ﬁlNoe(12 ! )tdf

6l 6l AsA Sl
NoA -
)12!: oM e(/lz /ll)t_l_
=4

=034 N, = 0 ¢lugfl C=-

N28 C

No4
Ay=4
— N[)?L’] (e(lz - 7\;1): _ 1)

=2
Nohy (e-llf - e—lzf)
A—2

dN,
—2_9
w2 ”

" N2e7°zt

HedH S8

A
B3 s, = (hlk—l}‘(h — A7)

2

248

= In=—/(2.48 - 0.62)
_In4  2303log4

186

1.86
= 0.745 s

Glodrl A&l e,

2 2

Pn Pp_
I (1
QoPMIrrAL AR vl
E

Pn + Pp = : @
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% E =B adul dl wan wilse well p, = p, = 0 2 dell dla awdlsa
A Adid 2 d uBu wd wd AlR.
wZad e waL W2, E = B + A dl, %l A << B.

uggl, wlsa (2uidl p, A wlse (1) Hl 3,

L= 2 (p? 4 p2) =2 - 2)
L= 2m(,li'p+p,»;)—2m(,z:»‘£,+(‘t:'p E!c)

2E E?
" 2pf, — Pt (c—z - 2me =0

2
2E/c + J4E2/62—S(E—2—2me

c

L pp = y

P, 4 dRdl@s glal W2 [Faus b €l s,

4B’ 2
aell, = - 8(13_2 - zmx] = 0
c c

.4 . B B
weal 16me. = — o k= =~ =
c amc*  4mc
H me4
13.23 H-wHl oluq@od E = — =136V ()
0

A WA A YRl el [BedoR o Sl il Al uw- [Rgdane
glraldl  €ld, dl Gur-l AHlsWML SAsgiAAL g m A oled
Weld- 42 R gl m' 2 Sdsgial [Agdou e A oed

e' Adl,
M 1
m =L _ 836m=918m
2 2
. c 918me' N
oooladAGl = Pl 22MeV (auuq) .(2)
o

)< (1) a3 oL,

N4
918(9_] _ 22MeV
e 13.6 eV

ef
= — =11
e
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ALl

1324 B ax udal, 2l el €U 8, W E, = mc?p, =0

B au uedl, doHid-Al A&l u:el,
P, = P, + p, YU

Py + P =0=|Pp|=|pe|=p

1
2 4 2.2
au, E, = (my,"c” + py,7c™)?,

1

2c4+ppcz)5

1
24, 2234
E, =(m, c" +p,c”)? = (m,
Glatil el v,

2 2 4

1 1
(m,, T p2c2)2 + (m,“c” + p2c2)2 = m,,(:2

myc* = 936 MeV, myc* ~ 938 MeV, m,c* = 0.51MeV
n A p dAAl QA-dslad Ul S, pe i 8dl. pe << m,c* CUIER
pe mecz Sl Ay SlS 5.

2.2
c

= mpc2 - p—“z mncz—pc
2m),“c

WUH $H R pc = mnr:2 —m,c* =938 MeV — 936 MeV = 2MeV

p

L QI Y 6,
1
usl, E, = (m,%c* + p*c?)? =936 +2% =936 MeV

1
E, = (m2c* + p%c?)2 = \/(0.51)% + 2% = 2.06 MeV

1325 @) f,, = 40 min (3L2AR)

() 2UAuAL el = —A

=1.05h

~ —4.16+3.11
ad, 3= {6301
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13.26

14.1
14.2
14.3
14.4
14.5
14.6
14.7
14.8
14.9
14.10
14.11
14.12
14.13
14.14
14.15
14.16

178

adl, t”2=@ = 0.66 h 4
1.05 In@R/R)
= 39.6 min ¥udl 40 min (2UR) o t 2 3 % i
@ Spsn = Myj979 + My = Mypg79) ¢ -1.04
= (118.9058 + 1.0078252 — 119.902199) ¢2 28
= 0.0114362 ¢2 ji;
Spsb = My2970 + My = Myy; 70) ¢ v
= (119.902199 + 1.0078252 — 120.903822) c,
= 0.0059912 ¢?
Spsn > Spsh Qaefl Sp <l f5au Sh AL fsaud sl ay il 9.
() 0 euld © 3 ylsau-d da W (shell structure) 21 UL 4
ol A 8.
W, oG/ yfsupiiadl asil Hadl Rl (peaks)l Mgl ual
AU B,
us2el 14
@
(b
(b
(@
(b
(©
()
(©
(@), ()
(@), ()
(), (¢), (d)
(b), ()
(a), (®), (&
(b), (d)
(@, (), (@
(a), (@)



ALl

14.17 Qfa vl sy Audl €dl Bisu 3, el d ya vdass ARy
oi1e [Agld 4 52 dul d Sios2 Ge WA AAUYS-6lY ol-liddl HI2

AdclSel [Agamiz dlgsi Lol 2,

14.18 Ayt uanigill A3 2434 Sn W2 Gl AW 0 eV, C W2 5.4 eV,

Si w2 1.1 eV 24 Ge 12 0.7eV 9.

14.19 L, sRR8L 3 die2[Heasil Y F5AAAL 2l avumelHl el asl

Sldl ASH, U 2l F5AAAL 2AAAY AIAGRL Aed D).

14.20 +1Vv

0

1421 @ 10 x 20 x 30 x 1073 = 6V

() A de ey diey SV d, dl wubeye Vs vV =

4 ad. adl, v, = 5V.

1422 <, [@afd u6eye w2 %33 awRid wak DC dld wyl Aol

_@)

w14
14.23 (1) IR %A U8 2 AlAR A4
(i) PR GsdBA diw
(i) Q-uieulfe was
P-2iiud ulfe diee

14.24 20dld WS-l si2i-l Gl

6.6 x 10°* x 3 x 10%

hv = = 2.06 eV

a 6 x 1077 x1.6 x 1071°

Sl2l Al gl duld [QAZwAl yut 4 9% d w2 vuud [REeAL
SRl Gt oiedlu Glol sl ay, didl ASH. 2L slsd §5d D, M2

Al V. ddl, g5 D, A8 [ARaAAl v 53 wsal.

VBB - VBE

1425 Iy =~
1

uReuy 243l I, sl Hed ¥ MR ud dieelMernl  wadisHM

geldl 4l

%Ry & q4al, dl Ip @ed. ¢q I, = ﬁIb glall

5V ¢l qqi -
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14.26 o
maki
T ~
3

OR gate <14 calda gu 201 WA 2uGeye 2l & :

A B C
0 0 0
0 1 1
1 0 1
1 1 1

-

Orye | 2uBeye

A A
0 1
1 0

14.28 dxd 8q185l (elemental semi-conductor's)<l 6§ 3w dl €lu B 3 %l
Bl IR &siui .

14.29 gu 264

A B Y
0 0 0
0 1 0
1 0 0
1 1 1
AND 312
P
1430 Izp.c=— = 02A = 200mA
VZ
V, - V.
Rg=——2-2_100
IZmax 02
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ALl

1431 I, 44 8 SR8 3 o weidl el Qs Rad a8, awyui AB
2 EF 3540 ucl a3y

(125 + 25)Q = 150Q.

AB 1 EF adld e AMd AUl glael ddl A8 214U
150 _
5 = 75Q .

uRuadl s4 ad = (75 + 25) Q= 100Q

5
wae I = 100 = 0.05A

AB 7l EF L 2adl gl dal I =1, + I; + 1, I; = 0

C L=l =22 =0025A

1432 V,, = 0 Qauell, Ry -l & 84 a2a diew Ju 10V Haal.

10
L, = —— = 25 uA
b 200x10° H

¥d, V,, = 0, R L 6 84 a=d diew v, ie IR, = 10V.

Ll = —=— =333 x 107 = 333mA
3x10
I -3
—e 20 335102 =133
I, 25x1070
14.33
A
i
0 2 3 4 5tl—
B
I ]
||
0 1 2 3 4 __ 5
c,
—t—
°C 12 3 4 5
C.
] |
0 2 3 4 5

14.34 206242 sl uel Big Q W V, = 8V 2 I, = 4 mA

VCC - ICRC + VCE
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R, = Vee = Ve
I
R, = 16'2 = 2KQ
4 %10
ed,

Vg = IgRg + Vg

_________________________________________________________________________
1
16=0.7
133

R, = = 510 KQ
B 30 x107
Ic  4x107
e B = Iz 30x10°
) RC
diey A = Ay = p—=
RB
2 x 10°
- _133 x x_03
510 x 10
= 0.52

Wwar A%t =Ap =B x Ay

- _ﬁzﬁ
RB
3
2 % 10
= (133)? x ———
510 x 10
= 69
R . L. diey 4
14.35 212 §Ye diey 5V sdl qqiR
gdl. gldlgHial walg adal, 5V —
, >
Y §etye 5V sl sl . U \_/ AM
Q48 s viedl uRua edl.

14.36 (i) ‘7 [BARML As A 5128 e~ | Aval,
n,=Np=1x 109 x 5 x 1028 wuym?
n, =5 x 10°%/m3

WHARA 3Ru (i)l Ava,
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ALl

n}  (15x10°)7 225 x 10

n, 5% 107 5x10%

np

n, = 045 x 10/m?
L % dd, ol SRl s WA B AU P’ USIR AN B,
Bl
n,= N, =200 x 106 x 5 x 10?8

=1 x 10%/m3

-

% ‘m wslRel dsml Wl e <l Avuidl AvumelHl vel o auR 8. 3l
ol Reyy sl 2ud 8,
dgl 2L Ad eididd p’ AxAdl SR 3RuAl A,

n 225 x 107

n, = —
n, 1x10%

=225 x 107/m3

() M, 2w Rad olud SRABE 2wd AR w [[dRML Wl
0.45 x 1010/m3, €ld, p-[AdiRui wdl HSAIRE e 2.25 x 107/m3 +l

aeuHellil Rad A2 dalgul avR sl Ul

A

A -
14.37 B3 AB
:D&BH\.B
B~ B.A
A
14.38
1KQ
B K] oc
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1439 I~1 .~ IR, +R)+V_ =12V
R, =9 -R.= 12 KQ
LV, =12V
V,=V, +V, =17V

I= ;—BK = 0.085 mA
Rp = Ici;:)‘j)ss - 0.0112.3.085 = 108KQ

14.40 Ty = I+ I I = B I (D)
IRe + Vg + IR = Voo -2
Ry + Vg + IR = Ve -3)

Alser (3) wdl, I~ 1, = B I,

B _ Vee—Vgg 115

AHlseL (2) urdl,

Re+Rp = vee—VYee _ Yee—Ver _ 2 15 _3kq - 1.56KQ
I Bl 115

Re = 1.56 — 1 = 0.56 KQ
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= NCERT GSEB
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54 70 100
B. sl QMR : (NCERT/GSEB ¥{uIR)
54 usll sk €35 WA ARl PCREN] 54 A
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2. | ésosuell ua SA (D) 02 02 10 08 20 16
3. | éswawsll wa SA (1) 03 03 09 06 27 18
4. | dien wal (LA) 05 04 03 04 15 16
4 - - 30 68 70 100

Lo 2s ol W, agsil Gk udl el s [Ased wall ¢l dal eglased st
g S s,

2. 6L ol W, gsul G uual sl ay [Asew wA €l dal eglased ua &S .
C. [sal wed W :

1. [Rsal aud -l

2. kecdls WAL widRs [Asedl Assu yAedlldl HIREL (Al 515 UsR HR2) 9.
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70
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(€ 8 (s — Dz (D1 Pl bl tRle kSl [BALEREYL) | I
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oi¥clic] UIUN-I

Afaslsud XII (NCERT 3ot)

HHY : A8 S4LS AW : 70

AL YA

@
(b)

©

d
©

ol usll $Ad%Ald V.
§4 30 dsll ©. dgl lel 8 uclsl 1 oL 8. ua 9 ol 18 €35 2 @ 8. um 194l 27
gl 3 9L 8 A w28l 30 e Al 5 AR B,
AL WAL €25 WL [Aser Aol Ay 9di, 5 deil ARdd walHl widlRs [Asew vuuai
el B, 2 YAML dMR 516 uel s [Qseudl ¥ Ga dvaldl 9.
Jesydardl Gudldl s3 asdl -lR.
ddd %32 gRud Al Al ellds wuisAl Gudlel 530 A 9l
¢ =3 x 108 ms’!
= 6.6 x 1034 Js
e=16x1019C
4, = 4n x 107 TmA™!

e = 9 x 10°Nm? C2

kg = 1.38 x 10723 JK~! (olleggiieteil 210is)
N, = 6.023 x 1023 mole (A< »is)
m, = 1.6 x 1027 kg (42 en)

Ot dlHoURl g, A gy U p-va WR Il 8. ddrl sRA duglanl eale Wl X-ma
uR AvAL dlroir g, R uRewsdl oo xRl @l 8. A 4 dlren Q A (x, 0), WA GuRaAM
§d dl g, W alld e

q (9] q, 0] (x,0)

(@) 4--x [2eumi ausl.
(b) e-x [BwHi @eql.
(c) Bex [Rul ds @l
(d) andl uig (Raril 381 U, sRA 3 Q A g, Ul g3 WA ARBAU 5L
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2.

10.

11.
12.

6 sied2ll-l emf €, A €, (5, > €)) U ldRS AR 2egsH 7y 2 7y B, dHA gl
galedl uHIA uidR B3l 8,

g

(@) ot G2l A emf g, ¥ g 2 g, il

a2 €. ie. g < g < &,

eq
(b) A emf g sl 2l e,

(€) dHU g emf g, = € + g, Sl

() €oq A 7y i ryell Racda s

Weldd [ . adl gesly sHol Sadsgiadl dl o 8, dl gl Yois W asdl

AR S wRRANHL 21 7

A LC uRuad ldd €ldeil sl @@dl-odisl datd Auqed dRami »ud, di LC uRuasdl

55 QoA RARGA A 24 58 Gt aBload A 2wl asiy ?

s R WA A4 dqgRa ac GeaHA wid 8. gl 2l wE eAldR R

58 Ad oeeud ?

s s-au U 25 SAs2A v vy WA Aselloadl [ 53 dpu-lalel Geu~t

52 8. A Ae 3l Ad wd ?

p-n F5UA AHAR Geoladl Ul[RAud GRUR U WU, FsUAd AMidR dieefed Adl 53

asly ?

AAEE duHid Al d dudl alesdl all 8. sraL 3,

(a) dloreuralesil Avu-addl a8 8.

(b) Rasdad Auny ¥ 8,

(c) dloreuralesidl Avul-tddl 2 RAsAUAA AHY ol b ©.

(d) dlorcualesil Avai-addl al 8 A RAsAAA AHY 82 B© ug 2 gl dlacuralgsi-l
Avl-grdiHl Al ati-l AvuMRML 88l % Al €l 69,

oL dlgeul g A —3g A x-218 U sollndll ‘@ dR vl 9. ol dlreu 2g 4 sl

QUM Yl dtl U LS oo @l A ?

AHIAR @2 FURAL 62d] widl uvll, @il a2 addalszs Wel (Aug) sa saml »d

0, dl ddl (i) RadRafeual dslad (i) AR (i) Reddst 214 (iv) A9€ld Glod ur ol

WA w4 ?

ollg HidaMl eH2 sl Sasgiqdl qosle B-ydl wsHod Yot dirdl

s AR AAASAL @3unl [awll, DC Geart wd Al [Agdudls YR sl »ud 6.

¢d doud i Ad viawHl wwd 3 6 sfs w42l vasia W, dl [@Qgdudle audl ¥

gedl 7 Awosdl.

dud 2pF o AHdR w@e FURie e 8, dl ad ddl @l a2 1 mA wedl s

QAR ale 3dl Ad Aaqal ?
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14.

16.

17.
18.

19.

20.

21.

22,

23.
24,

ARl UAUA-T

wsiadl 6L Geardl B, UAs 100 W Feal Wadd Giwt 52 8. s 1 nm dddensu
X-300d Gtz 53 8 A oly Gedd 500 nm  ddleUSHL e UslAd BB 52
8, dl §id ddeens HE X-Bolldl Sl A g usladl sl vl ol
aeil.

us 50 SAsgirdl Hu sl o del asudl Al s 8. L saedl A Sdsgivdl
R-olloel  doclouS>ii-Al ol 1.813 x 1074 8, dl s8 sl 2wl dul sall v
53

6L AL 52l SLOAT UYL (ISR €28 WAL SAsI BrilFd sauml 8. olle Hida
worol wL SAsAAIAl Blod gl €l uid e salla Selly doud A €lu G ws oiell
ay ?

p-n %5 W2 VAU e’ A We[RAua ARuR 21 9 B ?

A AHA el AW ddlHAl Gualdl s2dl LOS sxyffdartell odell €l (et wRael 14
el GRS wr A5 wulel Adl), dl el 20 Jedl Al %33 Ul 7 w2l
Bl Yot yeelldl Blaiial @udl dRrdl,

Rga adiladl [avagd ur S5 Big WA [@gdastd 3ot (AR @3unl) Hadl 24 &l vl
% dioll vid2 dl 3R Ul 7

RAsdan und 2ed g 7 sd SAsgl Avadl-ardl 2l RASAAL AHUAL @IUHL AU Sl
A2 clRdl.

R 2aldl 72 A4 2AAUEA emf E 2 2idRs a4 R 4uadl 6i2dl 08 was ARl
AL A B, UAR Adl Udle T HGH U3 9. € L 7 A 2L % oled] WA AMId™L
Al Udled Hed 10 2w A B, ‘w4 Hed Jed e ?

As wHelRole A (asleladis 1.50)1 Addd A UR,
waldlil Rl Wl Audil W A Ad dugll oo Wl
A B, s Al A ddl wR e wa u W d dd
A WA, d Gad wbin 1A il Yl vaml 2ud 8.
el AU R 45.0cm A O, ¢d uAdld 2 530 $34l
Wl Sl Ad 2dR 300 cm HA 8. Al afloasis
Sedl wdl ?

AUSHL Al WAL Al Al W2 Frscons ldld 3ol il

sigoflogil ol 4 wdl €l dal A2 YawdlHl addl d; > d, > dy U aslowadis p, > py >y
Sl dud s oflsl Avd 8. UASs Ul Ml Gl % 9. ollsaedl ddaMi s 2ug
5 O, A efe e e 2usidl wuewl Glad el

ey

Ral 2Afsea ueld W2 @AY 2 UWRA DAL L @uil, AL o a2l Aol
® 7

2.
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26. NOR, OR 1 NOT 92l 4194 ddia a3 A4l Acuddl siesl 1ol dal wRual €L :
2% 2014 (Truth Table)

Al B | Y Al B |Y

ol oo o o |1

ol 1] o o 1 |1

11 o0l 1 1|10 ]o

Lo 1] 1 |1
) (i)

27. AM ddl We QA sl vl quil. ¥ AM d0l W HedH SUlRAR ‘e’ i
YAdH SU[RAR A’ Sl dril Hie MRdAd vis sedl s ?
28. () ReduasiiBRd aqusk qu (Ra)dl 2a uz 565 Big wa qosludioid Yol drdl,
(i) 5 @A 100 22l (38 [Eedian) 8. ddl Biadl 10 cm O, axiel uAlR ddl ddle
1A 8. dl 3= WA Yesludoid yer AL
Yl
AL uleadl Muyn a@vil. 25 dioll diredl 28 dduusk (Bladl @) © 2 duiel
Al da T AR Wy 8. vl w1 2qdedl ad Ad adwddl 8. ARuR-A
el [umsll Heedl 7 < g 2l 7 > g € ddl AR 2oisludsl DL
29. ¥is 48l LCR uRuadi 2ud Ay v = v, sinot 8. Wuamidl YR adl ddlg e alswl
A Ul dul Ay Al soud A Aadl el gl sedl ¢ ?
2Ydl
s Yo S5 L A v = v, sinof ¥2dl AC dis @Rl Wl »ud 8. uRuadidl waR
adi Rgdyualed 3ol Aadl wbBid 5A 3, Swss24 25 Ayel A5 el YA sl 2ddl
AW WA Yt B,
30. () Al Rigid @vil 2 A¥odl. d-dl Gualdl 530 aslaadis 2 +adl [Fuy qadl,
() 2w usld wdl Wil g4z el 4A0 8 AR d-dll Bu ue 8. g Ml Adl
qeldl M ustAddl WA Asld GodHi wel wadl yad 8 ?
vl
AUsA HOSRSU a¥ @Al wRABlal doy A Feadael 2wl €2 d-dl Heaslld
o dirdl, d-dl [Ratdd ald 3dl Ad awd asy ?
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MENINPETER |
O'll-le\dlo‘g Y3iyal-1
cllfaslasuq XI11
B3d 2 RAUEIA-ALF
L (:)) (D
2. (9 (D
W o~ eh . eh - h 1
3. MHp om, e = 2w (E)
He >> W, SR & my, >> m, (%)
4. Foifla God A oRGAA wdgu dul Redled A RURGAHA i3y 8. (%) (%)
- . = 1 A . ~ S
5. gl welsdl, Ruisen X, = pve qual % 5wisUA UAlEHL Haldl 529l
[
2l B iy = i ddl AR Y weal. (%) (%)
6. 6 y 52w Gau~l 2l % Aol @@ He [Ae Rawwl ala s 1)
7. Al 5RQ 3 %sAA dARAUAl WAL dieeHeAl AAAY HRll QY Sldl AsL.
P FSHUL HAUY AAMOL Wisid B, (%) (%)
8. (@ (D
9. P Ul :2g U g vl sRA o dofl ouy A —3g AL S8 wmel ouy @l
e 4
amex’  4mey(d +x)* 2
(d + x)? = 3x?
p de—d—>
2x2 — 2dx —d?> =0 29 «x—> -3q
_d, J3d ()
27 2 2
(w2l P& Adl, x < H& g dul 3g -l a2 ¢ ¥ W )
x=%+—€d=%(l+\/§),q-ﬂ qofl ouy (D
10. %Y o3l Ahd €l 9 AR,
() dloRalAndl dslad V s 8. (%)
@) 3R C aud. (4
i) Redd g2dl. (%)
(iv) AAe WHdl Gl (1/2)CV2, CL a4dl Wl augl. (%)
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1. I=e/T 2)
T=2xr/v (%)
,ug=IA=Ir:r2=evr!2 (%)
Hy =2;el (%)

12. yug augl. Fdl Rl visellal g2 vladmi »ud 8. widl gowinidl sasu dls wy 8.
Aeopril (UM 2R AR em.f 2L 8218l [AM 5290, ¥ UALSHL d4IRL gl YL uLsam
a6, 1,1)

13. 4 - c‘;_‘t’ 2)

1x103 =2 x100 %
dt

dv

o110 =5 %102 Vis (l)

d 2 2

2§, 5 x 102 V/s -l oledldl wdl RedRAMAnAL dsidd gl SR Heudl eidlRd das

Aadl asu 9. (1)
14. $4 E 20 8. (%)

HRL 5 ny i ny X-BRRlL dul g wsladl Sl v 8,

_ 1
mE; = mE, (2)
" hc i hc

1= =m—

Z A
m_A (l)
n, 4 2
Mo L (i)
n, 500 2

15. m e qAddi v Qo ol sdl i se-dl RB-olvdl diadois,
A = h/p = h/mv
e, m = h/Av (%)
dasgld W2 eu, m, = WA,v,

gd, vy, = 3 iyl €l v WA, = 1.813 x 1074 (%)
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20.
21.

22.

MENINPETER |
Al sad e mo=m, (O,/2) @,/V) 2)
m = (9.11 x 1031 kg) x (1/3) x (1/1.813 x 107%)
m =1 x 1.675 x 10727 kg.
dell vied en AL 52 s dl WA Al Y2 sl (%)
Al 518 3 ol Hd AR, E, = —% 1)
n
2 gel-ogEl Qod HAAdl SAsIA gei-ogel Heldl n (AU €y B,
nh
adl dxql sella doiq oei-el i, s 5, mur =5 )
eyl A R (D
eyl GRYR R (1)
1
d% = 2R + hy)? (5)
Rhp = 2R + hp? (- dy, = 24/2RAy)
4Rhy = R? + hp? + 2Rhp
R = hp)?=0
1
g5 WA Ad 2R auuda Gl A << A ddl ssd 2larsdl GRS awadal dal.
Bi-uRMedil Ay = Rl 6 il 2lar i, )
21zl (Derivation) 2
Hel d2 e, E o< 1/73 )
vl del Rl 3)
I = E/R + nR) 1)
10I = E/R + R/n) 1)
A+l +1Un)=10= {1 +n)fn + )n=mn n=10. )

po= 1.5 6l A A uHdd ool Ul Axurl Aol SrsdonsS 45 cm 9. Ul
waldl g2 52U 2 AR Wt 6l Al IrscdoltsS £ = 30 cm HA B, A Anda ool
wadl duedl Imdouns f S, dl

1 1 1 1
A (E)
}2 %_% 4_15_%=%f2——900m (%)

At A&l Yol Gudldl s2dl, (R, = R, Ry = —R)

__(u_ )L__L} %:(1.5—1)(%+é) = R =30 cm (%)(
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23.

24,

25.

26.

Audd ool At W2,

1 1 1
— === - —
f (IJ- )(Rl RJ

9 30
po=133
WA, — = — + — +
fh h
WAL 5, py ARl widl el Glas O © ¢
h
o =2
W3

s %idi sueurll Glas 0, 8 :

h h
02 = ﬁ(_ + 01) = h[?
po\3 Ha

oeledl Adi 2uendl G

1
o3=—[ﬁ+02] _ Lk
M3 \3 T

h[ 11 1 )
=+ —+—
3\H My M

vyl A ARl EY

Ayl wA qeld
d oA AL Aol

+&£J=£[b+
B 3 3n,

)
AR

ARNA 1Y

B

M

A
h/3

i

h/3

i
) o

3)
T
Hs
03
1
: (D
Lo,
a '131 M
)
(M

A, B = (0,1) ¥4 (1,0) e uBeye AMd -l s 64ye we NOT e

() = 2 S NOR de :

LA,

() e s ©. OR 312 :

WM, A

No
v
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27. p= Ami'Ac (D)
a=A,t+A,
b-A-A, (3
A, = (a+ b)2, A, = (ab)2 (%)
p=(a->b)a+b) (D
28. () diragil 3)
() s6a A2 oifle dal, 2l e35 aduusik il A Bl R = 10 cm = 0.1 m.
N = 100. oisludiad Heu,
B=pNI/2R =4nx 107x 102x 1/2 x 1071) =21 x 107* = 6.28 x 10*T. (2)
il
AGRURAL [, suq (1)
B = p, 127 -l dragll, r > a e )
B = (n, 12na®) r -l drasll r < a we 2
29. dragll (C)
vl gk )
il
RIECTE] 3)
AL ¥))
30. (1) sut v Awnydl )
el [Huuedl dragll 3)
() U, d3dl gl gt WHdl Gl ddrl SUlRAR YR R AW B, AR ¥ dIosl
AWl B UR, (1)
Y|
(i) “HFER AR dousla (1)
m= fi{l + fR} Al dragil ¥))
(o] e

AGHsISOL war adiRal W2, wioREed A wsUlA Airll IeconsS 4adi bl ASA.
HASIRUL SvscdollsS 1 cm sl il otriladl s © dal L Al dlel Hed W2 Hlzl ail-dl
%3 Ul 9. 1)
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(0€) oL (€) st (6) LT (o1) 07 (8) 8 w5

@ s — (M ¢ Mz — wRR] BRERRE | X

(© L — @9 — (D1 RILIIETHE  22gmashR [ XI
@ 9 — @9 — — RERsRs Ble Ttkh | 1A
@ v — (1 ¢ — (D1 tos ble bk B3 g | TIA
) v1 (s (1) € @ v (@ ¢ RIBIFK 1e2P [ RMWISK &=g) | 1A
(@ ¢ — — (Dt (D1 Ne2P K5k PRy | A

(©8 (D s — Dz (D1 FbK DV Ll WK RSk PRy | Al
) 8 — (D¢ @ ¥ (D1 Pk ble e RSk PIBRPEYL) | I
(©) L — (1) ¢ @ v — PREJAILK | 11

(©) 8 (D s — Mz (D1 CANE RN I

2] (dic &) VI |Gl ©) T VS | (&l 9 I vs | Gafe 1) vsa rRY)

(kaght sk LHFON) g Inig
II KhisK Dlioklo
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Al WAUA-TT

ci¥oilc] Y3HUA-11

cllfaslQsud : QR XII

HHY : A8 S4LS AW : 70

AL YA

@
(b)

©

d
©

e35 ud sAgruld V.

s 30 well 2udal 8. e 1ol 8 AL €35l vy o, wa 9l 18 Yl e 2 o,
Wal 199l 27 YL e+ 3 2R A g 28l 30 yHl es-l 5 ol B,

519 e wAedl el dd o odl 5 d@rl AR WL idRs [Asew a2l 6.
2L WML dMRL SIS uel s [Aseudl Gar auiadl 9.

sesyderdl Gualoll sl el

WU %32 WRUA AR il A whal ollds wAGSHAL Gualel 530 Asl 9L

¢ =3 x 108 ms™!

h=66x 1034 Js

e=16x101C

p, = 4n x 107 TmA™!

Tmes = 9 x 10°Nm? C2

ky, = 1.38 x 10723 JK~! (slleagiist-il 2A40i5)
N, = 6.023 x 10 mole (AW i)
1.6 x 1027 kg (4 en)

My

4 pF -0 3UReA 2usfnl ealen wdl sisadi 2ud 8. ceddl 2idRs AaM 0.5 Q. B,

Rl W@el vl dlaeur 4yF
I—AAA

@ o0 ! 10Q

(b) 4 pC :

I A —

@ 8 nC 20

Wil Yotsludial B = Bk i 6 lyoudd uruz Rize Rl awe afla ((fisa) wol w
Al 53 .

(@) au-dl WsHAUAL z-825 AMA Sl

(b) dxll [Agdeul Ax % €lal AsA,

(¢) dxil sa-ulasel €l %33 ©.

(d) dlweu x4 gaxll oRldR : (—l +[—)2 =0
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3.

10.

12.

13.

14.

AN

25 AAAS 623l WA Asdl dxiel el Male YR Al 9. A AAASMHL elvigAl el
elud Sl wUd, dl wdls audl & Hedl ? uHondl.

Wz AL dl. unA, wReds yruasfid ol s gast Hsd olidn, du B wuuid
53 g @Pld 53, At QRenddd 2uadald 530 A sdl 20l EM ddiedl sdl oeims
welld a O 7 2 oEEld s aul Gelew L.

(Al 2ieel Hause,

(2) Hadqud SR A 4 U,

() wals ol Aatqud A3l adn daddy A A,

(© walis 2w e Aaueuad wid-dl A ddd WS uld

(d) s234 UYL AaquA AS A u.

YAustel 2 yedl U dO2AAl wsR Al y B 7

s dAsgit (e m) WRMOL AL v =vy,i(v, > 0) WA [Agddint E =-E,i (Ey = 2180 > 0) 4l
0. ¢ AHA d-dl e-sleedl dodons

@ 2 (b) 20(1+6E°t)
(1 +%LJ Mv,
m v,
© %, d) At
AHAdL ¥ Ao 28418l (elemental semiconductors)-l Guadlel 2ulldi LED’s (visible LED's)
oirladl W2 3 ol b AR ? A,
a ol uasel RRIGEX U win udn dlaeur
g UAvdl 8. E B
() A s ns BRUbGE (A 3 A) uedl dlrciz &2 ’ !
Al 2d, dl O WA [@Agdda sed ¢ ?
() A A WAl dloer g -l U —g dlamr A A

sami wd, dl O WA [@gdaa sed ea ? —a—
6 o2l emf E; 4 E, dall cdeil 2idRs AN 2si 7 2 7y B, dHel AHIAR AR
Wl AMded emf < Yot dwrdl,
s A4 wd Rérerdl Heedl [AgaRAlawd [Aeuws (potential divider)dl uURuU €IRL.
2Byl DL el ealdl,
A Yoifla Ml Mgl 4o wsd €ld, dl Aotsed WAl duBuAL Famul 9 uRadd s
w7
JUBRARIH, UAHARHH 2 3 WAy W2 AAMSBUARIA A Y2 2Rd 1 B,
adll uasiedly g(Ru wal s,
s A R Wl el A3 8. de 2 ac AL WS dHRL vadlsldl B s3U.
A uAs BRudl Fuedd Sufie- saisai »ud dl g ud ?
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16.
17.

18.

19.

20.

21.

22,

23.

24.

27.

28.

Al WANA-TT

25 MHz 2ug[ald, AHda [@ed-=iesld ol Hsd 2asiadl x-Raxl ald 52 8. Hasiaml
SIS AU [Blg WA AU w44 E = 6.35V/m 8. 20 [Blg wa B 3e¢ ed ?

Aarl wardl eqval vl galdl 3 d SegdoitSdl Al AHUHEAH SU B,

oL eleid wisollondl s Meldler g2 Avil uwgeld s dlex g2 AL V. %R 500 nm
aRdlolSl dlal-oRl UslAl GuAPL Al A AR 6L s[5 wdst QA4 AdR (fringe
separation) 24, ¢dl ?

10 kHz »Ug[t 21 10 diez ugnd dies qladl Aei-il Roddd dad sql W2 1 MHz

-
-

§gRt 2A 20 dice HedH ARy YAl SR dowdl Gualdl Wy B : (a) HRAAA s uA
(b) Geurt udl WO 6w AL

R[AiFedl veedl Addl widRS a4 Al W2l uRua ekl w0 ugli sul Rigid
u ddl B d uHeAl.

SdonoM, UANARMM i FAHARIMAL dA g el 522 ?

B o aaq WS WHARMY gRL S000 A dIvldousl sty W2 A Bigddl azldl dgd a2
(least seperation)l 2@l MHL. SAsZAA 100V a3 uABld 53 usilBidsdl ued o3
Guylel udlL 9.

s AU 6.0 x 1014 Hz wuglair 2530 wsad Gt 53 8. GAlsd adl war
2.0 x 1073 W 8. (i) ustarit Bemi sldi-l Glost deedl ? (ii) Gedln glal e A5y AU 32dl
Sl Gul¥d ud ?

Gt uaney W Sdsginqll ‘asd sl Wl oligddl B avil. o Al
g-oloelal 59 A wxA ?

Getsel 2l oflei-aaudl uglt unondl. Reunedl b2y 12.5y 8 2 dxigl ofle-ax ay 8.
25 y udl Yo [eundl Jedl ool nlAeilHd w8 ?

 UBBlad 2ed g 7 dou AmFEadaon uRuadl weedl yeladol Us2BERaA Al
26.

p-n %59 QAL M2 (1) sikad suuy e (ii) Aad ouud V o T adle@sdizi 3dl dd Aadl
Astd o uRuau-l ueeell sl AMAdL HAAL Asell AR ERL
() suf3ud ugla-dl edls s €3N
(i) AM (Amplitude Modulated) d3oL 12 ‘Resu’ ved g 7 ‘R2su’ HeAl #33 waraixil

gsui aeldl,
AUl 5128 dsl uRMEL sl WL 2dd QgaRaliidd Yot dirdl. aulal s Hag
RadRalaud 25 dlaeud sRA Hadl BgdRaliud sdl 5 Ad 26 W 8 7

2L

[Qeadotil 6 el doell 58 RAMRGeA Aot dwrdl,
oL clorouRinl ol 7p C dlawetir 2 —2 pC ool 2dsi (<9 cm, 0, 0) 24 (9 cm, 0, 0)
W Hidl O wd el [Rgddst E = A (1/72) %4, A = 9 x 10° C m? 8. dot-ll RufaGlA
duell,
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29.

30.

SRMIAL ‘WISl AL @uil. B AASN A, dollS [ AA s dons €ls 7
il YAAdD @ioll WA WS HHNSAG Yot iRl A 5A 5, AN, AR
gAML AU Aol HAL D,
2l
dRAMAL Wl UscA{l aval @il d 58 ololdl U IR AW B 7
oL bl ol WSl s el Bt ) i olly WEL Bl 7y, 4L, 7y << 7y B, dd el
M s ¥ W d d ANl B, VL dUsAY HIZ A U Aol
sl Ws B a¥ 6 aslowasdl ealadl Bougl ekl sugla-d seedl [Baansien suddsel
W R B d udodl drt uRell agdd [Quddsieedl Bossier v asleadis dHl
Aoit salad Yol dRdl.
214l
() 25 aslMadsik Awd-Al sRA Adi asleladHdl Yol Gualal 53, A Al AuHlsel
dldl.
(i) 1.55 aslMa-dis HpAadl siuHid], oA o1y UMM AsdlBul HAAdL ed oif3alln Axdl
ol 2l 8, o d-dl dweons 20.0 cm ASdl €ld, dl asdibBbie sedl €ldl
B ?
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NN IIPEITER ||
ci¥ciic] UAHUA-11
cllasfQsu : QR@ XI1
B3d 2 RAUEIA-ALF
1. (a )
2. @ )

3. wae 83l ol clvisdl aeld AAASHL evA Sl Yoisluaal dal sest all 8. dwoll
Fan 242 URd emf. 2 adiudl @AM sdl A2, ¥ Udlel Heldl gl W 53

AsU . (1)
4. EM d30ll (@B eoue @oud 8. 4udgedl qeodl AR [k 518 S 8. (%)(%)
5. (b ey
6. oloild, yeelldl Brosuidl avuxeldi aell awe Bl 2l d d@eol dHda 9. (%) (%)
7. () M
8. s AdASsA 6 S Bl S B 5, G Ovs1R8 [QRdRML L. (%)(%)
9. () L oA Rawi )
47[80 r
o102 .
(ii) —f OA -l [Raunl )
47:50 r
10. I = Il + 12 (%)
h n
(B E) (1, 1)
el iy ] Vs
V=E1r2+E2r1_I(rl+r2\ (l)
K+ K+, 2

—
b3 =
T ——

V = Egq = Ir,q A AvuHell s,

En+Ey |

2481 Eeq = P, HUL &9

—
b =
S —
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11, 2usfani 330 uRua ealdd ©. 2wGye di’y A ud C a2 wi 8, (1,1)
C
A-
R
— A
E r
12, 4oiscd MRl dUBU-AL [Rud eald 8 3, 515 oltonon wd Asuldd sasi B lal Yt €y
3. §B.ds=0 (1)
A Al xR €, dl gHell suy AAdie (Zosla drei g ) 2 p Al LRUSIR GRIR
wa,
¢B.ds=puq, 1)
13, quisonlRom, dasgi-iil sally oad 518 Sl 8, ¥ ol ule Aol Qe Rl Asbly
ASHPL Gt 53 O A adl d diudidd SR8 v wu WHdl el (1)
WRPEARA A FANARRKM @l udd Astel Rouni ulEas oy il olsawq
SRE O, dlUMIAAL AL A L ANSAY VR WA B A dell dludiAdl ddRL A8
ol wAMSBUAL 82 . (1)
14. 2w 3[R WA de Gedm AUl »ud 8. R Wy wd 8, Al ole WRuan
wale addl -l A oleot A adl el A Ced yed =eall 2wwd duel S8 R
widl Al 1)
ac Geat WA FURR (1/0C) %edl FURRA Ryiset 2l & ud uRuuui yas ad 8.
WREUA oleol UsUBld 2. C -l Heuui galdl Ruiseuil adRl 58l wWRBUR el udal sl
9l usld asl. (1)
15. B Hey,
E
B=—
c
63V/m -
=—3=2‘1><108T (1)
3x10°m/s

ddel R idar M2, 2l el ¢l 3 E y-RaMl v didl x-248 U WuW W 6.
Al B x 2 y-iad dolRaml €ld adu. ulka olpd@id-dl Guddl sdl, E x B x-[2ausl

Qd AsA. 8d, (+§) x (+k) = i, B z-Rudl Aka«a wud 8.

adl, B =21 x 108 T Y]
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21.

SLULAULH

E =6l

V=61 ENV=1/
E=1( +R), V=IR
E/V = (r + R)R

r=R{(/L) -1}

AR

Qe Rou

AR
12
min =9 sin

i, B iR glRl diq AL oidd S8 D,
5500 Al WS MR

4. - 122x55x107
min- 2sinf
100V &l walid adt Sasgid =2 Roloddl dadons

B 127 3 m = 013 x 109m

27
p 100
122x1.3x1071°
25inf

A=

. 1 —
. dmin -

dmin

= = 02x 1072

min

Al WAUA-TT

QM WA P = fand (1)
1
~h/f==
I f

L Hed W2, tand ~ 8. P = 1/f (1)

. . DA
sl ARG AR = —- )
1x5x 1077
. dedad §38 = 2 = 05 (1)
1010 kHz 21 990 kHz 42 As 6iwg 9. (1)
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22.

23.

24,

25.

26.

27.

28.

29.

() &35 sl Gled,
E=hv = (663 x 1034 J s5) (6.0 x 10714 Hz)
=398 x 107197 )
() A Gea g g AsY GRAAL S N i, dl ol wuRd adl war P eds
S121 Blol E <l N 2wl ¢, %¢l, P = NE.

P
N = E Y]
20 x10°W .- .
= Tos i1y — 50 x 101 sl ule s (1)
UCETELT) )
Q-slioell Ayl 2)
AHYd )
sludl (1)
elol ; el 7 1)
AselBiaq (%)
AL ARl UM (%)
AHYdl 2
s ast qaaar |2 33 uRua g (1)
AHYA D
as-l SR )
() s Rireudl odls Sawuy 1)
() [R2ser-tl oells QUIAH (1)
EL Gl 1))
alaell 4
dslad ()
YL
aragil 3)
eludldl G3a )
UL 0
AHY AL sl 2
AL 2
il
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30.

wel el el
3523 w2 [MelRdl

glualdl G3a

AHFEL AR S

§ [Ag el 2uAu

8, = (u— DAl drasl

YAl
@ drasll

@ p=155R =R

R, = -R, /=20 cm

- (1 1)
—(u—l)LR—l—R—z

1 (1 1)
% =055 =D+ )=

L

f

L10
R

R=20x11=22 cm

M
M
(©)
M
M
©)
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‘@ Bblle Thib2F 2RP KhEK Bhlle Mhle bg% ‘@ hEkhb 2a(jte e ¢

'8 PRI W5 FYPTe KWK Wbpmk) b s T

._

‘S PR3 Wi Fle PPk Be ThaR PEE-Sle BRIBI ThRIS PRk
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(89)oor Melzl@s| — | — e | @] @] v | (96| (1)z ©9 |EDzeLijsDst| (99 [eI0L qnS
(¥)so (e (mz] - || - TRG bl 2255R | P
(h)so «(1)2 Mmrlor{mr| - wiRgjRe | €1
Lo (Dy Mrfmrfmr| - Tefakeh | 77
(#)90 «(1)€ mrfmrfmr| - TS ble wrgle) | 11
Wi (Mg (Dg M@z M1 | (M1 RIBRIFK 120 | O]
(9)90 My M |@z| (1 Tple RMWEK W) | 6
(h)s0 ez = i M ezb RsWRPEY | 8
(5)80 «(D Mr{@z|M1| - PBK JPeIRK | L
(h)s0 (12 Mmrfmrmr| - BRE RFWRPER) [ 9
(h)s0 «(1)7 Mrfmr|mr| - W5 bl BFek [ S
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(9)60 (e «(1)€ M1 {Mr| M1 ESRUT IS
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g waua (Rt o)

clasfsun
Q20 XTI

ot¥oiloi U (A¥RId GIIS HYGI Fuuil)

HHY : AL 54LS AR : 100

AN, YAUA

M
@
G)
@

©)
©)

Y

2L WAL ool AL Sqaal WsRL 50 Wall 8. ol o usll $A%UA B,

wall-l suRival 12l 50 © A e35 Wa-l o 1 8,

SOYAs 835 WAl wouR 53 WAl [sew e sl

A 2@l 2004 OMR WalsHl %-d wa-iei A (A) O, (B) O, (C) O, (D) O »uual 6.
d uardl ¥ et AR S Al Rseddl adad Unel yel uz @ saqd 4l

W s v e opsdedi wldl woul W sald WAL

wauasl Guasdl el ougl Al uaussul A2 A OMR Waisil »uudl wouHl dvialsd
2wl

[Beueloll %32 woud Al Ael esyde i dlol 2ol Gudlol s3I asdl.

ML A
el s AAGL Yd Al dal [@gdcuil uHedl el d AuRERAA Yl el
.......... .
(a) olousR (b) AMdd (c) waad (d) €daxlu

AL [Agddoil s 44 [QgdeuRd sad (R Ralanidl 3sd saml 2ud 8, dl [Rgdeur-dl

[ RERAA...

(a) 2 W sRA 3 [Qgdsa aw- 8.

(b) audl sieL & [Qgdeur [@Qgddadl Rl ald 2 8.

(c) wedl s 3 [Agdenr [gdas-dl Ruwml ala 2 8.

(d) sedl srRa ¥ [Agder [@gdsa-dl (Al ali 52 8.

gasgiddl 13 el cs@sapiHigl 5§ Aesil was dssl 3 9 ?

(a) $5d [gedal (b) $5d Gw{ludal (Thermal)

(c) Rgedn i Gw{ludol oid (d) Rgedol A Gw{ludol U5l s wa (R,

g, ¥4 g, %edl emf (g, > &) ¥i-l 2dsd 7| in

r, %edl idRs waAdlawll 6 cedbila wugliu

gollodl WGl AMidHL Al B, dl..

(a) & ciedladl Anged emfe,, 2 g w gyl @l A
Wil ¥ed 3 g < g, < &

(b) Ange emf g, g sl .

(c) édal uude emf Eq = & T & CEREEPTUETEY |
21 B,

(d) €oq A ¥idRs 2R 7y ¥ ry ol Wcdat B
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S.

10.

ol Gualal 530 a8 R el 2id 8. s [Qendl 2@eiwed 2t S+l waieall

100 Q 2 8. d dere Big (null point) /; = 2.9 AL U2 AMA V. d ALSAST YHRAL Wit

5dl M2 seAMl A B, 2l W2 A4 55 A Gualell § 7

(a) dn /) < wu ay A0l sd BN,

(b) dl S ogelld 1000 Q 53 A wddL 83 sl A,

(c) A S oleelld 3 Q 531 i WAL 31 s RSB

(d) elm-l Gualal 53 dn ay sudyds wuddl vien o8 edl s

400 Al doudel w2l Hlea-dl Gualal 531 FH-ll emf L A[~1s2 (approximately) Hedl 5V

2§l 10 V 8, dal 6 [Agdsii-dl Asudyds avumel saml »ud 8. dl.

(a) we(Rl Fewl Guail dadl 6edldl di’ks 8V eldl s

(b) wie[Adl M2+l eiedldl diy 15V €15 a5 w4 R4 widl dd olgddl asd 3 direl
Bl a2l diey Ju 10 Vol udy ay €.

(c) cizrl WaM 50 cm il GUAML €Y dl% JU 10V eldl S,

(d) Wie[Al ezl Guadl Hiel cidl ARl AvUMRl H2 ddl S 89, diest 2 (R,

Aoisly, AL M Al YlgtRa aqousiz qua olel Joisludst B Ui welos Ad olsda

0. qua ddl Addan dol wael 3004 oA sAadL W2 s wsd s

(a) MB (b) 3MB (c) MB (d) 2

s S MUSHIRA dloll WANSHl 28 u i dotel wAld SaMl 2ud 9.
AAniel sy QA a8 7

(a) dAs2i el Rl walid 2l

(b) & 2qasld SAsgiA-Al Wl adousiz sdl.

(c) SAsgA e AA 450 AL vl o0l uead 2 ddl Slasa (Rude) Il AUl s
(d) NANSl 28 W SAsA W Aol ald A, Ama.

RAsAAIAL Yoisludsl B = Byk i A [QgdcuRd sell dyel Ad wrur [Ryg Rumi di s
A AMalsiz (helical) el u2 alfd 52 9.

(a) duril doMisl z-H25l UHIA Slal S,

(b) durl [AgdeuRl AHA Sl ASH.

(c) dxil Ml wdl sa-ulasa-dl Al 2y K2 8.
(d) Radouz 219 g el : (%)1 +(i)2=0 A Add 8.

el 2oiSludial, drl dww v wvld [Blg addld 4l svami 2ud 8. asdlasdl gyl
g A 1130l vell @A 8. e vid sddad qoeol gt 8, dl

(a) 11.3° (uBa)dl 11.3° E (yd) YEada-d cizad 8.

(b) agax 3fsenud 0° 8,

(c) M (Greenwich)uizll AR Ul stSuladl 248 2t yeellil Haell oinid Aude YR AY B,
(

d) e Ad yedl wr Ysadaq Hal wel €l 6.
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11.

Al waua (ARud o)

RAAL i 515 sl Asisul

(a) es 2l 2oisly AWsHRL Y dld B,

(b) €5 wdA YA YAdR Aotsly AU i1 O, ¥ ol HqalRid dlsaddl i 9.
(c) ARG vigd: olscudedl S 8.

(d) ol o JudU AdRud dlsuddl €U 9.

SIS URAMARS Al 4K il 0.6 T il olel doisludonl Avidl o 8 Am™l geq
uRel HodaisRud (orslusel) euld 9. o 2L Ay 16 K dwdidl 02 T il sl
AoLSAAAHL AvAHL 2Ud, dl HRAASIAA ... 8.

(a) 2 Am! (b) % Am™! (c) 6 Am™! (d) 2.4 Am™!

=~

Coxy wddadl Loafler ougad) s AR Mal [ARdwrdl 2udd 3 ool wadd desluda

-]

-

B =By (20 + 3]+ 4k)T a3 il asa 8. (i - »u0is 8) dl ARuidl R ud 2eisld
SUS...

(a) 2ByL? Wb (b) 3B,L? Wb (c) 4ByL? Wb (d) 29 B,L?
glarl sl Wool s AsRU o Hoded dsdl

el el o sAAdl 2ud 8. A d-dl wa w8l

AL A5 Ales diR Al drl AU Yo WA SIS e > DA
A gl WU suaal wd dl... o Bril—s

(a) »WMeMl de Mg dg ®l, P

(b) ifeuidl S5 uales agd 2l .
(c) 2l T = 2/@ wddsin HAAdl WS
Wi+l (Sinosoidial) AC uells 484l
(d) »iFMemial uMu WA sgeldl %dl AHL UslR-Al
- ¢4 (non-sinosoidial) d<ll Wale d&al.
A Bed Aasu, [ dols A AssA el Aval dAAdl HAASET AAHAEA Al 8.
BUI3....
(a) 7 211 A ML QIR . (b) 7 42 4 A af,
(c) I a8 21 A H2. (d) I 214 A o6id "2,
AldRs 2Rl R, A #idRs Ratszt X, uad s AC %R 8. 2 wrizearll Gudlal
(Rl »iaRly R, 27 Ralserdt X L WaR eid s2al 42 a8, %22 ¥ dly 2iallun

HedH WA AW sql HRZ X)) ML . g2d, Avd B,
(a) a (b) X, (c) =X, (d) R,
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17.

18.

19.

20.

21.

22,

23.

s wex AW AHl B3a LCR uRuadl uiqriely »uglt gewsal e,
(a) #-iRex-dl 2ugl zawsdl sida.

(b) way Zufex WA AHdR ARl oy SRR A ASAH.

(c) Osseami Wal dlvigdl Al g2 5l AL,

(d) 3UReAl wWal Quddlspst g2 sq B

12 wattl [@gdolion A8 3@ RU G 2usRAL 2GeYe di@w 24 V owa 89, dl
HetH Udlgr HAL ...

(a) 1/42A (b) V2A (c) 2A d) 242A

Mg AC WRuaMl 2A wale dal 220 diez dlyRfaHidqAl dsiad 9. %l WRuaHl qualdl war
40 W &, dl a5 ... .

(a) 0.9 (b) 0.09 (c) 1.8 (d) 0.18

sl HALSRAOAL 28 slolt A I [FU%A WML [oulsd s2al 11 eV G-l o3R

W3 8, L [Acuy Aaddl el dod Rgddasy @Bel agdan 2ugi, [@gd osly asiuest
.......... [Qeuorl »udel eal.

(a) 2 (b) ©vs138 (c) neauae (d) wdsida

A E i B [Rgadoidly ddl-dl 2idqsi [@Qgdisl alRa 2 eisludia aRa &, dl
[Qercoisly dal waRadl Baw ... l (Rl eal.

(a) E (b) B (c) BxE (d) E x B

[Qgadasly dorl dladidl [@Beasist v Asislugol 28l Qe AR ..., :
(@) ¢: 1 (b) ¢ : 1 (c) 1:1 (d) e :1

BEL asleandis Addi sedis sedl wdluodl [QsuaaHi sl 8. ugld 9.340 ealen
worol galrl WeH (Guet 1)Higl wsBi (Bel 2idl W (e 2) v wuid ad €y,
dl Al sa ofaHRld 2 (el wqRdl ?

@ (b

////ﬁ///////2 ////W/
7 17 2

(c) (d)

iir 1

| 1
TTTTTTTTT] [TTTRTTTTT

2
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24.

. dolle IR U A ud Bra PQ a3 salda 5

Al waua (ARud o)

AUARZU gl Ul AAAZONAL U A8 WAdL Huadl wel...
(a) Adde >R A uslal uAdd- 8.

(b) #ARs eHuld Sl adl usta-l Yol AHidRs uadd Fdl 9.
(c)

(d)

Raauedl al e well-l il gL adl ustasl asfuad 4.
il R5EL gl Adl WstaAl wElelA ¥, I

0. a1y xFAL udl uAddd uedl ¥ Raumi (el

¥S A% O, d AR (Wl 1, 2, 3 x4 4 a3 sulda

(il 2usl). 20 AR UL 53 By 2w vualid
Badl R eald & 7

—_
ah)
—
[a—y
—
o
—
[N}
(%]
=

ol 25 Awdl u2 0 52 2wwd ad Ba ol awdniel duzl Fobid wi 8. A
Bpuel gl asleadls 1.5 2d BoMsiel 50 €y, dl 2uudsir 0 ... .

(a) 7.5° (b) 5° (c) 15° (d) 2.5°

Ad WSl Ns -l ddL We ganidl sadl @0l U dozl Ad wd B, saHl Al sul
olle AlUd sl WL Fol wmal ?

(b) el

o - - . . .
104 A wdlus wadl Rz Gur ydusia 2uwd adl Rl Reexil A wad wlalbio...

(a) cueuil (c) ol (d) aa

(a) 3= (nwubig) wA uze Wil dlea Raz s 8.

(b) il ude ol dorell Rae, wR ¥l (wdiadi) g dladimi wRaldd o 8.

(c) 3l use il dodl RA2 Yel-gel WAL [RaARML da O,

(d) ol Scddl Ree ude ol €l 9.

d WEWUSAL siudL e (slab) (aslewadls n) wR eaidl O WSSl wwd ad

ustad Ba ARl sad Guadl awdl A DA wawdl el walid Bell a2l

501-dsldd.
1 1
(a) %(1 - Lz sinzﬂ) *in (b) %(1 - Lz sinzﬂj g
n n
1 1
(c) %(1 - % sin29) 2y % (d) %(1 - % sin29) L on
n n
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30.

31.

32.

33.

34,

36.

212

Qi 6l (double) Ree-l wdHL, ude UslA Geart ddd 8. s Reed de il (Beer
v ofly [REed el (Bl Qi eisl sdMi 2ud 6. 0 BRUML..

(a) Ul sidd cld A cgoll il Adls@ cd el

(b) i a vl adlsel eud aell @il dlld Sl 2edl $al.

(c) cll adlsl aensell e 8.

(d) & e 0l cdlse oid algoll o1l oid Wl ool 2AAel (mix) edl.

s s@A GRS H udl widl ysani »ud 9. sa-dl R-olodl dodenss Grus- [Qfy

ads ... Al YHIRHL €l 9.

(a) H (b) HI2 (c) HO (d) H12

WA, 42, SAsZA M o580 WA AL Gl B, dl dudl R-olloell doreonSiledl uuimel
CouAR 2l s

(a)7&15,=7L],,‘,>k‘€,>7t1DL (b)ku>kp=kn>ke
© A, > A, =24, > 2, @ A, = A, = A, = Ay
8asgir (sl m) V = vyi (v > 0) w2l WS 4oL wd E = -E)i (B, = 2180 > 0)
gedl [Agasotil 8. d-l 1 uud R-oledl dodous ... SREERTRH RETETON
x() eEot
(a) (1+@L) (b) 7LO(l-l- mvo) (C) 1‘(j (d) A‘Ur
m VO
H RAMHE 2uddl 6 H-uag, RARAMS Aald Wi 8. audl ysd Aot valsi
HedH Y,
(a) 10.20 eV (b) 20.40 eV (c) 13.6 eV (d) 272 eV

SIS s Grlsd qaRAML A UPYAAL AYS &4 WA 6,

(a) A= Ao 2l Qoo 515 uel waeHl.

(b) &5d oual [Agdaaedl Grl¥d sudl €, dl o {2l e,

(c) ot o s <=l a1l

(d) s5d w2 Ad WA AR ¥ S1A GulFd 5.

ollg2 Biwdl gy = 53 pm Adi, 6lgR Midaql 2R, LitT studdl v Rlad B 2ua

(a) 53 pm (b) 27 pm (c) 18 pm (d) 13 pm

W S A5 e AluuA WAL AEA au wd, A ugHdl ddsgiFs Gledsaui,
(a) S8 ual usil R vil5@d w2 ol .

(b) o= B3Rl 2(52[@2 w2 clgerdl ua y-[L @lEERA W2 -lR.

(c) a-2Rd 252 w2 eead wa ofla e 3.

(d) BWRd 2f52[@2 w2 slecidl ua ol W2 .
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38, ouR el ylsauAl Weld sl ay Y2l HAd 8. dud s B ¢slsd B 3,
(a) Wl sl 2l @R €Y B,
(b) Wl a2l Rad [Radon susdl S 9.
(c) =42t ofler (B) & gl Wl &y w9,
(d) 42t azddl Ylsauz ool YA Al ool sl sl $l 8.
39. 1 ad iy duddl WAL AR ueld-l WIKUL €25 10,000 R HAAdL dal HiEl
Aviil wsll A 1oad el
(a) ol % well uglddl 5000 A8 4Rl
(b) o4l % wisll ueldrl A AvAUML AL AN 5 % AvUL WAL 5000 €A,
(c) A Ad uPlML M AvAHE QAL € Ul Ml AAA - A 5000+
A5l edl.
(d) S5 ual waAHL 5000 xRplel ay . €S .
40. 2uslani salda uRuaui ol Sl sirad onu AT 02 mA
diey Ju 03 V &1, dl A 2 B azd [RgdRalieua-d
asldd ... 0. 5K

a

(a)
(b)
() 0 5K
(d)

d 05V B

41, 2ld uRua (gl 2gli) we ga 2o

A a
E
B

Be——2 D
@ Al B|E (M A|B]J|E (C)A| B |E MD)A| B |E
0] 0|1 (B 0010 0l 010
ol 11]o0 o110 o 1|1 ol 1]1
1]10/|1 11010 11010 1{0]1
11110 11111 111 |1 1{11]o0
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42,

43.

44.

45.

46.

47.

48.

49.

50.

A [Qgddiat E =3 x 103 N/C i dl deizd 4dd 1 om dondHl sugaion a0 yrsuial
WAR U SASA e, :

(a) 40 Nm? ¢! (b) 30 Nm? C! (c) 45 Nm? C! (d) 25 Nm? C-!

s wid doSl ild [@Agdeir 2 em AdR 9 x 104 N/C [Bgasiat Bt 2 8. wily
[Qgdeur addl awil.

(a) 0.5 uC m  (b) 02 puC m! (c) 45 pC m™! (d) 0.1 uC m!

12 pF < s 3URex 50 V «{l 62dl w8 o3d 8. JuRemi edl Ral [@gdGa dus wl
sl ?

(a) 15 x 102 7T (b) 600 x 102 7T (c) 60 x 1079 J (d) 30 x 109 J

-

A WHHL d dd ddl 6 [Qeadl Rgdond 92 aeid wsde o F 9, dl 4 %
wepl d 6l [Qgdeullnl deal dR sl dudl a2 awlg s o 3F Wy ?

(a) 4 (b) 4 ©) % @ %5

s ol AL Ve dal BeR s g 2 g, QAU B, 2 Yeerit SIS Big wiA [Qedéol
E dal 454 ¢ ®. % g = 0 dal g, # 0 €1, dl s

@ E#0,¢6=00b)E=06¢#0 ()E=06¢6=0 () E#0,¢=#0

1 me [Rgdemdidl o dlsadl [Qgaeur-dl [@gaga wudsl dva ... .

(g, = 8.85 x 10712 MKS)

(a) 1.13 x 1011 (b) 9 x 10° (c) 9 x 107 (d) 1.13 x 108

108 C [Qgdmr 4ddl 1 g sndol 215 il 2ol s [Qedaadl 600 V-l Rl
taadi (g Adl g RARMA daadi Big B 3l ad 52 8, d d-dl afaGeiul adl
FWIR .o erg.

(a) 60 (b) 45 (c) =6 x 107 (d) —60

WsRsUAAL Oil Immersion o524 a3 axq 20l oudlsidell el woll a3 8. s 3
pial HioRlsea HE2...

(a) aw Heasl s 8. (b) auR [Rcleralsa € 8.
(c) e HEel siu 9. (d) Gua-migl 215 va 8.

s alsd donal did wel well uualdd 23l 3a-A dagdlod wsi And 8. A wel-
asleadis 1.327 S, dl ¥ Eloel dear 580 ¢ ?

(a) 57° (b) 75° (c) 37° (d) 53°
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ML B

AU : 2 sl AR : 50

YAUAL

(1) > Yausi-l ool Bl g o (Aol 9.
(2) ot % wAl sWrald V. [Asadl x1idRs 8.
(3) el ouyel ¥is sl @ suld B,

[Qeua A

AA wla us . 1l 8 Fswawl sl Gu wW : (w2 @A) (16)
1. [Rad g el s3 d-dl 2ol o aafisdl ssudl.

2. lelarmi dera Big Ael 33.7 cm ¥idR MO 6. A S WA AHAR 12 AR A

2§d, dl de Big 51.9 cm »idd 30 8, dl R 2 S+l yedl L
R S

o A=
A f— - C

'Y :;_a 9

2zl
=)
ro Ky
3.0 siRel cled dnl we sl e WA AU AR 300 A [Agdudle dsd 52 8 (s AHU
WR2). A dR 70 cm dlol €l A dusil A dR 1.5 cm €1, dl 2sH dousS €ls
ARl a2 alg o 32d sl 7 A o sl el 3 wusl ?
4. v Aws [dadial 800 2ol 2 2.5 x 1074 m? e AvAsn AL AlAASRHie]
3.0 A Rgduas wr wd 8. AAASS 58 Ad alru=josl FH add d auondl. d-dl a8
Asoude Woe2s M2 Fedl A ?  waAwW
Yl 2eidludal [Ayagd WA @aedl 0.4 G 8. dl yedldl -yl 2usHmu sl
AL 25l (a) el (d) gt asidd WRRARRIHL ARA Reduae-dl R opudl :

il

(E

h

\

\t (elet s eyal
©) o oy 531

Aafizeul ollsasl eledl
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S

10.

11.
12.

14.

[Qga-2jeisle doldl 56 wal 2w arBsdl el
lgo Al Gelg@ gL Yf5auAdl oluABlol wHemdl,
2l

2% atomic mass unit (u)d Auded Glod wad Joule A ugfl MeV i A, lgo l eazlan
MeV/c2 |l ealldl.

Al [Fa2s dd I Sl Gualol Yoy ulRug AlRd uH2Adl.

Qe B

AA 2004 un . 9l 14 Zswawell wsl Grk L : (g5 3 @) (18)
220 VAl die2s v s 20R4M0 W Raaml 5 sals AC WA 8. 10 m alel 2 1 mm
Bosiedl diotiedl dizell d R840 auBEal 53¢ 8. el 10 siBlua YFe waz quad 8,
dl dRML Beaidl ouatdl gaGuwiL odl, A AYFRUHAL dedl o AAL did ddREaL saml
§id, dl b2dl 25l gaGwurdl oy udl ?
[P, = 17 x 108 m, S, =27 x 108 m]

DL
SN AR A2 ved 9 7 6L AL WHIAR AU 2 UM emf Yo Hadl,

-

R Bl 4 N il 8lddl 25 aduusk ool 1 Rgdudls ui a8, dl d-dl w1

: .o N BoIR*N
W Fel x id? Geotag Yesluaa B = 202 + RO

9, du ABId s
Solutl Rigiadl Heeell Addd ddld aslelad axadl.
6L 253vll BuUR el 6l 21a isollamell 40 km g2 8. dud Al Wi, GAGR A2 wuddl
253l 50 m GuYl uAR WA O, AU AU R 6 2l a2 Hisdl asiy dar A=
all-l Alell ay docdons eell ¢a ?
(a) 5.4 x 106 ms!«l »suell auld KAl SAsA 24
(b) 30.0 ms~! dl »gul Ald sdl 150 gl o, AL Asouda R-sledl dad-dons 3edl
@il ?
Yl
s12L Sal5zs AR ustadl docuedl axndl wsidl Al w w2 ?
Wot NOR dlesil Gualal 530 viuglal Hosol oirtdl YRuell e gueoid avil. il YRl a3 adl
dilss 2ivad (OR, AND, NOT) ~i55l 53l

216



g waua (Rt o)

[Qeua €

DA 204 us A 150 18 Zswaiell sl Grik Ml : (80 4 ) (16)

6l [Qgdoud —g w4 +g 2gsi (0, 0, —a) 2 (0, 0, a) [Big>n Wal B,

a) (0, 0, z) v (x, y 0) [Bigadt [QgdRalaruq Sed © ?

) Rafeud, Gowmbigdl 418 Bigdl 22dr 7 U2, r/a >> 1 € AR 3dl Ad 2waURd 8 d
galad ot A,

(c) 25 -l ulae [@gdou x4 v (5, 0, 0) Bigdl (=7, 0, 0) Big ¥l ad wawl
Sed s udl ? o udlael [Agdeurdl Mol d o Bigyll a2 x-2a WR A €ld, dl e
2wl ?

(
(b

s ac WRUAML HWoL §ss2r L ooe 8. 21 wEua 2 udled 3ot drdl $wssdla dansen
AR A URuAAL AU iR Yot Hadl
2yl
220V, 50 H, ac @i A& 200 Q <l 21445 i 15.0 YF L 5UReA Aol gisausi »ude
8. (a) wWRua-dl wag 2@l (b) AaHs A Suliedl 6 B4 a2 diew (rms) il 9L i
diy-ll 6lls AL Ald AR sdl 44 © 7 A gl dl 2L [AAdddidl G3a evudl.
AL Yol Gualel A Wi A 3,
(a) il §nAweL £ A 2l a2 g sl 2ud, dl agd W wlbion 274l €2
ua,
(b) oileolln AL AUl el Al Wcint A 2w WAkl o 2wl B,
(c) elldolinn 2R a¥ Hag w@biol dRal sedi i A R Yo AuY Wou Sraedl a2
o U 8.

o el Yol Gualal 530, e adluedl @y Aell uad wR asiue vl dia-

doldalil awdl s
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W cllasf@suq yuzu usd

Mfas(dsiic
eRer XI11

BSa ial JJeIRiR-AYall (J¥RUd IS HYG)

ML A
1. @ 2. (c) 3. (a) 4. (a) 5. () 6. (b) 7. (d)
8. (d) 9. (d) 10. () 11. (¢) 12. (b) 13. () 14. (a)
15. (b) 16. (c) 17. (b) 18. (a) 19. (b) 20. (c) 21. (d)
22. () 23. (a) 24. (b) 25. (b) 26. (a) 27. (d) 28. (a)
29. (a) 30. (¢) 31. (d) 32. (b) 33. (a) 34. (a) 35. (a)
36. (c) 37. (b) 38. (b) 39. (c) 40. (b) 41. () 42. (b)
43. (b) 44. (a) 45. () 46. (a) 47. (d) 48. (a) 49. (b)
50. ()
™1 B
CICTEWY
1. we . 24 u:dl,
[Qadéia wuiid [Qgdeur-dl susasl... } (1)
o 2wreusl euldl asia 8.

,__._\
=
+
il
——
~
[
S

we 25 wredl, SS9 w6 clsBisdiil @,

2. wd < 121 (Gegw 3.9)

Yo Audldad Raf we A @vl,
Adl AHdlet REA W2 2d @vl.
ol 2dl Wl R = 6.86 Q

wud S =135 Q Aadl

——————— ————— —————— ———— ——
R=  PR= = R -
T —— e e ——— T —— R

3. f= E “011:2 Yol Qul,

oy Budl 38l £ = 1.2 N/m Had.

—
o’

———————
b3 —
e ———

oo uLstl sal.
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AAAASHL addl waweel Ra uell d 3l dd Al ots a3 ad 8
Al angdl 2. (1)
m, = NIA wel m, = 0.6 Am? »iaql (1)
= 0.6 JT Aad,
2Ydl
A 186 (Belswl 5.8)

p-m

_onm 3 1
B = — ¥l au. (2)
oy [Fxdl 48l amddl s (1)
m =105 x 108 Am® Aad, (4
() grpg sl (3
(b) prg M3l wudl yzx IS (%)
(c) yzx sl (%)

1
(d) zyx Wl (E)
we . 275 ¢l 278 udl SIS wml AR cBsdedl aul. (edsdl (%) d18L) Q)
(W . 442-443) coald wxd. )
AM 4 ¥ avl.
E, < ot avi.

214l

w443 (Gewga 13.3)
lu = 1.4924 x 10710 J }wa. (%)

= 9315 MeV dad. 2)
AM = 127.5 MeV/C? #ad. (1)
wel . 486 Hawol uRua R, (%)
A%l . (1%)

([Qcua B
Yz JsHi 3RA A A5 salsul war P o= 2000 J/s Aad, (%)
P = 2R
= (%) g% uRel (1)
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10.

11.

12.

13.

14.

P = 4W uaaq,
dlotil il waldl warey 0.2 % Aad.
PR drul waldl war P = 64 /s Aad
2w 25l = 0.32 % Had.

2l
2igld 3.21 el A aed [Aouw uuAd.

A n C [Bigll azd-l diewd 3yt drd. (3.71)

W V=g, - I, wd weudl g, < wt av. (3.73)
2l 4.11 €k

siiglarl auydl 2l wllse 4.13 HJad,

Bril uesidl auydl 2wl &y des vl

vugladl ol 24 Asaddl Gudlar s3A Wl 4.15 Aad,
2isld 104 €R1 d-dl unogdl 2wl

vislardl e well sini »4 sinr A9,

aslaad-isdl Yoll vl qadl Run Aad,

. 2
A vided Wt Zp = S Al

Zp = 20,000 m ¥ @ = 50 m 3§l A = 0.125 m Had,
Gewswl 11.4 (w- 401)

(a) dAs2AA W2 A = % wel A = 0.135 nm AAdl.
(b) &8l W2 A = % wl A = 1.47 x 10734 daq.

Y4l

e .
p—= 3= 3~
T — e

—
a—

[
e

We . 393 Haer SRISASRS 2l uRSML AR dRdatedl wReudll avunel s (3)

(Bl d o) (sl s )
gl (a) 2

A y=K
0 1
1 0

G dl2 NOT iz 6.
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A B A B |y=A+B
0 0 1 1 0
o | 1 | 1| o 0 (1)
1 0 0 1 0
1 1 0 0 1
wle di2 AND Sie 8. (%)
[Qeua €
1 |9 9 1 p < A
.V = —4n80[n rz] Wyl VvV = e (2 — ) Hud., )
p cosB il R 1 As
V = ame, (?'2—612 COSze) YUl g << r Ad Hle, Var—z Hud, (1)
W=q, (Vi =V =0 M)
w251 (Gel. 7.6)
wel . 237 well wusl 7.5 €. (%)
Balswit [am uell adlsa (7.10) avt. (lz)
alsel (7.12) dird. (1)
aHlse (7.14) avil axod. (1)
war g 9 d ulbid s (1)
Yl
was 1 = —— = 07542 A dad 1
ek ~° - ®
_ _ = » l
Vg = IR = 1508 V Aad, (2)
- - P 1
Ve = IC. = 160.07 V Ad. 2)
56 Al WHARIRAAL YAy Wl V = 220 V Had, (1)

3R vA ARbAL 6 99 aRAAL g6 ARy Ald dlRy Fedl WA, % su-dsidd (1)
Y Gl
(a) UL 24 2 < u < [ A WAl —v > -2f Had. (1)

(b) 2 Yot w2 wlAbior ol xu W2 2wl wea (v > 0) HA B 1)
d Wb 53
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(c) 2Rl Aot uedl A w < 0 el v < f Aad.
(@ f>u>0 2 2t 3ot well v >0 2 V> o uell m=

18. w <. 430 (Gl 12.6)
hc

A, = ——he
()
Rt )
well A, = 1218 A
Ay = 1028 A
Ay = 9743 A
As; = 951.4 A

> 1 3ad.

(1)
(1)

ey
(M
Q)
Q)



